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Preface

In addition to the references provided above, class notes will be distributed in the class as a typed
material. These notes are meant only for SI 507 in Autumn 2010 as a supplementary material and cannot
be considered as a text book. Students are requested to refer the text books listed under course syllabus
for more details. These notes may have errors of all kind and the author request the readers to take care
of such error while going through the material. The author will be grateful to those who brings to his
notice any kind of error.
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Introduction

Numerical analysis is a branch of Mathematics that deals with devising efficient methods for obtaining
numerical solutions to difficult Mathematical problems.

Most of the Mathematical problems that arise in science and engineering are very hard and sometime
impossible to solve exactly. Thus, an approximation to a difficult Mathematical problem is very impor-
tant to make it more easy to solve. Due to the immense development in the computational technology,
numerical approximation has become more popular and a modern tool for scientists and engineers. As a
result many scientific softwares are developed (for instance, Matlab, Mathematica, Maple etc.) to handle
more difficult problems in an efficient and easy way. These softwares contain functions that uses standard
numerical methods, where a user can pass the required parameters and get the results just by a single
command without knowing the details of the numerical method. Thus, one may ask why we need to
understand numerical methods when such softwares are at our hands?

In fact, there is no need of a deeper knowledge of numerical methods and their analysis in most of the
cases in order to use some standard softwares as an end user. However, there are at least three reasons
to gain a basic understanding of the theoretical background of numerical methods.

1. Learning different numerical methods and their analysis will make a person more familiar with the
technique of developing new numerical methods. This is important when the available methods are
not enough or not efficient for a specific problem to be solved.

2. In many circumstances, one has more methods for a given problem. Hence, choosing an appropriate
method is important for producing an accurate result in lesser time.

3. With a sound background, one can use methods properly (especially when a method has its own
limitations and/or disadvantages in some specific cases) and, most importantly, one can understand
what is going wrong when results are not as expected.

Numerical analysis include three parts. The first part of the subject is about the development of a
method to a problem. The second part deals with the analysis of the method, which includes the error
analysis and the efficiency analysis. Error analysis gives us the understanding of how accurate the result
will be if we use the method and the efficiency analysis tells us how fast we can compute the result.
The third part of the subject is the development of an efficient algorithm to implement the method as
a computer code. A complete knowledge of the subject includes familiarity in all these three parts. This
course is designed to meet this goal.

A first course in Calculus is indispensable for numerical analysis. The first chapter of these lecture
notes quickly reviews all the essential calculus for following this course. Few theorems that are repeatedly
used in the course are collected and presented with an outline of their proofs.

Chapter 2 introduces the concept of errors. One may be surprised to see errors at the initial stage
of the course when no methods are introduced. Of course, there are two types of errors involved in a
method, namely,

1. the error involved in approximating a problem and

2. the error due to computation.
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The first type of error is purely mathematical and often known as truncation error. The second one is
due to the floating-point approximation of a number. This error is committed by computer due to their
limited memory capacity. For instance, the number 1/3=0.3333... has infinitely many digits and since a
computer can deal with a number with finite number of digits, this number has to be approximated to
the number 0.333...3 with finite number of digits (depending on the memory capacity of the computer).
Such an approximation is called the floating-point approximation. Chapter 2 is devoted mainly to
the floating-point error and related concepts.

Devising methods to solve linear systems and computation of eigenvalues and eigen vectors are the
subject of the chapter 2. In this chapter, we discuss direct methods which gives exact solution to the
systems mathematically. However, when we implement these direct methods on a computer we will get
an approximate solution as the computed solution involves floating-point error. The chapter then discuss
some iterative methods for solving linear systems. After a brief discussion of matrix analysis, the chapter
ends with power method for computing a eigenvalue and the corresponding eigen vector for a given matrix.
Not all eivenvalues can be computed using this method and also not all matrices can be applicable to
this method. Gershgorin’s theorem may be used to decide whether power method can be used for a given
matrix. We state this theorem without proof and discuss its application to power method.

Chapter 4 introduces various iterative methods for a nonlinear equation and their convergence anal-
ysis. The methods are further extended to system of nonlinear equations. Unconditioned optimization is
discussed at the end of the chapter. Interpolation by polynomials, data fitting and least-square approx-
imation are the subject of Chapter 5. Chapter 6 introduced numerical differentiation and integration.
These notes end with some basic methods for solving ordinary differential equations.
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Mathematical Preliminaries

This chapter reviews some of the results from calculus that are frequently used in this course. Only
definitions and important theorems with outline of a proof are provided. However, the readers are assumed
to be familiar with a first course in calculus.

Section 1 defines continuity of a function and proves intermediate value theorem. This theorem plays
a basic role in finding initial guess in iterative methods for solving nonlinear equations in chapter 3.
Derivative of a function, Rolle’s theorem and the mean-value theorem for derivatives in provided in
section 2. The mean-value theorem for integration is discussed in section 3. These two theorems are
crucially used in deriving truncation error for numerical methods. Finally, Taylor’s theorem is discussed
in section 4, which is essential for derivation and error analysis of almost all numerical methods discussed
in this course.

Throughout this chapter, we use the notation [a, b] for a closed interval and (a, b) for an open interval,
where a and b are some finite real numbers such that a < b.

1.1 Continuity of a Function

Definition 1.1 (Continuity).

A function f: R — R is said to be continuous at a point xg € R if

lim f(2) = f(zo)- (L1)

Tr—rTo

In other words, for any given € > 0, there exists a § > 0 such that

|f(z) — f(zo)| < € whenever |x — xo| < 0. (1.2)

0 —

1)
Fig. 1.1. y = 2°

Example 1.2. Consider the function f(z) = 2. Clearly, f(z) = 2 — 23 when  — z. Thus, this
function is continuous. Let us now check the condition (1.2). We have,

|f (@) = f(wo)| = |a* — | = |2 + o |& — wo| = |2 — w0 + 20| |2 — o < |& — wo|(|z — w0 + 2|ao]).
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For any given € > 0, choose 0 < § < —|zg| + /2% + € > 0 to get (1.2) as required. An illustration of this
example is depicted in figure 1.1. O

Remark 1.3. Note that the § in the above example depends on z(. For a continuous function f, if for
any given € > 0, the § does not depend on xg, then the function is said to be uniformly continuous. O

Theorem 1.4 (Intermediate-Value Theorem).

Let f(x) be a continuous function on the interval [a,b]. If f(x1) < a < f(x2) for some number o and
some x1, T € [a,b] with x1 < x2, then

a = f(§), for some € [a,b].

Proof: Let S :={x € [x1,22] : f(x) < a} and & :=sup S.
(1) Clearly, there exists a sequence {a,} in S such that a, — £. Since f is continuous at &, we have

F(an) = F(), which implies £(¢) < a.

(2) The sequence
€Tro — f

b, =&+ € [x1,22], neN.

converges to £ and hence f(b,) = f(§). As b, ¢ S f(b,) > a, and hence f(&) > a.

Combining the above two inequalities, we see that f(£) = « and it is clear that £ € [a,b], which
completes the proof. m]

1.2 Differentiation of a Function

Definition 1.5 (Differentiation).
A function f: (a,b) = R is said to be differentiable at a point ¢ € (a,b) if the limit

o fleth) £
h—0 h
exists. In this case, the value of the limit is denoted by f'(c) and is called the derivative of f at c. The

function f is said to be differentiable in (a,b) if it is differentiable at every point in (a,b).

Remark 1.6. There are two other ways to define the derivative of a continuous function f : (a,b) — R.
Let us list all the three equivalent definitions

P = LD = 1(0)
o) = m L= S =)
o) = pm LN Se=h)

where ¢ € (a,b). For any fixed h > 0, the formulae

D; f(e) = N (13)
Dj f(e) o= NIl (1.4)
phs(e) = Lt )= ste=) 5)

are called the forward difference, backward difference and central difference formulae. The ge-
ometrical interpretation of the above three formulae is shown in figure 1.2. More discussion on these
difference operators is found in chapter 6 of these notes. O
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X

\
x-h X x+h

Fig. 1.2. Geometrical interpretation of difference operators

Theorem 1.7 (Rolle’s Theorem).
Let f(x) be continuous on the bounded interval Ja,b] and differentiable on (a,b). If f(a) = f(b), then

f'(¢) =0, for some& € (a,b).
Proof: Let m, M € [a, b] be such that
fim) =min{f(z) : z € [a,b]} and f(M) = max{f(z) : = € [a,b]}.

If either m or M is an interior point of [a,b], then the result follows from the problem 11. Otherwise,
both m and M are end points of [a,b] and hence f(m) = f(M). Thus, the maximum and the minimum
values of f on [a,b] coincide. Hence, f is constant on [a,b], and therefore, f’'(z) = 0 for every = € (a,b).0

Theorem 1.8 (Mean-Value Theorem for Derivatives).
If f(z) is continuous on a bounded interval [a,b] (with a # b) and differentiable on (a,b), then

w = f'(&), for some & € (a,b)
Proof: Consider F : [a,b] — R defined by

1)~ (@)

F(z) = f(z) — f(a) — s(zr —a), where s = .

Then F(a) = 0 and the choice of the constant s is such that F(b) = 0. So, Rolle’s theorem applies to F,
and as a result, there is £ € (a,b) such that F’(£) = 0. This implies that f'(£) = s, as desired. O

1.3 Integration of a Function

Theorem 1.9 (Mean-Value Theorem for Integrals).

Let g(x) be a non-negative or non-positive integrable function on [a,b]. If f(x) is continuous on |a,b],
then

b b
/ f@)g(x)de = f(§)/ g(x)dxz, for some £ € [a,b].

Proof: Assume that g is non-negative on [a, b]. Then we have

m/abg(ac)dx < /abf(x)g(x)dx < M/abg(x)dx,

where m and M are the minimum and maximum of f in the interval [a, b].

If fabg(x)dx =0, then we have
b
[ @tz =0
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in which case the result is trivial. Assume the contrary and divide both sides of the above inequality by

f;g(ac)dac to get
m < A(f) < M,

where
1 b
A = z)g(x)dx.
D= [ S0t

Since f is continuous, intermediate-value theorem tells us that there is a & € [a, b] such that A(f) = f(€),
which proves the theorem.

When g is non-positive, replace g by —g and the same argument as above proves the theorem. O

1.4 Taylor’s Formula

Theorem 1.10 (Taylor’s Formula with Remainder).
If f(z) has n+ 1 continuous derivatives on [a,b] and ¢ is some point in [a,b], then for all x € [a,b]

WL LG e

f@)=fle)+ f()(x — o) + Rni1(2),

where
1

Ruti(z) = — /I(w — )" U ().

Proof: We prove the formula by induction.

(1) Let us first prove the formula for n = 1 for which we have
Ro(o) = fla) = 1) = P~ o) = [ foie= 1@ [ at= [ (70~ e

The last integral may be written as [ udv, where u = f'(t) — f'(c), and v = t — 2. Now du/dt = f"(t)
and dv/dt = 1, so by the integration by parts, we have

Rg(x):/judv:uv|§—/Cz(t—x)f”(t)dt:/cz(x—t)f”(t)dt,

since u = 0 when t = ¢, and v = 0 when ¢t = z. This completes the proof when n = 1.

(2) We now assume that the formula is true for some n and prove it for n + 1. The Taylor’s formula for
n + 1 can be written as

() — c)?
L Ry ey

(n—l)cx_cn—l (n)C.’L'—Cn
Rn+1($)=f($)—(f(c)—i-f’(c)(x—c) SO - O — o) )

I ARIGICENON

= Bn(@) n!
Since, the Taylor’s formula holds for n, we can use the given remainder formula for R, (x). Using the
identity
(x—o)" / ‘ —1
AR — )" tdt
= [
we obtain

T (n) c T
Ru(e) = o [ @ =000 - L2O [ oriar

1 x
- - _ =1 )y _ p(n) dt.
5 [ @ = £
The last integral may be written in the form [ udv, where u = ™) = f™(c) and v = —(z — )" /n.
Noting that © = 0 when ¢t = ¢, and that v = 0 when ¢ = x, we get from integration by parts
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x:# Iuv:—# Ivu:i I:c— n pnd1)
Bt () (n—l)!/c d (n—l)!/c d n'/c( R (t)dt.

This completes the inductive step from n to n + 1, so the theorem is true for all n > 1. O

Remark 1.11. Note that as  — ¢, the remainder R, i(x) — 0. Thus, the Taylor’s formula (without
remainder) can be used to get an approximate value of f at any point x in a small neighborhood of ¢,
once the values of f and all its n derivatives are known at c. O

We now state the two dimensional Taylor’s formula and leave the proof as an exercise. For the sake
of simplicity, we give the formula for n = 1 and an obvious extension holds.

Theorem 1.12 (Taylor’s Formula in 2-Dimensions).

If f(z,y) is a continuous function of the two independent variables x and y with continuous first and
second partial derivatives in a neighborhood D of the point (a,b), then

f(@,y) = f(a,b) + fula,b)(z — a) + fy(a,b)(y — b) + Ra(2,y),

for all (x,y) € D, where

b) + fyy(é,n)(y - b)2

RQ(zay): 9 )

FealCn)le 0y (en)le —a)(w -

for some (£,m) € D depending on (x,y) and the subscripts of f denote partial differentiation.
The proof of this theorem follows from the theorem 1.10 and the following lemma.

Lemma 1.13 (Chain Rule).

If the function f(x1,xa,- - ,xy) has continuous first partial derivatives with respect to each of its variables,
and ©1 = x1(t), xo = xa2(t), -+, @, = x,(t) are continuously differentiable functions of t, then g(t) =
flxi(t), za(t), - ,xn(t)) is also continuously differentiable, and

af af af |
= oL 1)+ plhlt) o+ Ll 1)

q'(t)

Notes

The material covered in this chapter is taken partly (including few of the exercise problems) from Ghor-
pade and Limaye (2006), and Apostal Volume 1 (2002) . These books may be refered for more details on
calculus used throughout this course.
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Exercise 1

I. Continuity of a Function

II.

1.

10.

Explain why each of the following functions is continuous or discontinuous.
(a) The temperature at a specific location as a function of time.
(b) The temperature at a specific time as a function of the distance from a fixed point.

. Study the continuity of f in each of the following cases:

22 ifx<l1 —x ifz <1 0 if x is rational
(2) f(z){\/f ife>1" (b) f(x){ x ifol’(C) f(z){l if z is irrational ’

Let f:[0,00) = R be given by
1, if x =0,

f(z) =< 1/q, if x = p/qwherep, ¢ € N and p, ¢ have no common factor,
0, if z is irrational.

Show that f is discontinuous at each rational in [0, 00) and it is continuous at each irrational in
[0,00). [Note: This function is known as Thomae’s function.]

Let P and @) be polynomials. Find
. Pla) . Pa)
lim and lim
if the degree of P is (a) less than the degree of @ and (b) greater than the degree of Q.

Let f be defined on an interval (a,b) and suppose that f is continuous at some ¢ € (a,b) and
f(c) # 0. Then, show that there exist a 6 > 0 such that f has the same sign as f(c) in the interval
(c—0d,c+9).

Show that the equation
sinz +2% =1

has at least one solution in the interval [0, 1].
Show that f(x) = (z — a)?*(z — b)? + x takes on the value (a + b)/2 for some z € (a,b).

Let f(x) be continuous on [a,b], let xy1, -+, x, be points in [a,b], and let g1, ---, g, be real
numbers all of same sign. Then show that

n

Zf(zi)gi = f(&)Zgi, for some ¢ € [a, b].
i=1

i=1

Show that the equation f(z) = x, where
1
F(z) = sin <”2+ ) . xel-1,1]

has at least one solution in [—1,1].

Let I =0,1] be the closed unit interval. Suppose f is a continuous function from I onto I. Prove
that f(z) = « for at least one « € I. [Note: A solution of this equation is called the fixed point
of the function f]

Differentiation of a Function

11.

12.

13.

14.

Let ¢ € (a,b) and f : (a,b) — R is differentiable at c. If ¢ is a local extremum (maximum or
minimum) of f, then show that f/(c) = 0.

Let f(z) = 1 — 2?/3. Show that f(1) = f(—1) = 0, but that f’(x) is never zero in the interval
[—1,1]. Explain how this is possible, in view of Rolle’s theorem.

Show that the function f(x) = cosz for all € R is continuous by choosing an appropriate ¢ > 0
for a given € > 0 as in the definition 1.1.

Suppose f is differentiable in an open interval (a,b). Prove that following statements
(a) If f’(x) > 0 for all x € (a,b), then f is non-decreasing.

(b) If f(xz) =0 for all z € (a,b), then f is constant.

(c) If f'(x) <0 for all = € (a,b), then f is non-increasing.
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Iv.

1.4 Taylor’s Formula 15
15. For f(z) = 22, find the point ¢ specified by the mean-value theorem for derivatives. Verify that
this point lies in the interval (a,b).

16. Cauchy’s Mean-Value Theorem: If f(z) and g(z) are continuous on [a, b] and differentiable
on (a,b), then show that there exists a point ¢ € (a, b) such that

Integration of a Function

17. In the mean-value theorem for integrals, let f(x) = e*, g(z) = z, [a,b] = [0,1]. Find the point &
specified by the theorem and verify that this point lies in the interval (0, 1).

18. Assuming g € C[0,1] (means g : [0,1] — R is a continuous function), show that

1

— %9(5), for some £ € [0, 1].

/01 22(1 — z)2g(x)da

19. Is the following statement true? Justify.
The integral f;: (sint)/tdt = 0 because, by theorem 1.9, for some ¢ € (27, 47) we have

/47r sintdt 1 /47r sintdt — cos(27) — cos(4m) _o.
2

t c Jor c

s
20. If n is a positive integer, show that

\/ (n+1)7 (_1)n
/\/ﬁ c

where /nm < ¢ < y/(n+1)m.
Taylor’s Formula

21. Show that the remainder R,,41(z) in the Taylor’s expansion of a n+ 1 continuously differentiable
function f can be written as

(x — )t

CE A

Ry (z) =

where € € (¢, ).
22. Find the Taylor’s expansion for f(xz) = v/x + 1 upto n = 2 (ie. the Taylor’s polynomial of order
2) with remainder Rs(z) about ¢ = 0.

23. Use Taylor’s formula about ¢ = 0 to evaluate approximately the value of the function f(x) = e*
at @ = 0.5 using three terms (ie., n = 2) in the formula. Find the value of the remainder R3(0.5).
Add these two values and compare with the exact value.

24. Prove the theorem 1.12

25. Obtain the Taylor’s expansion of e ¥ about (a, b) = (0,0). Find the expression for Ra(x,y) and
determine its maximum value in the region D := {0 < < 7/2, 0<y < w/2}.
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Error Analysis

A real number x can have infinitely many digits. But a digital calculating device can hold only a finite
number of digits and therefore, after a finite number of digits (depending on the capacity of the calculating
device), the rest should be discarded in some sense. In this way, the representation of the real number x
on a computing device is only approximate. Although, the omitted part of x is very small in its value,
this approximation can lead to considerably large error in the numerical computation.

In this chapter, we study error due to approximating numbers. In section 1.1, we study how a real
number can be represented on a computing device. In section 2.2, we introduce two ways of approximating
a number so as to fit in a digital computing device of restricted memory capacity. Section 1.3 introduces
the definition of errors and the concept of significant digits. Finally in section 1.4, we study how an
error due to approximating a number can propagate during the numerical computation. The concept of
condition number and stability of evaluating a function are also covered in this section.

2.1 Floating-Point Form of Numbers

On a computer, real numbers are represented in the floating-point form, which we shall introduce in
this section.

Definition 2.1 (Floating-Point Form).

Let © be a non-zero real number. An n-digit floating-point number in base [ has the form

A(x) = (=1)° x (.didz -+~ dn)g x B° (2.1)
where
b d e
(drdy---dn)s = Z + g3+ + 55 (2.2)

is a B-fraction called the mantissa or significand, s = 1 or 0 is called the sign and e is an integer
called the exponent. The number (3 is also called the radix and the point preceding dy in (2.1) is called
the radix point.

Example 2.2. When § = 2, the floating-point representation (2.1) is called the binary floating-point
representation and when § = 10, it is called the decimal floating-point representation. O

Remark 2.3. Note that there are only finite number of digits in the floating-point representation (2.1),
where as a real number can have infinite sequence of digits for instance 1/3 = 0.33333...... Therefore, the
representation (2.1) is only an approximation to a real number. O
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Definition 2.4 (Normalization).

A floating-point number is said to be normalized if either dy #0 ordy =dy =---=d, = 0.

Example 2.5. The following are examples of real numbers in the decimal floating point representation.

I. The real number x = 6.238 can be represented as 6.238 = (—1)° x 0.6238 x 10, in which case, we
have s =0, 8 =10,e=1,d; =6, do = 2, d3 = 3 and d4 = 8. Note that this representation is the
normalized floating-point representation.

II. The real number x = —0.0014 can be represented in the decimal float-point representation as
—0.0014 = (—1)* x 0.0014 x 10!, which is not in the normalized form. But this representation is
not in the normalized form. The normalized representation is x = (—1)! x 0.14 x 1072, O

Definition 2.6 (Overflow and Underflow).

The exponent e is limited to a range
m<e<M. (2.3)

During the calculation, if some computed number has an exponent e > M then we say, the memory
overflow or if e < m, we say the memory underflow.

Remark 2.7. In the case of overflow, computer will usually produce meaningless results or simply prints
the symbol NaN, which means, the quantity obtained due to such a calculation is 'not a number’. The
symbol oo is also denoted as NaN on some computers. The underflow is less serious because in this case,
a computer will simply consider the number as zero. O

Remark 2.8. The floating-point representation (2.1) of a number has two restrictions, one is the number
of digits n in the mantissa and the second is the range of e. The number n is called the precision or
length of the floating point representation. a

Example 2.9. The IEEE (Institute of Electrical and Electronics Engineers) standard for floating-point
arithmetic (IEEE 754) is the most widely-used standard for floating-point computation, and is followed
by many hardware (CPU and FPU), including intel processors, and software implementations. Many
computer languages allow or require that some or all arithmetic be carried out using IEEE 754 formats
and operations. The IEEE 754 floating-point representation for a binary number x is given by !

fi(z) = (—=1)® x (L.araz - - - ap)2 x 2°, (2.4)

where ay, ---, a, are either 1 or 0. The IEEE 754 standard always uses binary operations.

The IEEE single precision floating-point format uses 4 bytes (32 bits) to store a number. Out of
these 32 bits, 24 are allocated for storing mantissa (one binary digit needs 1 bit storage space), 1 bit for
s (sign) and remaining 8 bits for the exponent. The storage scheme is given by

|(sign) by | (exponent) babs---bg | (mantissa) bigbiy - - - bsz|

Note here that there are only 23 bits used for mantissa. This is because, the digit 1 before the binary
point in (2.4) is not stored in the memory and will be inserted at the time of calculation.

Instead of the exponent e, we store the non-negative integer E = (babs - - - bg)2 and define e = E —127.
If all b;’s (i = 2,---,9) are zero, then E = (0)19 and if all b;’s are 1, then E = (255)19. In addition to
this, one space corresponding to e = 128 (orE=255) is reserved for oo or NaN depending on whether
bip = - -+ = bga = 0 or otherwise. Thus, in IEEE 754, we have —126 < e < 127 (note that the range of e is
not from -127, because this number is reserved for those numbers not represented otherwise, see Atkinson
and Han, 2004, for more details) and one memory space for NaN. The decimal number zero needs a
special representation, which is stored as E =0 (ie., b = -+ =bg = 0), by = 0 and byg = - -+ = b3z = 0.

! Note the difference between the representation given in (2.1) and here. Since, it is a binary representation, the
digit before the binary point is always 1 and therefore, this information need not be stored in the computer
memory at all. This is the reason why this form of representation rather than (2.1) was prefered.
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In the representation (2.4), the value of s is stored in by, the positive integer E = e + 127 is stored
in bits by through bg. The string of digits aias - --as3 are stored in bits byg through b3o. The leading
binary digit 1 in the mantissa is not stored in the memory. However, this information is inserted into
the mantissa when a floating-point number x is brought out of the memory and sent into an arithmetic
operation. In the IEEE single precision storage system the overflow occurs for real numbers |z| > Zpqz,
where

Taz = 1111 x 2127 = 2128 &~ 3.40 x 1075,

The IEEE double precision floating-point representation of a number has a precision of 53 binary
digits and the exponent e is limited by —1023 < e < 1023. O

2.2 Chopping and Rounding a Number

Any real number x can be represented exactly as
Tr = (—1)5 X (.dldg-'-dndn+1'--)5 Xﬁe, (25)
withdy Z0ordy =ds =---=0, s=0 or 1, and e satisfies (2.3), for which the floating-point form (2.1)

is an approximate representation. Let us denote this approximation of z by fl(z). There are two ways to
produce fl(z) from z as defined below.

Definition 2.10 (Chopped and Rounded Numbers).

The chopped machine approrimation of x is given by
fAlx) = (=1)° x (.dydg ---dp)p x B°. (2.6)
The rounded machine approximation of x is given by

fz) = {(_1)8 x (didy - dy)g X B° , 0<
(—1)* x («dado -+ (dn +1))g x B¢, 2 <dpy1<f

2.3 Different Type of Errors

The approximate representation of a real number obviously differs from the actual number, whose differ-
ence is called an error.
Definition 2.11 (Errors).
The error in a computed quantity is defined as
Error = True Value - Approximate Value.
The absolute error is the absolute value of the error defined above. The relative error is a measure of

the error in relation to the size of the true value as given by

Error

Relative E =
elative Error =

The percentage error is defined as 100 times the relative error.

The term truncation error is used to denote error, which result from approrimating a smooth function
by truncating its Taylor series representation to a finite number of terms.

Example 2.12. A second degree polynomial approximation to
flx)=Va+1, zel0,1]

using the Taylor series expansion about z = 0 is given by

X 1'2 1'3

f(l')%lﬁLE*?‘i’m

Therefore, the truncation error is given by x3/(16(y/1 + £)®). O
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Remark 2.13. Let x4 be the approximation of the real number xz. Then

E(xa) := Error(za) =2 —xa. (2.8)
E.(x4) := Absolute Error(z4) = |E(za)] (2.9)
E,(x4) := Relative Error(xa) = E(;:A) (2.10)
O
Example 2.14. If we denote the relative error in fl(z) as € > 0, then we have
fi(z) = (1 — €)x, (2.11)
where z is a real number. O

2.4 Loss of Significant Digits

In place of relative error, we often use the concept of significant digits.

Definition 2.15 (Significant Digits).

If x A is an approzimation to x, then we say that x4 approximates x to r significant -digits if
1 s—r+1
o —zal < 58 (2.12)
with s the largest integer such that 5° < |x|.

Example 2.16. (a) For x = 1/3, the approximate number x4 = 0.333 has three significant digits, since
|z — 24| & .00033 < 0.0005 = 0.5 x 1073, But 107! < 0.333--- = x. Therefore, in this case s = —1 and
hence r = 3.

(b) For 2 = 0.02138, the approximate number x4 = .02144 has the aboslute error |x — 24| ~ .00006 <
0.0005 = 0.5 x 1073, But 102 < 0.02138 = z. Therefore, in this case s = —2 and therefore, the number
x 4 has only two significant digits, but not three, with respect to z. O

Remark 2.17. In a very simple way, the number of leading non-zero digits of x4 that are correct relative
to the corresponding digits in the true value z is called the number of significant digits in z 4. O

The role of significant digits in the numerical calculation is very important in the sense that the loss
of significant digits may result in drastic amplification of the relative error.

Example 2.18. Let us consider two real numbers
r = 7.6545428 = 0.76545428 x 10", y = 7.6544201 = 0.76544201 x 10*.
The numbers
T4 = 7.6545421 = 0.76545421 x 10, y4 = 7.6544200 = 0.76544200 x 10'

are approximation to x and y, correct to six and seven significant digits, respectively. In eight-digit
floating-point arithmetic,
24 =4 —ya = 0.12210000 x 1073

is the exact difference between x4 and y4 and
z=x —y=0.12270000 x 1073
is the exact difference between = and y. Therefore,

2—24=06x10"%<05x%x107°
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and hence z4 has only three significant digits with respect to z as 1073 < z = 0.0001227. Thus, we
started with two approximate numbers x4 and ya4 which are correct to six and seven significant digits
with respect to x and y respectively, but their difference z4 has only three significant digits with respect
to z and hence, there is a loss of significant digits in the process of subtraction. A simple calculation
shows that

E.(z4) = 53736 X E.(x4),

and similarly for y. Loss of significant digits is therefore dangerous if we wish to minimize the relative
error. The loss of significant digits in the process of calculation is refered to as Loss of Significance. O

Example 2.19. Consider the function f(z) = z(vz+1 — /z). On a six-digit decimal calculator, we
have f(100000) = 100 whereas the true value is 158.113. This makes a drastic error in the calculation.
This is the result of the loss of significant digits, which can be seen from the fact that as x increases, the
terms vz + 1 and /7 comes closer to each other and therefore loss of significant error in their computed
value increases.

Such loss can often be avoided by rewritting the given expression (whenever possible) in such a way
that subtraction is avoided. For instance, the defintion of f(x) given in this example can be rewritten as

f() &
)= ——.
Ve+1+z
With this new definition, we see that on a six-digit calculator, we have f(100000) = 158.114000. O

Example 2.20. When the function f(z) = 1 — cosz is evaluated in six-decimal-digit arithmetic (say).
Since cosx ~ 1 for x near zero, there will be loss of significant digits for x near zero. So, we have to use
an alternative formula for f(z) such as

1 —cos”x sin’

1+ cosx - 1+ cosx

which can be evaluated quite accurately for small z. We can also use Taylor’s expansion to get an
alternative expression for f(z) as

22 4 2 22n
= — = — = —1 n
flay=% -5+ ; )" o+ R(x),
where
R 22D o) °
( 2(TL+1)' (6) aCOSf
with £ very close to zero. O

2.5 Propagation of Error

Once an error is committed, it affects subsequent results as this error propagates through subsequent
calculations. We first study how the results are affected by using approximate numbers instead of actual
numbers and then will take up function evaluation.

Let x4 and y4 denote the numbers used in the calculation, and let x7 and yr be the corresponding
true values. We will now see how error propagates with the four basic arithmetic operations.

Propagated error in addition and subtraction

Let xp = x4 + € and ypr = ya + n are positive numbers. The relative error E,. (x4 £+ y4) is given by

(erEyr)—(ratya) (zrdyr)—(vr—et(yr—m)) exn
E.(xatya)= = = .
xr YT rr YT Tr YT

This shows that relative error propagate slowly with addition, whereas amplifies drastically with subtrac-
tion when x7 = yr as we have witnessed in examples 2.18 and 2.19.
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Propagated error in multiplication

The relative error E.(z4 X ya) is given by

(xr X yr) = (wa x ya) _ (2r xyr) = (&1 —€) X (yr =)

E, =
(:EA x yA) T X Yyr T X yr
_merteyr—en € om <L> <1)  Bo(wa) 4 Bo(Ya) — Eu(wa)Ex(Ya).
xrT X yr rT  Yyr T yr

This shows that relative error propagate slowly with multiplication.
Propagated error in division

The relative error E,.(x4/ya) is given by

(zr/yr) = (xa/ya) _ (zr/yr) - (@r — ) /(yr —n))

E.(xa/ya) = pyn — o
_axrlyr —n) —yr(er —€)  yre—xrn _ yr o
= Z'T(yT*U) N :L'T(nyn) - yT*U(ET( A) Er(yA))
1

— TT(YA)(ET(SCA) - Er(yA))'

This shows that relative error propagate slowly with division, unless F,(Y4) = 1. But this is very unlikely
because we always expect the error to be very small, ie., very close to zero in which case the right hand
side is approximately equal to E,.(z4) — E.(Ya).

Total calculation error

When using floating-point arithmetic on a computer, the calculation of z wya (here w denotes one
of the basic arithmetic operation '+, ’—’, ’x” and ’/’) involves an additional rounding or chopping error.
The computed value of x qwy4 will involve the propagated error plus a rounding or chopping error. To
be more precise, let @ denotes the complete operation as carried out on the computer, including any
rounding or chopping. Then the total error is given by

(zrwyr) — (va@ya) = [(rwyr) — (Tawya)] + [(Tawya) — (Tawya)].

The first term on the right is the propagated error and the second term is the error due to rounding or
chopping the number obtained from the calculation z4wy4.a

Propagated error in function evaluation

Consider evaluating f(z) at the approximate value x4 rather than at z. Then consider how well does
f(z4) approximate f(x)? Using the mean-value theorem, we get

f@) = f(xa) = f(&)(x —za),

where ¢ is an unknown point between x and x 4. The relative error of f(x) with respect to f(z4) is given
by

/') /')
f(x) f(x)

Since x4 and x are assumed to be very close to each other and ¢ lies between x and x4, we make the
approximation

E(f(@) = L8 (@ - 20) = 0B, (). (2.13)

fx) = flza) = f'(x)(x —za) = f'(xa)(x —24).

Definition 2.21 (Condition number of a function).

The condition number of a funtion f at a point x = c is given by

i
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Example 2.22. Consider the function f(z) = +/z, for all € [0, 00). Then
() = —=, for all z € [0, ).

The condition number of f is

f'(@) ‘ 1
x| = =, for all z € [0, 00).
‘ f(z) 2
From (2.13) we see that taking square roots is a well-conditioned process since it actually reduces the
relative error. O
Example 2.23. Consider the function
10
f(ZC) = m, for all x € R.
Then f/(z) = 20z/(1 — 2?)?, so that
f'(x) (20z/(1 — 2%)%)z 272
x| = =
f(x) 10/(1 —=?) 1 — a2

and this number can be quite large for |z| near 1. Thus, for 2 near 1 or -1, this function is ill-conditioned,
as it magnifies the relative error. O

Definition 2.24 (Stability and Instability in Evaluating a Function).

Suppose there are n steps to evaluate a function f(x). Then the total process of evaluating this function
1s said to have instability if atleast one step is ill-conditioned. If all the steps are well-conditioned, then
the process is said to be stable.

Example 2.25. Consider the function
f(x) =vVa+1—ax, for all z € [0,0).
For a sufficiently large x, the condition number of this function is

‘f’(z)z‘l‘l/ml/ﬁxl z
@72 Vari-ve | 2veriva

which is quite good. But, if we calculate f(12345) in six digit rounding arithmetic, we find

1
92

)

£(12345) = V12346 — V12345 = 111.113 — 111.108 = 0.005,

while, actually, f(12345) = 0.00450003262627751 - - -. The calculated answer has 10% error.

Let us analyze the computational process. It consists of the following four computational steps:
xo = 12345, x1:=x0+1, 9 :=+/x1, x3:=\/To, T4:= T2 — T3.

Now consider the last two step where we already computed x5 and now going to compute x3 and finally
evaluate the function

fg (t) =x9 — 1.
At this step, the condition number for fs is given by
‘f’(t)t‘ _
f(®)
Thus, f is ill-conditioned when t approaches zo. For instance, for ¢ ~ 111.11, while zo — ¢t ~ 0.005,

the condition number for f3 is approximately 22,222 or more than 40,000 times as big as the condition
number of f itself. Therefore, the above process of evaluating the function f(x) is unstable.

t
1'2715 '

Let us rewrite the same function f(z) as
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1

@)= ="+

In six digit rounding arithmetic, this gives

1 1
V12346 + /12345 222.221

which is in error by only 0.0003%. The computational process is

£(12345) = 0.0045002,

xo = 12345, x1 =29+ 1, 9 := /21, x3:=\/T0, T4 =22+ T3, T5:= 1/$4.

It is easy to verify that the condition number of each of the above steps is well-conditioned. For instance,
the last step defines f3(t) = 1/(x2 4 t), and the condition number of this function is approximately,

LR

1'2+t

‘Nl

2

()

for t sufficiently close to 5. Therefore, this process of evaluating f(z) is stable. O
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Exercise 2

I. Floating-Point Representation

1.

2.

Write the storage scheme for the IEEE double precision floating-point representation of a real
number with the precision of 53 binary digits. Find the overflow limit (in binary numbers) in this
case.

In a binary representation, if 2 bytes (ie., 2 x 8 = 16 bits) are used to represent a floating-point
number with 8 bits used for the exponent. Then, as of IEEE 754 storage format, find the largest
binary number that can be represented.

II. Errors

3.

10.

The machine epsilon (also called unit round) of a computer is the smallest positive floating-
point number & such that fi(l + &) > 1. Thus, for any floating-point number 6 < §, we have
flll+96) =1, and 1+ 6 and 1 are identical within the computer’s arithmetic.

For rounded arithmetic on a binary machine, show that § = 27" is the machine epsilon, where n
is the number of digits in the mantissa.

If fi(z) is the machine approximated number of a real number = and € is the corresponding relative
error, then show that fl(z) = (1 — ¢)x.

Let x, y and z are the given machine approximated numbers. Show that the relative error in
computing z(y + z) is €1 + €2 — €1€2, where €1 = E,.(l(y + 2)) and e2 = E, (fl(zfl(y + 2))).

If the relative error of fl(x) is €, then show that
1
le| < B~ (for chopped fl(z)), || < 56_"“ (for rounded fl(z)),

where (3 is the radix and n is the number of digits in the machine approximated number.

n

1
Consider evaluating the integral I,, = / dx for n = 0,1,---,20. This can be carried out
0

x
in two iterative process, namely, (i) I, = + — 5I,,_1, Iy = In(6/5) (called forward iteration) and
(ii) In-1 = % — %In, Iyo = 7.997522840 x 1073 (called backward iteration). Compute I,, for
n =0,1,2,---,20 using both iterative and show that backward iteration gives correct results,
whereas forward iteration tends to increase error and gives entirely wrong results. Give reason for

why this happens.

Find the truncation error around z = 0 for the following functions

(a) f(z) =sinz, (b) f(x) = cosz.

Let x4 = 3.14 and y4 = 2.651 be correctly rounded from zp and yr, to the number of decimal
digits shown. Find the smallest interval that contains

(i) zp, (i) yr, (iil) 27 +yr, (iv) 27 — yr, (V) 20 X yr and (vi) z7/yr.

A missile leaves the ground with an initial velocity v forming an angle ¢ with the vertical. The
maximum desired altitude is «R where R is the radius of the earth. The laws of mechanics can
be used to deduce the relation between the maximum altitude o and the initial angle ¢, which is

given by
2
. « |'Ue|
=(1 1-—
sing = ( +a)\/ 1+a(|v|) ,

where v, = the escape velocity of the missile. It is desired to fire the missile with an angle ¢ and
|ve|/|v| = 2 so that the maximum altitude reached by the missile is 0.25R (ie., a = 0.25). If the
maximum altitude reached is within an accuracy of 2%, then determine the range of values of
¢. [Hint: Treat sin ¢ as a function of o and use mean-value theorem]

III. Loss of Significant Digits and Propagation of Error

11.

For the following numbers = and their corresponding approximations x4, find the number of
significant digits in x4 with respect to z. (a) x = 451.01, x4 = 451.023,
(b) x = —0.04518, x4 = —0.045113, (¢) x = 23.4604, x4 = 23.4213.



26

IV.
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1—
12. Show that the function f(z) = $ leads to unstable computation when z ~ 0. Rewrite
x
this function to avoid loss-of-significance when = ~ 0. Further check the stablity of f(x) in the
equivalent definition of this function in avoiding loss-of-significance error.

13. Let x4 and y4, the approximation to « and y, respectively, be such that the relative errors E,.(x)
and F,(y) are very much smaller than 1. Then show that (i) E,(xy) =~ E.(x) + E,.(y) and (ii)
E.(x/y) = E.(z) — E.(y). (This shows that relative errors propagate slowly with multiplication
and division).

14. The ideal gas law is given by PV = nRT, where R is a gas constant given (in MKS system) by
R = 8.3143 + ¢, with |e| < 0.12 x 1072. By taking P = V = n = 1, find a bound for the relative
error in computing the temperature 7.

15. Find the condition number for the following functions (a) f(z) = 2?2, (b) f(z) = 7%, (c) f(z) = b*.

16. Given a value of x4 = 2.5 with an error of 0.01. Estimate the resulting error in the function
f(@) = 2b.

17. Compute and interpret (find whether the funtions are well or ill-conditioned) the condition number
for (i) f(z) =tanz, atz =% +0.1(%). (i) f(z) =tanz, atz =73 +0.01(%).

18. Let f(z) = (x—1)(x—2)--- (z—8). Estimate f(1+10~%) using mean-value theorem with x7 = 1
and x4 =1+ 104

Miscellaneous

19. Big-oh: If f(h) and g(h) are two functions of h, then we say that

F(h) = O(g(h)), ash—0
if there is some constant C' such that
h
20 o
g(h)
for all h sufficiently small, or equivalently, if we can bound
[f ()] < Clg(h)]

for all h sufficiently small. Intuitively, this means that f(h) decays to zero at least as fast as the

function g(h).

Little-oh: We say that

- s |10
f(h) =o0(g(h)), ash—0 if D —0, ash—0.
g

Note that this definition is stronger than the ”big-oh” statement and means that f(h) decays to

zero faster than g(h).

(a) If f(h) = o(g(h)), then show that f(h) = O(g(h)).

(b) Give an example to show that the converse is not true.

(¢) What is meant by f(h) =o(1) and f(h) = O(1)?

(d) Give an example of f(h) and g(h) such that f(h) is much bigger than g(h), but still

f(h) =0(g(h)) as h — 0.

20. Assume that f(h) = p(h) +O(h™) and g(h) = q(h) + O(h™), for some positive integers n and m.

Find the order of approximation of their sum, ie., find the largest integer r such that

f(h) +g(h) = p(h) + q(h) + O(h").
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Linear Systems

The most general form of a linear system is

G11T1 + a12T2+ -+ Fa1pnTn = b1

a21%1 + A22T2+ -+ - +A2nTy = b

(3.1)
Ap1%1 + Ap2Z2+ -+ +AppTp = bn
In the matrix notation, we can write this as
Az =b
where A is an n X n matrix with entries a;;, b = (b1, - - )T and © = (21, -+ ,2,)T are n-dimensional

vectors.

Theorem 3.1. Let n be a positive integer, and let A be given as in (3.1). Then the following statements
are equivalent

I det(A) #0
II. For each right hand side b, the system (3.1) has unique solution x.
III. For b =0, the only solution for the system (3.1) is the zero solution.

3.1 Gaussian Elimination
Let us introduce the Gaussian Elimination method for n = 3. The method for a general n x n system

is similar.

Consider the 3 x 3 system

a1121 + a12T2 + a13x3 = by (E1)
2121 + a22%2 + a23x3 = b (E2) (3.2)
a31x1 + asaTz + azzxrs = b3 (E3)

Step 1: Assume that a;; # 0 (otherwise interchange the row for which the coefficient of x; is non-zero).
Let us eliminate 7 from (E2) and (E3). For this define
a1 asi
moy = ——, M3 = —.
ari ari
Multiply (E1) with mg; and subtract with (E2), and multiply (E1) with ms; and subtract with (E3) to
give
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a1121 + a12T2 + a13x3 = by (E1)
aé?acg + aé?acg = bg) (E2)

ag)xg + ag?acg = béQ) (E3)

()

The coefficients a;;” are defined by

(2) _ Cos
a;;) = a;j —maay, 1, =2,3

bZ(Q) :bifmilbl, Z:2,3

Step 2: Assume that a%) # 0 and eliminate x5 from (E3). Define

(2)
a
mso ?22) .
5P
Subtract mge times (E2) from (E3) to get
1121 + a12%2 + a1373 = by (E1)
ag)xg + a%)xg = béz) (E2)

ag?xg = bég) (E3)
The new coefficients are defined by
o2 = o) ol 8 =2

Step 3: Using back substitution to solve successively for x3, zo and x1, we get

..
3= &5
aés)
@ _ a(2)x3
vy = A (3.3)
5P
b1 — a1222 — a1373
xrp =

ari
The algorithm for n = 3 is easily extended to a general n X n non-singular linear system.

Gaussian elimination method is a direct method which solves the linear system exactly. However,
sometime, this method fail to give the correct solution as illustrated in the following example.
Example 3.2. When we solve the linear system

6x1 + 229 + 22, = —2

2 1
2$1+§l‘2+§$n =1

1 +2x9 —x, =0
Let us solve this system using Gaussian elimination method on a computer using a floating-point repre-
sentation with four digits in the mantissa and all operations will be rounded.

The given system is

6.00021 + 2.000z2 + 2.000x,, = —2.000
2.000x1 + 0.6667x2 + 0.3333x,, = 1.000
1.000z1 + 2.000x2 — 1.000zx,, = 0.0000

After eliminating x;1 from the second and third equations, we get (with mao; = 0.3333, ms; = 0.1667)

6.000z1 + 2.000z2 + 2.000z,, = —2.000
0.000z7 4+ 0.0001z2 — 0.3333z,, = 1.667 (3.4)
0.000z1 + 1.667z2 — 1.333z,, = 0.3334
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After eliminating xo from the third equation, we get (with mss = 16670)

6.000z1 + 2.000z2 + 2.000z,, = —2.000
0.000z; + 0.0001z2 — 0.3333x,, = 1.667
0.000x1 + 0.0000x2 + 5555x,, = —27790

Using back substitution, we get 1 = 1.335, 2 = 0 and x3 = —5.003, whereas the actual solution is
x1 = 2.6, o = —3.8 and x5 = —5. The difficulty with this elimination process is that in (4.4), the element
in row 2, column 2 should have been zero, but rounding error prevented it and makes the relative error
very large. To avoid this, interchange row 2 and 3 in (4.4) and then continue the elimination. The final
system is (with mga = 0.00005999)

6.000z; + 2.000z2 + 2.000z,, = —2.000
0.000z1 + 1.667z2 — 1.333x, = 0.3334
0.000z1 + 0.0000z2 — 0.3332z,, = 1.667

with back substitution, we obtain the approximate solution as z; = 2.602, xo = —3.801 and Dx3 = —5.003.
O

Partial Pivoting To avoid the problem presented by the above example, we use the following strategy.
At step k, calculate

e = max |ag| (3.5)
This is the maximum size of the elements in column £ of the coefficient matrix of step k, beginning at
row k and going downward. If the element |a,(£€)| < ¢, then interchange (Ek) with one of the following
equations, to obtain a new equation (Ek) in which |a,(£€)| = c. This strategy makes agz) as far away from
zero as possible. The element agz) is called the pivot element for step k of the elimination, and the
process described in this paragraph is called partial pivoting or more simply, pivoting.

Operations Count It is important to know the length of a computation and for that reason, we count
the number of arithmetic operations involved in Gaussian elimination. Let us divide the count into three
parts.

I. The elimination step. We now count the additions/subtractions, multiplications and divisions in
going from the given system to the triangular system.

Step |Additions/Subtractions|Multiplications|Divisions
1 (n—1)2 (n—1)*2 n—1
2 (n—2)2 (n—2)2 n—2

n—1 1 1 1

n(n—1)2n—1) n(n—1)2n—1) n(n—1)

Total — 5 5

Here we use the formula
p
. plp+1) o plp+1(2p+1)
=— 7 =— - Z p>1.
j%l] 9 , E J 6 P =

j=1

II. Modification of the right side Proceeding as before, we get
Addition/Subtraction = (n — 1) + (n — 2) 4 --- 4 1 = 221
Multiplication/Division = (n — 1) + (n —2) +---+ 1= @

ITI. The back substitution Addition/Subtraction = (n—1)+(n—2)4+---+1= @

. . . e e . . . n(nJ,»l)
Multiplication/Division = n 4 (n — 1) +--- + 1 = =5
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Total number of operations in obtaining x is
Addition/Subtraction = "(nfl)ﬁ(%*l) + n(n;l) + n(n;l) = n(n71%(2n+5)
n(n2+3n—1)

3

Even if we take only multiplication and division into consideration, we see that for large value of n, the
operation count required for Gaussian elimination is about %n?’. This means that as n doubled, the cost
of solving the linear system goes up by a factor of 8. In addition, most of the cost of Gaussian elimination
is in the elimination step. For elimination, we have
Multiplication/Division = "("_1)6(2"_1)—#"("2_1) =3(n® —n) = in3(1—1/n?) ~ 3n?,
whereas the remaining steps counts only
n(n—1) +n(n+1) o

2 2

Multiplication/Division =

Multiplication/Division = n?
Hence, once the elimination part is completed, it is much less expensive to solve the linear system.

3.2 LU Factorization Method

Let Az = b denote the system to be solved with A the nxn coefficient matrix. In the Gaussian elimination,
the linear system was reduced to the upper triangular system Ux = g with

Urp U2 =+ Uln

0 w22 -+ U2y
U =

0 -+ 0 Upn

and u;; = agj). Introduce an auxiliary lower triangular matrix L based on the multipliers m;; as

1 0 - 0
mop 1 0

L:
mnl"'mnn—ll

The relationship of the matrices L and U to the original matrix A is given by the following theorem.

Theorem 3.3. Let A be a non-singular matriz, and let L and U be defined as above. Then if U is produced
without pioting as in the Gaussian elimimation, then

LU =A
and this is called the LU factorization of A.

LU factorization leads to another perspective on Gaussian elimination. Since LU = A, the linear

system Ax = b can be re-written as
LUx =b.

And this is equivalent to solving the two systems
Lg=b, Uzx=g (3.6)
The first system is the lower tirangular system

g1 = b1
ma191 + g2 = b2

mn191 + mnp29g2 +---+ Mpn—19n—-1 + In = bn
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Once g is obtained by forward substitution from this system the upper triangular system Ux = g can
be solved using back substitution. Thus once the factorization A = LU is done, the solution of the linear
system Ax = b is reduced to solving two triangular systems where the computational cost is reduced
drastically in the situation when the system is to be solved for a fixed A but for various b.

Rather than constructing L and U by using the elimination steps, it is possible to solve directly for
these matrices. Let us illustrate the direct computation of L and U in the case of n = 3. Write A = LU
as

a1 a2 a13 1 00 U1 U2 U13
a21 22 423 = ma1 1 0 0 U22 U23 (37)
asy ass ass m31 m3z2 1 0 0 wuss

The right hand matrix multiplication implies

ailp = uii, 12 = uU12,a13 = U13,
a1 = M21U11, 031 = M31U1. (3.8)

These gives first column of L and the first row of U. Next multiply row 2 of L times columns 2 and 3 of
U, to obtain

(22 = M21U12 + U2, 23 = M21U13 + U23 (3.9)
These can be solved for ugs and wus3. Next multiply row 3 of L to obtain
mM31U12 + M3aug2 = aze, M31U13 + M32U23 + U33 = A33 (3.10)

These equations yield values for mgs and wuss, completing the construction of L and U. In this process,
we must have w11 # 0, u2s # 0 in order to solve for L.

Note that in general the diagonal elements of L need not be 1. The above procedure of LU decompo-
sition is called Doolittle’s method.

Example 3.4. Let

11-1
A= 12—
-2 1
Using (3.8), we get
up =1, uig =1, uiz = —1, m21=% =1,m31=E=—2
Uil U1

Using (3.9) and (3.10),

Ugg = A9y —MaojUin =2 —1x1=1

Uz = a3 — Moz = —2— 1 x (=1) = —1

msa = (asa — majuiz)/ue = (1—(-2) x 1)/1=3

U3z = azz — Mgiuyz — Magtiay =1 — (=2) x (=1) =3 x (=1) =2

Thus,
100 11-1
A= 110 01-1
-231 00 2

Taking b = (1,1, 1), we now solve the system Az = b using LU factorization, with the matrix A given
above. As discussed above, first we have to solve the lower triangular system

1007 [g1 1
110] |g| = |1
—2311 |gs 1
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Forward substitution yields g1 = 1, g2 = 0, g3 = 3. Keeping the vector g = (1,0, 3) as the right hand side,
we now solve the upper triangular system

11-1 1 1
01 -1 i) = 0
00 2 3 3
Backward substitution yields 1 = 1,29 = 3/2, 23 = 3/2.. O

3.3 Error in Solving Linear Systems

In computing solution for a linear system using Gaussian elimination, we have seen the propagation of
rounding error, which can lead to entirely wrong solution. In this section, we introduce some method to
obtain errors prediction and ways to correct them inorder to minimize the error in the computed solution.

Let x4 denote the computed solution using some method. Define
r=b-—Ax, (3.11)
This vector is called the residual vector in the approximation of b by Ax 4. Since b = Ax, we have
r=b—Ax,=Ax — Axy = A(x — T 4).
If we denote the error e = & — x 4, then the above identity can be written as
Ae=r (3.12)

This shows that the error e satisfies a linear system with the same coefficient matrix A as in the orginal
system Ax = b.

There is an obvious difficulty in implementing this procedure on a computer. Since b and Ax 4 are
very close to each other, the computation of r involves loss of significant digits which leads to a very high
relative error. To avoid an incorrect residual r, the calculation of (3.11) should be carried out in a higher-
precision (say if b and Ax 4 are calculated in single-precision, then r can be computed in double-precision
and then rounded back to single precision).

Example 3.5. Consider the system

0.72921 4+ 0.8122 + 0.923 = 0.6867
r1 + x9 + x3 = 0.8338
1.331x1 + 1.21025 + 1.10023 = 1.000

As before, we use a four digit decimal-machine with rounding. The true solution of this system is
1 = 0.2245, xo = 0.2814, z3 = 0.3279

correct rounded to four digits. We consider the solution of the system by Gaussian elimination without
pivoting. This leads to the answers

1 =~ 0.2251, x9 ~ 0.2790, x5 ~ 0.3295.
Using 8 digit floating point decimal arithmetic, with rounding, we get the residual as
r = (0.00006210, 0.0002000, 0.0003519)7".
Solving the linear system Ae = r, we obtain the approximation to the error
es = [—0.0004471,0.002150, —0.001504] .
Compare this to the true error
e=x — x4 = [-0.0007,0.0024, —0.0016]"

Thus ey gives a firly good idea of the size of the error e in the computed solution x 4. O
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The Residual Correction Method:
Step 1: Let &y = x4 be the initially computed value for the solution of the system Ax = b, generally
obtained by using Gaussian elimination. Define
T = b— AIBQ.
The error defined by ey = & — @ is obtained (approximately) by solving the system
Aeo =T

using Gaussian elimination.
Step 2: Define
T = g+ €
and repeat step 1 to calculate
T1 :b7A$1, o = X1 + e
where e; = x — x1 is the approximate solution of the system Ae; = ry.

Continue this process untill there is no further decrease in the size of ey, k > 0. O

Example 3.6. Use a computer with four digit floating-point decimal arithmetic with rounding, and use
Gaussian elimination with pivoting, the system to be solved is

z1 + 0.522 + 0.333323 =1
0.521 4+ 0.333322 + 0.2523 = 0
0.3333z1 + 0.2529 + 0.223 = 0

The true solution rounded to four digits is x2 = (9.062, —36.32, 30.30)T. Using the Residual correction
method, we have

xo = (8.968, —35.77, 29.77)T
(—0.005341, —0.004359, — 0.0005344)T
= (0.09216, — 0.5442, 0.5239)7
x1 = (9.060, —36.31, 30.29)T
(
= (
(

To

€0

r1 = (—0.0006570, — 0.0003770, — 0.0001980)%
0.001707, —0.01300, 0.01241)”

xy = (9.062, —36.32, 30.30)7

€2

3.4 Matrix Norm

A useful notion of measuring a vector (in general a matrix) is the well-known norms

Definition 3.7 (Vector Norm).

A vector norm on R™ is a function from R™ to [0,00) denoted by || - || that satisfies the following
properties:
For any x,y € R", a € R,

Lzl >0
II. ||| = 0 if and only if £ =0
I [az| = |af||]

IV |l + yl| < [lzf| + [yl

Example 3.8. Some examples of vector norm are given here.
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I. The Euclidean norm is defined as

(3.13)

II. The maximum norm (similar to the infinite norm defined in section 2.4) is defined as

][00 == lrg%xnlxil,w = (21, ,Tn)- (3.14)

Definition 3.9 (Matrix Norm).
A matrix norm on the set of all n x n matrices is a real-valued function, || - ||, defined on this set,
satisfying for all n x n matrices A and B and all real numbers a:
LAl > 0;
11 ||A|| = 0, if and only if A is a zero matriz;
1L [lecAl| = [l ||All;
IV [|A+ Bl < [|All + [|B]|;

Definition 3.10 (Natural or Induced Matrix Norm).

If || - || is a vector norm on R™, then

|A]] = max [|Az||
[lz||=1
is a matriz norm and is called the natural or induced matriz norm associated with the vector norm.

Remark 3.11. In this course, all matrix norms will be assumed to be natural matrix norms.

For any z # 0, we have = z/||z|| as a unit vector. Hence

A
max |[|[Az|| = max [|A (i)H = max M,
1(]=1 l1z[1#0 [|=]] lizl120 ||2]]
and we can alternatively write
A
4] = max 221 (3.15)
20 ||z||
Lemma 3.12. For any n X n matrices A and B, and x € R™, we have
L || Az < [|Alll|=|
IL |AB| < [|A[l||B]|
For any n x n matrix A the maximum row norm is defined as
n
Al := 1?%Xn2|aij|. (3.16)
=

It can be shown (proof is omitted here) that the maximum row norm is induced by the maximum norm
defined in (3.14). The Eulidean norm (3.13) induces the matrix norm (proof is omitted here)

[All2 = /7o (AT A), (3.17)

(A) = A
o (A) Ag%)ll

where

with o(A) being the set of all eigenvalues of A, called the spectrum of A.



3.4 Matrix Norm 35

Example 3.13. If we take

11-1
A=| 12-2],
21 1

then

3
D largl = [+ 1+ 1] =3,

j=1

3
D laggl =1+ 2/ +| 2| =5,

j=1
3
D lasil =12+ 1]+ 1] = 4.

=1
Therefore, the maximum row norm of the given matrix A is 5.

On the other hand, the eigenvalues of AT A are A1 ~ 0.0616, Ay ~ 5.0256 and Az ~ 12.9128. Thus,
|All2 ~ V12.9128 ~ 3.5934. O

Theorem 3.14. Let A be nonsingular. Then, the solution x, and xo of the systems Ax = by and Ax =
bo, respectively, satisfy

|21 — s el
—r < AlA™ = (3.18)
[l ] 14|
Proof. Subtracting Axs = by from Ax; = by, we get
A(wl — :Bg) = b1 — b2 or I — Ly = A_l(bl — bg)
Using the above lemma, we get
e — ol = [A7" (b1 — ba)|| < [AT"][[br — bo]l.
Dividing by |||, we obtain
|21 — s ]l —1 b1 — ba|
Iz = zall o g BB =Bl g 4y B el
[E21 [E2Y ([ Allllaa |
But ||b|| = ||Az|| < ||A||||z]]. Using this inequality, we get the desired result. O

The multiplying coefficient || A||[| A~} is interesting. It depends entirely on the matrix in the problem
and not on the right-side vector, yet it shows up as an amplifier to the relative change in the RHS vector.
Definition 3.15 (Condition Number).

For a given non-singular matriz A € R™"*™ and a given matriz norm || -, the condition number of A with
respect to the given morm is defined by

K(A) = [AJlATY (3.19)

When the condition number of a matrix is very large, even a small variation in the RHS vector can lead
to a drastic variation in the solution. Such matrices are called ill-conditioned matrices. The matrices
with small condition number are called well-conditioned matrices.

Example 3.16. A well-known example of an ill-conditioned matrix is the Hilbert matrix

1 1 1 1
R a
2 3 4 n+1
Hy= | - (3.20)
i L 1 . _1
n n+l n+l 2n—1
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For n = 4, we have
25
nuﬁ):nﬂﬂmH;W:351&QOz2&mo

which may be taken as an ill-conditioned matrix. O

[ll-conditioned matrices are very rare in applications. However, discretization of many partial differential
equations leads to moderately ill-conditioned linear systems. For this reason, it is best to use linear
equation solvers that have some way to detect ill-conditioning, if possible. Otherwise, the error can be
computed explicitely as described in section 3.3 to ensure the accuracy in the computed solution.

The following example show how a small variation in the RHS vector lead to a big difference in the

solution.

Example 3.17. The linear system
Sxy + Taxe = 0.7
71‘1 + 10:62 =1
has the solution 21 = 0,22 = 0.1. Let us denote this by @7 = (0,0.1). The perturbed system

5:61 + 71‘2 =0.69
Tr1 + 1029 = 1.01

has the solution z; = —0.17,29 = 0.22, which we denote by x4 = (—0.17,0.22). The relative error
between the solutions of the above systems in the maximum vector norm is given by

[EZIIS
which is too high. On the other hand, the condition number of the coefficient matrix of the above system
is 289, and the relative error between the right hand side vectors in the maximum norm is 0.01. Thus,

the right hand side of the inequality (3.18) is 2.89, which obviously satisfies this inequality. O

Theorem 3.18. Let A € R™*™ be non-singular. Then, for any singular n X n matriz B, we have

1 _ 4= Bl (3.21)
w(4) = [JA]
Proof. We have
1 1
w(4) [l AIIAY
! 1
Al A" |
max
z20 |z
- 1 1
— 4| \ 1Aty
Iyl
where y is arbitrary. Now take y = Az. Then we get
1 1 <||Az||>
— St )
w(A) A\ =]
where z is arbitrary. Let z be such that Bz = 0 (this is possible since B is singular), we get
L _I(A=B)z|| _ [I(A=B)llll=] _ [[(A—B)|
w(A) = Al LAll=] 1Al
and we are done. ad

The importance of this result is that it tells us that if A is close to a singular matrix, then the reciprocal
of the condition number will be near to zero, ie., k(A) itself will be large.



3.5 Iterative Methods 37

3.5 Iterative Methods

The n x n linear system can also be solved using iterative procedures. The most fundamental iterative
method is the Jacobi iterative method, which we will explain in the case of 3 x 3 system of linear equations.

Consider the 3 x 3 system

1171 + a1222 + a1373 = by
a21%1 + a2 + a2373 = by

az1x1 + azaT2 + azzrz = b3

When the diagonal elements of this system are non-zero, we can rewrite the above equation as

1
x1 = — (b1 — a1222 — a13x3)
ail
1
T2 = —(b2 — 211 — 1123~T3)
a2
1
3 = — (b3 — az171 — aszx2)
ass

Let (0 = (x§°>, xéo), xéo)) be an initial guess to the true solution «, then define an iteration sequence:

m 1 m m
SCS +1) = —(b1 — (112£L'g ) — alg.ng ))
a1l
m 1 m m
SCé +) = —(bg — (1211'5 ) — aggxg ))
22
m 1 m m
ch +1) = —(bg — (1311'5 ) — (132SC§ ))
a33

for m =0,1,2,---. This is called the Jacobi Iteration method.

A modified version of Jacobi method is the Gauss-Seidel method and is given by

m 1 m m
SCS +) = —(b1 — (112£L'g ) — algl'g ))
a1l
m 1 m m
SCé +1) = —(bg — (1211'5 +1) — aggxg ))
22
m 1 m m
xé ) _ — (b3 — a31x§ +1) _ a32x5 +1))
as3

Note that the Jacobi method is of the form

N+ = p 4 Uyz™

where
a7 0 -+ 0
0 age -+ 0
N ...
0 0 - ann

and U = N — A. For Gauss-Seidel method, we have

ay; 0 - 0
a1 azz -+ 0

Apl Ap2 * -+ Gpn
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with U = N — A.

A general linear iterative method for the solution of the system of linear system of equations Ax = b
may be defined in the form

2+ — Bg(m) 4 e, m=1,2---. (3.22)

In this case of Jacobi and Gauss-Seidel methods, we have B = N~'U and ¢ = N~ 'b.

Note that the true solution satisfies the equation
r=DBx+c
and therefore, the error (™ = & — (™) satisfies the system

e(mtl) — Be(m)
On taking norm, we get
eV = [ Be™ | < [|B]lle™ | < --- < | B e]].
Thus, when ||B|| < 1, the iteration method always converges for any initial guess.

Definition 3.19 (Diagonally Dominant Matrices). A matriz A is said to be diagonally dominant
if it satisfies the inequality

n

> eyl <lal, i=1,2,--,n.
j=1j#i

In the case of Jacobi method, we have

m 1 & m :
ZEZ( +1):a—ii bi*_z_aijzg‘ ) , i=1,---,n m>0 (3.23)
J=L1,j#i

Therefore, each component of the error satisfies

n
e = - Z a—%ﬁ"‘), i=1,---,n mz=0.

a;
j=lj#i "

which gives

n
™I 3 12 e oo
j=tg#i! "
Define
— 4
= 2 [ 829
g=1,5#i! "
Then
e ] < plle™ oo,
which is true for all i = 1,2,--- ,n. Therefore, we have

e Voo < €™ |-
For p1 < 1, ie., when the matrix A is diagonally dominant, then Jacobi method converges. Note that the
converse is not true. That is, the Jacobi method may converge for A not diagonally dominant.

We will now prove that the Gauss-Seidal method converges if the given matrix A is diagonally domi-
nant. The Gauss-Seidal method reads

i—1 n

(m+1) _ ! . o (mt1) ~(m) - o

x; = bi — Zlaw:cj -ZJrla”:cj , 1=1,2,--- n. (3.25)
J= J=1



3.6 Eigenvalue Problem: The Power Method

Therefore, the error in each component is given by

i—1 n
(m+1) _ @ij (m+1) @i (m) . _
Jj=1 Jj=i+1
Define
Q= ia Bi: Z ia ? 1325 » 1,
° (027} = A5
Jj=1 Jj=i+1
with ay = 81 = 0. Note that p given in (3.24) can be written as
n= max (o + B)
and since A is assumed to be diagonally dominant, we have y < 1. Now
e ] < aille™ Do + Bille™ oo, i = 1,2, m.
Let k be such that
1
el = e ).
Then with ¢ = k in (3.27),
e Voo < arl|e™ Voo + Brl| €™ .
Since p < 1, we have o < 1 and therefore the above inequality give
k
e D) < K e
—
Define
= 1%1%)(711 — Ozk.
Then the above inequality takes the form
e s < ™.
Since for each ¢,
Bi a;[l — (o + Bi)] Q;
. - = > 1—pul>0
(i + Bi) 1—a 1—a, _1—041'[ ul >0,
we have
n<p<l

39

(3.26)

(3.27)

(3.28)

(3.29)

(3.30)

Thus, Gauss-Seidal method converges more faster than the Jacobi method and also when the given matrix

is diagonally dominant, then the Gauss-Seidal method converges.

3.6 Eigenvalue Problem: The Power Method

Power method is normally used to determine the largest eigenvalue (in magnitude) and the corresponding

eigenvector of the system

Az = dx.
Let A1, Ao, -+, A\, be the eigenvalues of A such that
(A1l > 2| = [Ag] = -+ = A (3.31)
and further assume that the corresponding eigenvectors vy, v, - -, v, forms a basis for R™. Therefore,

any vector v € R” can be written as

V=1V + U2+ -+ GV,
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Premultiplying by A and substituting Av;, = \jv;, i =1, -+ ,n, we get

Av = cl)\lvl —+ e+ Cn)\nvn

= + & + + )\—n
= A1 |GV T C2 M V2 Cn N Un

Premultiplying by A again and simplying, we get

A2y = )2 A2 ’ An ’
v=AN|avit+el|l=) vatFen|— ) vn
A1 A1

Ak __ 1k )\2 g An g
v=AN|avitc|— ) vat+-Fen|— ) vn
A1 A1

Using the assumption (3.31), we can see that

Ak
ZEl 1. k=92 .n.
Al < ) 3 7n
Therefore, we have
AR
kl;n()l@)\—]f = C1v1. (3.32)

For ¢; # 0, the RHS is a scalar multiple of the eigenvector. Also, from the above expression for A*wv, we
get

L=\, (3.33)

where ¢ denotes a component of the corresponding vectors.
The power method is based on the results (3.32) and (3.33).

Algorithm 3.20. Choose an arbitrary initial guess (*). For k = 1,2, -

Step 1 Compute y*) = Ag(—1

Step 2 Take pg = y(k)

K3
©)

Step 3 Set x(F) = Z{A—k

Step 4 If |z*~1 —z(®) || > ¢, go to step 1.

For some pre-assigned positive quantity e.

, where [[y®|. = [y,

Let us now study the convergence of this method.

Theorem 3.21 (Power method).

Let A be an non-singular n X n matriz with the following conditions:

1. A has n linearly independent eigenvectors, v;, i =1,--- ,n.
II. The eigenvalues \; satisfy
(Al > [A2] = [Ag] > -+ = [Anl.
III. The vector (9 € R™ is such that

n

(13(0) = ZCj’Uj, C1 7& 0.

j=1
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Then the power method converges in the sense that there exists constants Cy and Co such that

WL
Hm(k) — Kvy|| <y )\—2 , for some K #0
1
and .
A
A1 — | < Cy )\—2
1
Proof. From the definition of (*), we have
20 Az Ay—1) AAg*-D A2 Akg(0)
ok Mk k-1 Mk bk —1 ke ke —1 M fble—1 * - Jh1 '

Therefore, we have
2 = my AP ®
where my, = 1/(u1po - - - pr). But, () = chvj, c1 # 0. Therefore
j=1

n s k
j=2

Taking maximum norm on both sides and noting that |||, = 1, we get

1= |mk)\lf| c1v1 + ZC]‘ ()\—i) v

Jj=2 o

This implies on taking limit,

1
| lim mpAf| = ————— < 0.
ko0 lerlllvlloo
This is equivalent to
1
lim mpA\y = +———— < 0.
— 00 ClH”l”oo
Finally,
lim z®) = lim mk)\’f.clvl = Kv;
k—o0 k—o00
Moreover,
n k k
A A
(k) _ k (N A2
) — Koyl = mk)\lgc] (Al) vi|| <C|%
Jj=2 o
For eigenvalue,
ukﬂ?(k) =y,

Therefore,
T, (*’B(k))i
Taking limit, we have

. A(K’Ul)z )\(’Ul)i
1 = = = \1.
kgrolo Hk K(’U1)i ('Ul)i !

which gives the desired result.
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Example 3.22. Consider the matrix

3 0 0
A=]1-4 6 2
16 —15 -5

The eigenvalues of this matrix are Ay = 3, Aa = 1 and A3 = 0. The corresponding eigen vectors are
X1 =(1,0,2)7, X5 =1(0,2,-5)T and X3 = (0,1,-3)7.

Initial Guess 1: Let us take oo = (1,0.5,0.25)7. The power method gives the following:
Iteration No: 1

y, = Azo = (3.000000, —0.500000, 7.250000, )

g1 = 7.250000
xr = L2 (0.413793, —0.068966, 1.000000, )T
M1

Iteration No: 2

y, = Az, = (1.241379, —0.068966, 2.655172,)T

o = 2.655172
Ty = Y2 _ (0.467532, —0.025974, 1.000000, )T
2

Iteration No: 3

y; = Axo = (1.402597, —0.025974, 2.870130, )z

pi3 = 2.870130
zg = % = (0.488688, —0.009050, 1.000000, )
3

Iteration No: 4

y, = Axs = (1.466063, —0.009050, 2.954751, )7

e = 2.954751
2y = 24 — (0.496172, -0.003063, 1.000000, )"
Ha

Iteration No: 5

y; = Axy = (1.488515, —0.003063, 2.984686, )T

s = 2.984686
Ts5 = Ys _ (0.498717, —0.001026, 1.000000, )©
Hs

Iteration No: 6

ys = Ay = (1.496152, —0.001026, 2.994869, )”

e = 2.994869
Te = Ys _ (0.499572, —0.000343, 1.000000, )T
He

Iteration No: 7

y, = Axg = (1.498715, —0.000343, 2.998287, )"

p7 = 2.998287

Yz

T7 = = (0.499857, —0.000114, 1.000000, )"
7

Iteration No: 8



Iteration No:

Iteration No:

Initial Guess

Iteration No:

Iteration No:

Iteration No:

Iteration No:

10

1

x,0 = % = (0.499995, —0.000004, 1.000000, )*
1

3.7 Gerschgorin’s Theorem

yg = Azy = (1.499571, —0.000114, 2.999429, )T

us = 2.999429
xry = Ys _ (0.499952, —0.000038, 1.000000, )T
us

Yo = Axg = (1.499857, —0.000038, 2.999809, )”

o = 2.999809
Ty = Yo _ (0.499984, —0.000013, 1.000000, )*
Ho

y,0 = Azg = (1.499952, —0.000013, 2.999936, )

110 = 2.999936
0

2: Let us take g = (0,0.5,0.25)7. The power method gives the following:

y, = Axo = (0.000000, 3.500000, —8.750000, )
w1 = 8.750000

Ty = % = (0.000000,0.400000, —1.000000, )"
1

y, = Azy = (0.000000,0.400000, —1.000000, )"
112 = 1.000000

Ty = Y2 _ (0.000000, 0.400000, —1.000000, )T
H2

Y5 = Azo = (0.000000, 0.400000, —1.000000, )"

3 = 1.000000
T3 = Ys _ (0.000000, 0.400000, —1.000000, )*
H3

y, = Azs = (0.000000, 0.400000, —1.000000, )"

g = 1.000000
Ty = Ya = (0.000000,0.4000007 —1.000000, )T
Ha

43

Note that in the second initial guess, the first coordinate is zero and therefore, ¢; in the power method is

zero. This makes the iteration to converge to As, which is the next dominant eigenvalue.

3.7 Gerschgorin’s Theorem

a

An important tool in eigenvalue approximation is the ability to localize the eigenvalues, and the most
important tool in eigenvalue localization is Gerschgorin’s theorem.

Theorem 3.23 (Gerschgorin).
Let A € R™™™ be given, and define the quantities
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n

ri= Y lagl,

J=1,5#i
D;={z€C/|z—ayu| <r}.
Then every eigenvalue of A lies in the union of the disks D;, that is,
A € U?:lDi

for all k =1,2,--- ,n. Moreover, if any collection of p disks is disjoint from the other n — p disks, then
we know that exactly p eigenvalues are contained in the union of the set of p disks, and exactly n — p
eigenvalues are contained in the set of n — p disks.

Example 3.24. Consider the matrix

b
I
o = N
— N
N o

Center of the disks: a11 = 2, ass = 2, azz = 2. The disks are concentric.
Radius of the disks: r; =1, 12 =2, r3 = 1.
The eigenvalues are \; = 3.1414, Ay = 2, A3 = 0.5859. O

Example 3.25. Consider the matrix

A=

(=R
=~ o
e )

Center of the disks: a1 =0, as =7, azz = 4.
Radius of the disks: 1 =2, 1 =3, r3 = 1.
The eigenvalues are A\; = 0.158197, Ao = 3.39573, \3 = 7.446072. O
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Exercise 3

I. Direct Methods

1.

10.

Given the linear system 2z; — 6axs = 3, 3ax; — x9 = %

(a) Find value(s) of « for which the system has no solution. (b) Find value(s) of « for which the
system has infinitely many solutions. (¢) Assuming a unique solution exists for a given «, find the
solution.

. Use Gaussian elimination method (both with and without pivoting) to find the solution of the

following systems:

(1) 61‘1 + 2:62 + 2:63 = 72, 2:61 + 06667:62 + 033331‘3 = 1, xr1 + 2562 — X3 = 0

Answer: x1 = 2.599928, zo = -3.799904, x5 = -4.999880, Number of Pivoting = 1.

(ii) 0.729x1 + 0.81x9 + 0.923 = 0.6867, x1 + 2 + 23 = 0.8338, 1.331x; + 1.21a0 + 1.123 =1
Answer: x; = 0.224545, x5 = 0.281364, z3 = 0.327891, Number of Pivoting = 2.

(iii) T —To+3r3 =2, 3x1 —3x2+x3=—-1, 21+ 22 =3.

Answer: x; = 1.187500, 2 = 1.812500, z3 = 0.875000, Number of Pivoting = 2.

Solve the system 0.004x, +z2 =1, 21 + 22 = 2 (i) exactly, (ii) by Gaussian elimination using a
two digit rounding calculator, and (iii) interchanging the equations and then solving by Gaussian
elimination using a two digit rounding calculator.

Solve the following system by Gaussian elimination, first without row interchanges and then with
row interchanges, using four-digit rounding arithmetic:

x + 592y = 437, 592z 4 4308y = 2251.

Solve the system 0.5x1 — x9 = —9.5, 1.02z7 — 2x5 = —18.8 using Gaussian elimination method.
Solve the same system with a;; modified slightly to 0.52 (instead of 0.5). In both the cases, use
rounding upto 5 digits after decimal point. Obtain the residual error in each case.

For an € with absolute value very much smaller than 1, solve the linear system
X1+ 2o+ w3 =6, 3x1+ (3+€)xs+ 4wy =20, 221 + 29+ 323 =13

using Gaussian elimination method both with and without partial pivoting. Obtain the residual
error in each case on a computer for which the € is an unit round.

In the n X n system of linear equations
a11$1+"'+a1n$n:b1; ) an1$1+"'+ann-rn:bn

let a;; = 0 whenever i —j > 2. Write out the general form of this system. Use Gaussian elimination
to solve it, taking advantage of the elements that are known to be zero. Do an operations count
in this case.

Obtain the LU factorization of the matrix

4 1 1
1 4 -2
3 2 -4

Use this factorization to solve the system with b = (4,4,6)7.

1 2 6
Show that the following matrix cannot be written in the LU factorization form: | 4 8 —1
-2 3 5

Show that the matrix

W = DN
N =N

1
1
1

is invertible but has no LU factorization. Do a suitable interchange of rows and/or columns to
get an invertible matrix, which has LU factorization.
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II.

III.

3 Linear Systems

Errors and Matrix Norm

11. Use the Gaussian elimination method with rounding upto 5 digits after decimal point to solve the
system 0.52z; — xg = —9.5, 1.02z; — 229 = —18.8. Use residual corrector algorithm to improve
the solution till the error vector becomes zero.

12. Solve the system x7 + 1.001a2 = 2.001, 27 + 22 = 2 (i) Compute the residual r = Ay — b for
y = (2,0)T. (ii) Compute the relative error of y with respect to the exact solution x of the above
system (use Euclidean norm in R? defined by ||z|| = /27 + 23).

13. For any n x n matrices A and B, and x € R", show that
i, Azl < [|A] 2]
i, [ AB|| < 4] B
where the matrix norm is the induced norm obtained from the corresponding vector norm.
14. Solve the system
5:61 + 7:62 = bl
Tr1 + 1029 = by
using Gaussian elimination method to obtain the solution x; when by = (by,b2) = (0.7,1). Also

solve the above system with by = (b1,b2) = (0.69,1.01) using the same method to obtain the
solution xs. Show that

1 — 2|2
ll1]l2

_1y b —ball2
< [ All2]|A 1||27b
|b][2

where A is the 2 x 2 coefficient matrix of the above system and the norm in the above inequality
is the Eucledian norm for vector and the corresponding induced norm for the matrix.

15. Show by an example that || - ||as defined by ||Al|apr = 1£%§n|aij|7 does not define an induced
matrix norm.

16. Show that x(A) > 1 for any n x n non-singular matrix A.

17. For any two n x n non-singular matrices A and B, show that k(AB) < k(A)k(B).

0.1av 0.1«
1.0 2.5
Use the maximum row norm.

18. Let A(a) = } . Determine « such that the condition number of A(«) is minimized.

19. Estimate the effect of a disturbance on the right hand side vector b by adding (e1, €2)” to b, where
le1], |e2] < 107*, when the system of equations is given by x1 + 222 = 5, 21 — 22 = 0 (use
maximum norm for vectors and maximum row norm for matrices).

20. Find a function C(e) > 0 such that C(e) < k(A) using the maximum row norm, when

1 -1 1
A=1|-1 € €
1 € €

Iteration Method

21. Find the n x n matrix B and the n-dimensional vector ¢ such that the Gauss-Seidal method can
be written in the form
e*) = px® y e k=12,

22. Show that the Gauss-Seidal method converges if the coefficient matrix is diagonally dominant.

23. Study the convergence of the Jacobi and the Gauss-Seidel method for the following systems by
starting with @y = (0,0,0)” and performing three iterations:
(i)5x1 + 229 + 3 = 0.12, 1.75x1 + Txe + 0.525 = 0.1, 1 + 0.222 + 4.523 = 0.5.
(11)561 —2.’L‘2—|—21‘3 = 1, — X1+ 2 — X3 = 1, —2.’L‘1 —2$2+ZE3 =1.
(iii)l‘l 4+ 29 + 1023 = —1, 221 + 329 + dx3 = —6, 321 + 229 — 323 = 4.
Check the convergence by obtaining the maximum norm of the residual vector.

24. Use Jacobi method to perform 3 iterations with (®) = (0,0,0) to get ), 2® and ® for the
system
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—x1 + 510 — 223 =3, x1 + a2 —4drs=—-9, 4] —x2+223=28

Compute the maximum norm of the residual error r1, o and 73 in (), £(2) and x®), respectively,
obtained above. (Observe that the maximum norm of the residual errors increase. Infact, the
Jacobi iterative sequence diverges in this case). Interchange the rows suitably in the above system
so that the Jacobi iterative sequence converges. Justify your answer without calculating the Jacobi
iterations.

25. Study the convergence of the Jacobi and the Gauss-Seidel method for the following system by
starting with zo = (0,0,0)” and performing 20 iterations (using computer):
T+ 05:62 + 051‘3 = 1, 05:61 + 1:62 + 05:63 = 8, 05:61 + 05:62 + x3 = 1.
Check the convergence by obtaining the maximum norm of the residual vector.

26. For an iterative method (®*) = Bz(*=1) 4 ¢ with an appropriate choice of &, show that the error

e®) has the estimate
le® < BB )
e < |||
1— B

Use this estimate to find the number of iterations needed to compute the solution of the system

10z1 — 29 + 223 — 324 =0, 21 + 1022 — 3 + 224 = 5,
2x9 + 3x2 + 20x3 — x4 = —10, 31 + 229 + 23 + 2024 = 15

using Jacobi method with absolute error within 10~* and 2(*) = ¢ (use maximum norm for vectors
and maximum row norm for matrices). Hint: In class, we have proved ||e®) || < || B||*||e®|. But

[e@] = |l& — 2@ < ||z® — 2@ +||B||lx — (?|. In this inequality, solve for ||z — z(®)|| and
BlIF
substitute on the RHS of the first inequality to get ||e®)| < 1|7|HB|||m(1) — 29||. Finally, take

(0 = ¢ to get the desired result.
27. Let @ be the solution of the system Az = b. Show that the following statements are equivalent:
i. the iterative method
) = Ba® 1 e k=12,
is convergent (ie., for any 20, we have z*) — x as k — oo.
ii. the spectral radius r,(B) < 1.
iii. there exists a induced matrix norm || - || such that || B]| < 1.

Hint: Show that (i)=(ii)=(iii)=(i). To prove (i)=(ii), first show that B*y — 0 as k — oo,
for an arbitrary vector y. Then replace this arbitrary vector by an eigen vector of B. In proving
(ii)=-(iii), use the following result (which you don’t need to prove): Let A be a given n X n matriz
and let € > 0. Then there exists an induced matriz norm || - || such that ||A]| < r,(A) + €.

IV. Eigenvalue Problem

28. Let A be an non-singular n X n matrix with the condition that the eigenvalues \; of A satisfy

IA1] > [A2] > [A3] > - > | Ay

and has n linearly independent eigenvectors, v;, i = 1,--- ,n. Let the vector £(®) € R™ is such
that
n
(13(0) = chvj’ C1 7é 0.
j=1
Then find a constant C' > 0 such that
k
A
|>\1 - ,u‘k| S c )\_2 )
1

where py is as defined in the power method and £k =1,2,--- .
29. The matrix
0.7825 0.8154  —0.1897
A= |-0.3676 2.2462 —0.0573
—0.1838 0.1231 1.9714
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30.

31.

32.
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has eigenvalues A\; = 2, A = 2 and A3 = 1. Does the power method converge for the above matrix?
Justify your answer. Perform 5 iterations starting from the initial guess (®) = (1,3, 6) to verify
your answer.

The matrix
2 0 0
A=12 1 0
3 01

has eigenvalues Ay = 2, A = 1 and A3 = 1 and the corresponding eigen vectors may be taken as
vy = (1,2,3)T, vy = (0,1,2)T and vz = (0,2,1). Perform 3 iterations to find the eigenvalue and
the corresponding eigen vector to which the power method converge when we start the iteration
with the initial guess (®) = (0, 0.5,0.75)7. Without performing the iteration, find the eigenvalue
and the corresponding eigen vector to which the power method converge when we start the
iteration with the initial guess (®) = (0.001,0.5,0.75)”. Justify your answer.
The matrix
5.4 0 0
A=]-113.0233 —0.5388 —0.6461
—46.0567 —6.4358 —0.9612

has eigenvalues Ay = 5.4, A = 1.3 and A\3 = —2.8 with corresponding eigen vectors vy =
(0.2,-4.1,2.7)7T, vy = (0,1.3,-3.7)7 and vz = (0,2.6,9.1)T. To which eigenvalue and the
corresponding eigen vector does the power method converge if we start with the initial guess
() = (0,1,1)? Justify your answer.

Use Gerschgorin’s theorem to the following matrix and determine the intervals in which the
eigenvalues lie.
0.5 0 0.2
A= 0 3.15 -1
0.57 0 —7.43

Can power method be used for this matrix? Justify your answer. Use Power method to compute
the eigenvalue which is largest in the absolute value and the corresponding eigenvector each of
the above matrix.

V. Computer Program

33.

Write a computer program (in any programming language that you know) to compute an eigen-
value and the corresponding eigen vector of a given n X n matrix A.

Use your program for the following matrices. In each case plot a graph with x axis as the number
of iterations and y axis as the eigenvalue obtained in that iteration.

[1.2357 —0.5714 0.0024
0.5029 —0.0557 —0.0638

i. A 0.78 156 0ss | (1,1,1)". Perform 110 iteration.(Eigen values

are 0.1, 0.95, 1.01 and the corresponding eigenvectors may be taken as (1,2,3)T, (2,1,0)
and (5,2,6)7.)

[0.5029 0.0051 —0.0130
0.8663 2.0160 — 3.8984

i A=105775 1.0107 — 2.0089

, 2 = (1,1,1)7. Perform 50 iteration.(Eigen values are

-0.58, b.5, 0.5 and the corresponding eigenvectors may be taken as (1,0.2,0.3)T, (0.1,0.2,0.1)
and (0.001,0.3,0.2)7.)

—0.5088 —0.0025 0.0038
iii. A= |—2.0425 0.3050 0.4125 | ,2(® = (1,1,1)7. Perform 70 iteration.(Eigen values
—1.3588 0.5375 —0.2263

are -0.5, -0.51, 0.58 and the corresponding eigenvectors may be taken as (1,1,3)7, (1,2,1)7
and (0,3,2)7")
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—0.5080 —0.0040 0.0060
iv. A = | —1.8358 0.0986 0.6186 | ,z® = (1,1,1)T. Perform as many as iterations as
—1.2212 0.4004 — 0.0896
you wish.(Eigen values are -0.5, -0.51, 0.511 and the corresponding eigenvectors may be taken
as (1,1,2)7, (1,2,1)T and (0,3,2)7")
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Nonlinear Equations

One of the most frequently occuring problems in scientific work is to find the roots of equations of the
form

f(z) = 0. (4.1)

In this chapter, we introduce various iterative methods to obtain an approximate solution for the equation
(4.1).

By approximate solution to (4.1) we mean a point 2* for which the function f(z) is very near to zero,
ie., f(z*) =~ 0.

In what follows, we always assume that f(x) is continuously differentiable real-valued function of a
real variable . We further assume that the equation (4.1) has only isolated roots, that is, for each root
of (4.1) there is a neighbourhood which does not contain any other roots of the equation.

The key idea in approximating the isolated real roots of (4.1) consisting of two steps:

I. Initial guess: Establishing the smallest possible intervals [a, b] constaining one and only one root of
the equation (4.1). Take one point x¢ € [a, b] as an approximation to the root of (4.1).

II. Improving the value of the root If this initial guess z is not in desired accuracy, then devise a

method to improve the accuracy.

This process of improving the value of the root is called the iterative process and such methods are called
iterative methods. A general form of an iterative method may be written as

Tpy1 =T (zn), n=0,1,--- (4.2)

where T is a real-valued function called an iteration function. In the process of iterating a solution, we
obtain a sequence of numbers {x,,} which are expected to converge to the root of (4.1).

Definition 4.1 (Convergence).

A sequence of iterates {x,} is said to converge with order p > 1 to a point x* if
|Xpi1 — 2| <l —2* P, n>0 (4.3)
for some constant ¢ > 0.

Remark 4.2. If p = 1, the sequence is said to converge linearly to z*, if p = 2, the sequence is said to
converge quadratically and so on. a

4.1 Fixed-Point Iteration Method

The idea of this method is to rewrite the equation (4.1) in the form
P (1.0

so that any solution of (4.4) ie., any fixed point of g(z) is a solution of (4.1).
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2

Example 4.3. The equation z© — x — 2 = 0 can be written as

l.z=22>-2
2. =+x+2
3.,7::14—%
and so on. O

The fixed-point iteration method is to set an iterative process of the form (4.2) with iteration function
g(z). Note that for a given nonlinear equation, this iteration function is not unique. Once the iteration
function is chosen, then the method is defined as follows:

Step 1: Choose an initial guess xg.

Step 2: Define the iteration methods as
Tnt1 =g(zn), n=0,1,-- (4.5)

The crucial point in this method is to choose a good iteration function g(x). A good iteration function
should satisfy the following properties:

I. For the given starting point z, the successive approximation z,, given by (4.5) can be calculated.
II. The sequence x1, w2, --- converges to some point &.
ITT. The limit ¢ is a fixed point of g(x), ie., £ = g(&).

The first property is the most needed one as illustrated in the following example.

Example 4.4. Consider the equation 22 — x = 0. We can take 2 = ++/r and suppose we define g(z) =
—+/z. Since g(z) is defined only for z > 0, we have to choose zo > 0. For this value of zo, we have
g(xo) < 0 and therefore, 1 cannot be calculated. O

Therefore, the choice of g(x) has to be made carefully so that the sequece of iterates can be calculated.
How to choose such a iteration function g(x)? Since, we expect x = g(x), we have to define g(z) in such
a way that this value should again belong to the domain of g. That is,

Assumption 1: a < g(z) < b for all a < x <b.

It follows that if a < xg < b, then for all n, z,, € [a,b] and therefore x, 1 = g(x, ) is defined and belongs
to [a, b].

Let us now discuss about the point 3. This is a natural expectation since the expression x = g(z),
which is the solution of the required equation is precisely the definition of a fixed point. To achieve this,
we need g(x) to be a continuous function. For if x,, — 2* then

2" = lim x, = lim g(x,-1) =¢( lim x,_1) = g(z*)
n—oo n—oo n—oo

Therefore, we need
Assumption 2: The function g(x) is continuous.

Let us now discuss point 2. This point is well understood geometrically. The figure (a) and (c) il-
lustrated the convergence of the fixed-point iterations whereas the figures (b) and (d) illustrated the
diverging iterations. In this geometrical observation, we see that when ¢’(x) < 1, we have convergence
and otherwise, we have divergence. Therefore, we make the asspumption

Assumption 3: The iteration function g(x) is differentiable on I = [a, b]. Further, there exists a constant
0 < K < 1 such that

lg'(x)| <K, zel. (4.6)
Theorem 4.5. Assume that g(x) is continuously differentiable on [a,b], and a < g(x) < b with

o ’
A= argggbm (z)| < 1. (4.7)

Then
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yix
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Fig. 4.1. Fixed-point Iteration Procedure.

I x = g(x) has a unique solution x* in I.

II. For any choice of xg € I, with xp41 = g(xy), n=0,1,---,

lim z, = z*.
n—r 00

III. We further have

A”l
Ty — 2| < AN ap — 2| < = >\|ac1 — Zo
and
lim T )
n—oo I* — I,

Proof. Proof for 1 is omitted. To examine the convergence of the iterates x,,, we note that
2" — 2pg1] = |g(@") — g(zn)| < Ma™ —x,|  (by Mean-value theorem and (4.6))

By induction, we have
|z* — 2pia| < A'|zo — 2], n=0,1,--

Since, as n — oo, A" — 0, we have x,, — x*. Further, we have
lzo — 2| = |xo — 21 + 21 — 27| <|xo — 21| + |11 — 27| < A|wo — 27| + |20 — 21|

Then solving for |zg — x*|, we get (4.8).

Now we will prove the rate of convergence (4.9). From Mean-value theorem

- Tn+1 = g(:c*) - g(xn) = gl(En)(x* - 'Tn)’ n=0,1,---

53

with &, an unknown point between z* and x,,. Since z,, — z*, we must have &, — z* and therefore,

lim "~ fim /(€)= g'(2").

n—oo I* — I, n—o00

This completes the proof.

a

Example 4.6. Consider the equation sinz + x? — 1 = 0. Take the initial interval as [0, 1]. There are three

possible choices for the iteration function, namely,
L gi(z) = sin” (1 — 2?),

IL. go(x) = —+/1 — sinz,
IIL. g3(x) = /1 —sinz,



54 4 Nonlinear Equations

Here we have g} (z) = \/2__27 We can see that |¢}(x)| > 1. Taking 2o = 0.8 and denoting the absolute

error as €, we have

n g1 () A
0] 0.368268]0.268465
1{ 1.043914(0.407181
2
3

-0.089877/0.726610
1.443606|0.806873

The sequence of iterations is diverging as expected.

If we take ga(x), clearly the assumption 1 is violated and therefore is not suitable for the iteration

— COS T

process. Let us take gs(z). Here, we have g5(z) = == Therefore,

1 —sin’x vV1+4sinx 1

= <

)| = = — < 1.
1950 = 5 s 2 NG

Taking x¢p = 0.8 and denoting the absolute error as e, we have

n 93(x) e|
0]0.531643]0.105090
110.702175]0.065442
2
3

0.595080(0.041653
0.662891]0.026158

The sequence is converging. O

When to stop the iteration?
Assume a positive number € which is very small. Then, one of the following conditions may be used:

Condition 1: After each iteration check the inequality
|y — p—i| <€

for some fixed positive integer k. If this inequality is satisfied, the iteration can be stopped.

Condition 2: Another condition may be to check

[ (zn)| <e.

This error is sometime called the residual error for the equation f(z) = 0.

4.2 Bisection Method

Assume that f(z) is continuous on a given interval [a,b] and that is also satisfies f(a)f(b) < 0 with
f(a) # 0 and f(b) # 0. Using the intermediate value theorem, we can see that the function f(x) has
atleast one root in [a,b]. We assume that there is only one root for the equation (4.1) in the interval [a, b].
The Bisection includes the following steps:

Step 1: Given an initial interval [ag, bo], set n = 0.

Step 2: Define ¢, 11 = (ay, + by,)/2, the midpoint of the interval [a,, by,].

Step 3:

If f(an)f(cny1) =0, then a* = ¢, 11 is the root.

If f(an)f(cny1) <0, then take ani1 = ap, bpy1 = ¢py1 and the root * € [an41, bpt1].

If f(an)f(cny1) > 0, then take a1 = ¢pi1, but1 = by and the root o € [an41, byy1]-

Step 4: If the root is not obtained in step 3, then find the length of the new reduced interval [a, 1, bp11].
If the length of the interval b,, ;1 — a1 is less than a prescribed positive number €, then take the mid
point of this interval (z* = (bp41 + an+1)/2) as the approximate root of the equation (4.1), otherwise go
to step 2.

The following theorem gives the convergence and error for the bisection method.
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Theorem 4.7 (Convergence and Error of Bisection Method).

Let [ag,bo] = [a,b] be the initial interval, with f(a)f(b) < 0. Define the approzimate root as x, =
(bp—1 + an—1)/2. Then there exists a root * € [a,b] such that

(2 — 2| < (%)n(b—a). (4.10)

Movweover, to achieve accuracy of |x, — x*| < e, it suffices to take

- log(b—a) — loge-

g2 (4.11)

Proof. It is obvious that 1

by —an = §(bn_1 — Qp-1),
which implies that .

bp —an = (%) (bo — ao)-
Therefore, o .

|zn — 2" < %(bnfl —ap-1) = % <%) (bo — ao) = <%> (bo — ao),
which proves the estimate. To obtain the bound, we observe that
"
(5) (b—a)<e

Taking log on both sides, we get the desired bound. O

Example 4.8. Consider the equation sinx + 22 — 1 = 0. Take the initial interval as [0, 1]. That is ag = 0,
bo = 1. If the permissible absolute error is 0.125, ie. |z, — x*| < 0.125, then by (4.11), we must perform
atleast

. log(1) — log(0.125)

log 2

number of iterations. Let us perform the iterations.

ag = O,bo = 1;01 = 0.5,f(61) =-027T< 0= a1 = 0.5,()1 = 1.
ar = 0.5,b1 = Liea = 0.75, f(cz2) = 0.24 > 0 = ap = 0.5, by = 0.75.
az = 0.5,ba = 0.75; c3 = 0.625, f(c3) = —0.024 < 0 = a3 = 0.625, b3 = 0.75.

Since |a; — by| = 0.125 and |z3 — 2*| < |a; — b1| = 0.125, we can stop the iteration here. We may take
the approximate solution for the equation as z* = 0.6875. The true value is * ~ 0.636733. Therefore,
the absolute error is 0.05. O

4.3 Secant Method

Secant method is one of the most efficient method among all regula-falsi methods. Let us first explain
the regula-falsi method and given the modification in this method which leads to secant method.

The regula-falsi method is closely related to the bisection method introduced in section 5.2. Recall the
bisection method is to subdivide the interval [a,b] in which the root lies into two parts, take the part of
the interval which still holds the root and discard the other part of the interval. Although the bisection
method always converges to the solution, the convergence is sometime very slow in the sense that if the
root is very close to one of the boundary points (ie.,. a and b) of the interval. In such a situation, instead
of taking the midpoint of the interval, we take the weighted average of f(x) given by

_ f(b)a— f(a)b
) = f@)
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Example 4.9. Consider the equation f(z):= 2% —x — 1 = 0. Clearly, f(1) = =1 < 0 and f(2) =5 > 0.
Thus, we can take the initial interval for the bisection method as [1,2]. But here we observe that f(1) is
more close to 0 than f(2). So, it is very likely that the root 2* of the given equation is closer to x = 1
than @ = 2. Rather, the weighted of f(z) is

X 1+1x2
N 6

= 1.16666 - - -

Now f(w) = —0.578703--- < 0 < 5 = f(2). Repeating this process once again, we get

- 5 x (1.1666 - - - ) + (0.578703 - - ) x 2 —=1.253112- -
5.578703 - - -

from which we have f(w) = —0.285363--- <0 < 5 = f(2).

Such an algorithm is called the regula-falsi method. The algorithm is as follows

Step 1: Given an initial interval [ag, bo], set n = 0.
Step 2: Define

(4.12)

Step 3:

If f(an)f(wpy1) =0, then a* = ¢,41 is the root.

If f(an)f(wpt1) < 0, then take any1 = an, byy1 = wp1 and the root x* € [ant1, bpi1].
If f(an)f(wps1) > 0, then take any1 = wpy1, bpy1 = by, and the root x* € [ant1, bni1].
Step 4: If the root is not obtained in step 3, then check the condition

[f(wnt1)] < e

for some pre-assigned positive quantity e. If the condition is satisfied, then take the weight of the next
iteration as the approximate root of the equation (4.1). If this condition is not satisfied, then repeate the
step 2.

Note that the weighted average is the point at which the secant joining the points (a, f(a)) and (b, f(b))
intersects the x-axis. Let us derive this weighted average now. The secant line is given by

_ fla)@=b)+ f)(a—=)  (f(a) = f(b))z+ f(b)a — f(a)b
s() = a—>b B a—>b '

The slope of this line is
/ _ f(a) B f(b)
s'(x) = —
On the other hand, if w is the point of intersection of the secant with a-axis, then the line joining (w, 0)
and (b, f(b)) is given by
fO)(w —x)
Wp) = 22— =)
(r) = LA 2)

whose slope is

Equating these slopes, we get

fla) = fb) _ =f®)  ~_ flb)a— fla)d
a—b w—"b f() = f(a)

as expected.
The regula-falsi method can be improved in several ways. The popular one is the secant method.

Given initial values zp and x;1 (not necessarily on the either side of the root) the iteration for secant
method is given by

f($n)$n_1 - f(xn—l)wn-

T = T ) — o) (4.13)
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This expression can also be written as

Tp — Tn—1

f('rn) - f(xn—l)

Tpt1 = Tn — f(xn) (4.12a)

Example 4.10. Consider the equation sinz + 22 — 1 = 0. Let 29 = 0, 2; = 1. Then the iterations from
the secant method are given by

n Ty e|
210.543044(0.093689
310.626623]0.010110
4
5

0.637072|0.000339
0.636732|0.000001

Recall that the exact solution is x* =~ 0.636733. Obviously, the secant method is much faster than both
bisection and fixed-point iteration methods. O

The order of convergence of secant method is

r—1

b=l _| 169 "

lim = 2 (@)

n—00 |xn — x*|T

where r = (v/5 +1)/2 ~ 1.62.

4.4 Newton-Raphson Method

If f(x) is differentiable, then on replacing in (4.12a) the slope of the secant by the slope of the tangent
at x,, one gets the iteration formula

(4.15)
of Newton-Raphson Method.

Example 4.11. Consider the equation sinz + 22 — 1 = 0. Let 29 = 1. Then the iterations from the
Newton-Raphson method gives

n Ty 6|
10.668752|0.032019
210.637068(0.000335
310.636733]0.000000

Recall that the exact solution is z* ~ 0.636733. Obviously, the Newton-Raphson method is much faster
than both bisection and fixed-point iteration methods. O

Remark 4.12. We will derive analytically the Newton-Raphson method. The Taylor polynomial of degree
n = 1 with remainder is given by

(x — x0)?

F(@) = (o) + f'(wo) (& — w0) +

18,
where ¢ lies somewhere between xy and z. Substituting = x* into the above equation, we get

(x* — x0)?

0= f(zo) + f'(w0)(z" — x0) + 21

F(©)-

When x is very close to x*, then the last term in the above equation is smaller when compared to the
other two terms on the RHS and therefore, can be neglected. The remaining terms read
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JF(xo) + f'(xo)(2* — x0) = 0.

Solving for x*, and using the notation x; for this new approximate solution, we get

21 = 3y — 10
f' (o)
When 2,1 is used in place of 2y, we get the general formula (4.15). O
Remark 4.13. Let us define
f(z)
g(z) =z — . 4.16)
( 7/a) (
Since f(a*) = 0, it is easy to see that g(x*) = 2* and therefore finding root for the equation f(z) =0
using Newton-Raphson method is equivalent to finding the fixed point of the function g(z). O

Theorem 4.14. Assume that f € C?[a,b] and there exists a number z* € [a,b], where f(xz*) = 0. If

f'(x*) # 0, then there exists a § > 0 such that the sequence {x,} defined by the iteration (4.15) for

n=1,2,--+ will converge to =* for any initial approzimation xo € [x* — §, z* + J].
Further, we have

o ma =2 [f (@)

1 = .
oo [rp —a 2 2f(@")]

(4.17)

Proof. Consider the fixed-point iteration function g(x) defined by (4.16). Now,

R T T )

(f"(x))? (f"(x))?
By hypothesis, f(z*) = 0 and therefore ¢’(x*) = 0. Since g(x) is continuous, it is possible to find a § > 0
so that |¢'(z)| < 1 for all z € (z* — §,2* + §). Therefore, a sufficient condition for the initial guess xq to
give a convergent sequence is that zo € (z* — 0, 2* + ). and that 6 be chosen so that

|f () " ()|
| (@)[?

<1 (4.18)

for all x € (z* — 6, 2™ + ¢).
By Taylor’s theorem, we have

(x* — xp,)?

o (e,

f(@™) = flzn) + (2" — wn)fl(wn) +

with &, between z* and z,,. Note that f(2*) = 0 by assumption and then divide f’(z,) to obtain

flan) | . . 2 [ (&)
0= +x —x,+ (@ —x,) ————=
/(@) ) S )
. . f"(6n
=&, — Tpy1 + a2 —x, + (2 — zn)22f’((xn))
By taking limit n — oo, we get the result. O

To examine the order of convergence of the Newton-Raphson method, we need the following definition.

Example 4.15 (Quadratic convergence at an isolated root). Start with 2o = —2.4 and use Newton-
Raphson iteration to find the root 2* = —2.0 of the polynomial f(x) = 23 — 3x + 2. The iteration formula
is

223 — 2

3zi -3

Verify that |2 — x,11|/|0* — x,]? = 2/3. O

Tpr1 = g(r) =
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Pitfalls:

I
II.

III.

IV.

If f'(xy) = 0 for some n, the method can no longer be applied.

If f(z) has no real root, then there is no indication by the method and the iteration may simply
oscillates. For example compute the Newton-Raphson iteration for f(z) = 2% — 4z + 5.

If the equation f(z) = 0 has more than one root and we are specific about capturing a particular
root (say the smallest positive root). Then we have to be careful in choosing the initial guess. If the
initial guess is far away from the expected root, then there is a danger that the iteration converges
to another root of the equation. This usually happens when the slope f’(zg) is small and the tangent
line to the curve y = f(x) is nearly horizontal.

For example, if f(z) = cosx and we seek the root p = m/2 and start with p, = 3, calculation reveals
that 1 = —4.01525, xo = —4.85266 and so on and the iteration converges to r = —4.71238898 ~
—3m/2.

Suppose that f(x) is positive and monotone decreasing on an unbounded interval [a, 00) and z¢ > a.
Then the sequence might diverge.

Fig. 4.3. Newton-Raphson Method for f(z) = z® —x — 3.

For example, if f(z) = ze™® and xg = 2, then
21 = 4.0, 7o =5.333333..., -~ ,pi15=19.72354...,--- .

and the sequence diverges to +oo. This particular function has another suprising problem. The value
of f(x) goes to zero rapidly as x gets large, for example f(x15) = 0.0000000536, and it is possible
that p;5 could be mistaken for a root (as per the residual error).

The method can stuck in a cycle. For example f(z) = 2°

zo = 0. Then the sequence is

— o — 3 and the initial approximation is

71 = —3.00, zo=—1.961538, x3=—1.147176, x4 = —0.006579,
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y = arctan(x)

Fig. 4.4. Newton-Raphson Method for f(z) = tan™'(z).

x5 = —3.000389, x6 = —1.961818, x7 = —1.147430, - -

and we are stuck in a cycle where z,44 ~ zp for £ = 0,1,---. But if we start with a value z(
sufficiently close with the root #* ~ 1.6717, then the convergence is obtained (check!!!).

VI. When |¢/(z)| > 1 on an interval containing the root *, there is a chance of divergent oscillation.

For example, let f(z) = tan™!(z). The funtion g(z) = z—(1+2?) tan=!(z) and ¢'(z) = —2x tan=!(z).
If we start with the value zy = 1.45, then

r1 = —1.55—26, z9 =1.845932, x3 = —2.88911---.

But if we start with x¢p = 0.5, then the iteration converges to the root x = 0.

4.5 System of Nonlinear Equations

Let us present the theory for two equations and the theory for any finite number of equation can be done
in a similar way. Consider the system of two nonlinear equations

fi(z1,22) =0, fa(w1,22) = 0. (4.19)
In vector notation, we write as
fl@)=0, = (z1,22)", f(x)=(fi(z1,22), fa(w1,22))".

We assume that this system admits an isolated root z* = (x7,z3)%.

For fixed point iteration method, we define the iterative sequence as
T+l = 91(T1n, T20)s T2nt1 = 92(T1,n, T2.n)s (4.20)
where g1 and go are iterative functions. In vector notation, we write this as
Tpni1 =9g(x,), n=0,1,---

with &, = (21, 22,)7 and g(x) = (g1(z1,72), g2(x1,22))". Convergence of the fixed point iteration
method depends on the choice of the iterative function g.

To analyze the convergence of (4.20) use the following identities
where x* = (27, 23) is an isolated root of (4.19). The Taylor formula gives

gi($1,$2) = gi(xl,n,x27n) + = = (:Cl - ‘rlﬂl) + = 2 (:CQ - ZCQ,n), v = 1) 27
(9:61 8:102
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where the vector (§§fn, ézzl) lie on the line segment joining «* and x,. From (4.21) and (4.20), we have

Dgi(EL") éfZ»(x* B Dgi(&10, 650
8961 ! Ln (9:62

* * .
T; — Tiptl = (x5 —wap), i=1,2.

In matrix notation, we have

. 0g1(€80,.680)  dg1 (€8, €50) .
L1~ Tin+1 | _ ox1 Jxs L1 = Tin
Ty — Tint1 g2 (61),.650)  0ga(&l") &) T5 — Tin
oz Oxa

We denote the 2 x 2 matrix on the RHS of the above equation as

9g1 (551)711 éll) 991 (551)711 éll)

G, = Ozy Oxo>
dga(61),.65))  0ga(el’), £5))
oxq Oxao

and recall that this matrix resumbles the Jacobian matrix of the function g = (g1, g2) given by

091(L)  9g1(T)
_ ) d
G(@) = ooalle) omie) |-
Ox1 Oz
In matrix notation, we can write the above equation as
' — @1 = Gz — xy,).

We state the following convergence theorem without proof.

Theorem 4.16. Let D be a closed, bounded and convex set in the plane (we say D is convex if for any
two points in D, the line segment joining them is also in D). Assume that the components of g(x) are
continuously differentiable at all points of D, and further assume

(a) g(D) C D,
(b) A = max||G(z)|c < 1.
Then

L x = g(x) has a unique solution x* € D.

1I. For any initial point Ty € D, the iteration

Tpi1 = g(Ty)
converges to x* € D.

I |z* — xpt1]] < (|G(@")]|co + €n) |2 — @pllco with € — 0 as n — .

Proof: Omitted.

We will now see how to choose g for a given system of nonlinear equations (4.19), so as to have a
faster convergence?

Let A be a constant non-singular matrix of order 2x2. We rewrite (4.19) as
x=x+ Af(x) =: g(x).
The Jacobian matrix of g(x) is
G(x) =1+ AF(x),
where F'(x) is the Jacobian matrix of f(x) given by

0f1(X) 9f1(X)
Fx)=| o) op% |-

le 612

Choose A such that
|G(@)||e <1, @€ D.
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Practically this may not be possible. So, for a given g choose A such that
|G o) < 1.
For rapid convergence, we can choose A such that
|G (20)llo0 =0,
for sufficiently close xg to x*. This is equivalent to taking A as
A= —(F(x)) ™"
More rapid convergence is obtained when we choose
A= —(F(x,))" "
The respective method is the well-known Newton’s method given by
Tpi1 = p — (F(x,)) ' f(mn), n=0,1,-- (4.22)
Example 4.17. Consider solving the system

fi =322 4422 —1=0,
fo=a3 —8x} —1=0.

with @y = (—0.5,0.25). The Jacobian of the given system is

Of1(T)  Of1(X)
F(z) = (6}9;(136) afaz?:v)) = (-246136é §$3>
Oz Oxo o 2

L 1 3y _ 8
F~ () 7<& 3)

T 1920, 4 187, \ B &
Put & = (21, 22) = (—0.5,0.25) =: xo, we get

i (0.0164 —0.1749
F (‘”0)_(0.5246 0.2623)

The fixed point iteration is given by
Tint1 | _ [ @1n)  (0.0164 —0.1749 3zin + 4z§1n -1
Tont1 )] \Zon 0.5246 —0.2623 x%n — Sxi’ﬁn -1
For the first iteration, we have
r11) _ (—05Y) (0.0164 —0.1749 0\ [(—0.4973
xe1 )  \ 0.25 0.5246 —0.2623 0.0156 ) 0.2541

and so on.

4.6 Unconstrained Optimization

Optimization refers to finding the maximum or minimum of a continuous function f(z1, 2, -, 2y).

A point x* is called a strict local minimum of f if f(z) > f(x*) in a small neighborhood of x*. We
restrict ourselves in finding local minimum of f(x).

A necessary condition for * to be a strict local minimum is that

0f(x)
al'i

=0, i=1,2,--,n.
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Thus, the nonlinear system
of (z)
&ri
can be solved and each calculated solution can be checked as to whether it is a local maximum or minimum
or neither.

=0, i=1,2,,n

In the gradiant notation, this system can be written as
Vi(x)=0. (4.23)
where

) of \*©

To solve the system (4.23), Newton’s method can be used. The Newton’s method leads to
Tyl =X, — H(x,) 'Vf(T,), n=0,1,2,---,

where H is the Hessian matrix of f given by

0% f(x) o
nidn, L SHIST (4.24)

H(z)i;

Note that if * is strict local minimum of f, then Taylor formula can be used to show that H(x*) is
non-singular and therefore H is non-singular in a small neighborhood of x*.

Example 4.18. Given f(x1,72) = 23 + 42123 + 21 — x2. To find a point at which this function attains
its maximum or minimum, we have to solve the system (4.23). Here

5—3{1 = 323 + 423 + 1,
g—xi = 8x1x9 — 1.
Therefore, the required system of equations is
322 +4a54+1=0 (4.25)
8rixo —1=0 (4.26)

To form the Newton’s method for the above system of equations, we need the inverse of the Hessian

matrix of f given by P @) o h@)
H(z)= | o gpos | = (6010 8223
O’ f2(T) 9 fa() 8xro 811

Oxo0xq 6212

Inverse of this matrix is given by

1 4z —4x
N 1 2
H™ (@) = 8(3z% — 4x3) (4@ 3x1) '

Thus the Newton’s method for finding the maximum or minimum for the given function f takes the form

T1n+1 T1n 1 41, —4x0., 3:6%71 +4£L'%n+ 1
, _ o\ , : : : . n=0,1, -
T2 n+1 T2.n 8(31’%,” — 41‘%,,”) _4532,” 3.’L'17n 8:617”1'21” -1

When the initial guess g = (21,0, x270)T is given, the above iteration for n = 0,1,2,--- can be computed.

a
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Exercise 4

I. Fixed-Point Iteration Method

1.

Let f(z) = 0 be a nonlinear equation for which the sequence {x, }, generated by an appropriate
fixed-point iteration method, converges to a limit z*. Under what condition on the iteration
function does this limit * be a solution to the nonlinear equation f(z) = 0? Prove it.

. For each of the following equations, find the correct iteration function that converges to the desired

solution:

(a) x —tanxz =0, (b) e™® — cosx = 0.

Study geometrically how the iterations behave with different iteration functions.

Show that g(z) = m + 4 sin(z/2) has a unique fixed point on [0, 27]. Use fixed-point iteration
method with g as the iteration function and xzop = 0 to find an approximate solution for the
equaton %sin(m/Q) — 2+ 7 = 0. Stop the iteration when the residual error is less than 10~%.

If o and B3 be the roots of 2 + ax + b = 0. If the iterations

ar, +b b
an:fT and :EnH:fx a
n n

converges, then show that they converge to o and 3, respectively, if || > |3].

Let {x,} C [a,b] be a sequence generated by a fixed point iteration method with continuous
iteration function g(x). If this sequence converges to z*, then show that

|Tps1 — 2] < A |Tpny1 — T,
1—A

where \ := m[a)2]|g’(z)|. (This enables us to use |x,+1 — x| to decide when to stop iterating.)
xre|a,

Give reason for why the sequence z,+1 = 1 — 0.922, with initial guess zo = 0, does not converge

to any solution of the quadratic equation 0.92% + 2 — 1 = 0?7 [Hint: Observe what happens after

25 iterations]

Let z* be the smallest positive root of the equation 202% — 2022 — 25z + 4 = 0. If the fixed-point
iteration method is used in solving this equation with the iteration function g(z) = 23 — 2% — i+ %
for all z € [0,1] and 29 = 0, then find the number of iterations n required in such a way that
|z* — x,] < 1073,

II. Bisection Method

7.

Find the number of iterations to be performed in the bisection method to obtain a root of the
equation
20°% —52* +2=0

in the interval [0, 1] with absolute error ¢ < 1073. Find the approximation solution.

Find the approximate solution of the equation zsinz —1 = 0 (sine is calculated in radians) in the
interval [0, 2] using Bisection method. Obtain the number of iterations to be performed to obtain
a solution whose absolute error is less than 1073,

Find the root of the equation 10* + z — 4 = 0 correct to four significant digits by the bisection
method.

III. Secant and Newton-Raphson Method

10.

11.

Let z* be the point of intersection of the circle
(z+1)?%+(y—2)* =16

and the positive z-axis. Choose a value ¢ with 0.5 < ¢ < 3, such that the iterative sequence
generated by the secant method (with circle function values taken in the fourth quadrant) fails
to converge to * when started with the initial guess o = 0.5 and x; = £. Explain geometrically
why secant method failed to converge with your choice of the initial guess (zq, 21).

Given the following equations:
(a2 —2—-10=0, (b)z—e*=0.



12.

13.

14.

15.

16.

17.

18.
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Determine the initial approximations for finding the smallest positive root. Use these to find the
roots upto a desired accuracy with secant and Newton-Raphson methods.

Find the iterative method based on Newton-Raphson method for finding v/N and N'/3, where
N is a positive real number. Apply the methods to N = 18 to obtain the results correct to two
significan digits.

Find the iterative method based on the Newton-Raphson method for approximating the root of
the equation sinz = 0 in the interval (—m/2,7/2).

Let o € (—7/2,7/2) and « # 0 be such that if the above iterative process is started with the ini-
tial guess xo = a, then the iteration becomes a cycle in the sense that x,, 1o = x,, forn =0,1,---.
Find a non-linear equation g(z) = 0 whose solution is a.

Starting with the initial guess x¢ = «, write the first five iterations using Newton-Raphson method
for the equation sinz = 0.

Starting with the initial guess x¢ = 1, perform five iterations using Newton-Raphson method for
the equation g(x) = 0 to find an approximate value of a.

Let {x,}22, be the iterative sequence generated by the Newton-Raphson method in finding the
root of the equation e~ = x, where a in the range 0 < a < 1. If 2* denoted the exact root of
this equation and xy > 0, then show that

1
|[a* — xpyq] < 5(:0* - zn)Q.

Consider the equation xsinz — 1 = 0. Choose an initial guess x¢p > 1 such that the Newton-
Raphson method converges to the solution z* of this equation such that —10 < z* < —9. Compute
four iterations and give an approximate value of this z*. For the same equation, choose another
initial guess xp > 1 such that the Newton-Raphson method converges to the smallest positive root
of this equation. Compute four iterations and give an approximate value of this smallest positive
root.

Give an initial guess xy for which the Newton-Raphson method fails to obtain the real root for
the equation %x3 — 22 + 2+ 1 = 0. Give reason for why it failed.

Can Newton-Raphson method be used to solve f(z) = 0 if
(i) f(x) = 2% — 14z + 507

(i) f(x) = 2'/37

(i) f(z) = (x — 3)"/? with 2o = 47

Give reasons.

Consider the distribution function for the random variable X given by
Flz)=1-¢ @02, 0<z<l1.

Use Newton-Raphson method to find a value of 0 < z < 1 such that P(X > z) = siny, where
y = x2. Here P denotes the probability. (Note: A distribution function F' of a random variable X
is defined for any real number x as F'(z) = P(X < z). Therefore, the required value of x is pre-
cisely a solution of the nonlinear equation obtained using the fact that P(X > z) = 1-P(X < z).)

IV. System of Nonlinear Equations

19.

20.

Using Newton’s method to obtain a root for the following nonlinear systems:
() 22 + 22 — 221 — 202+ 1=0, 21+ 22 — 27122 = 0.
(ii) 422 + 23 —4 =0, 21 +x9 —sin(z; — 22) = 0.

Use Newton’s method to find the minimum value of the function f(z) = 2} + z122 + (1 + 22)%
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Interpolation by Polynomials

Suppose that a function f(x) is not defined explicitely, but its value at some finite number of points
{z;,9 = 1,2,---,n} is given. The interest is to find the value of f at some point = lying between z;
and zyp, for some j,k = 1,2,--- ,n. This can be obtained by first approximating f by a known function
and then finding the value of this approximate function at the point x. Such a process is called the
interpolation. The interpolating function is usually chosen from a restricted class of functions, namely,
polynomials. In this chapter, we study the methods of interpolating a function. In section 2.1, we introduce
Lagrange interpolation. Section 2.2 introduces the notion of divided difference and Newton divided differ-
ence formula. The error analysis of the interpolation is studied in section 2.3. The advanced interpolation
is presented in the final section.

5.1 Lagrange Interpolation

The basic interpolation problem can be posed in one of two ways:

I. Given a set of nodes {z;/ i =0,1,---,n} and corresponding data values {y;/ ¢ = 0,1,--- ,n}, find
the polynomial p,(x) of degree less than or equal to n, such that

IT. Given a set of nodes {z;/i=0,1,---,n} and a continuous function f(z), find the polynomial p,,(x)
of degree less than or equal to n, such that

Pn(xi) = f(x;), i=0,1,---n.

Note that in the first problem we are trying to fit a polynomial to the data, and in the second case, we
are trying to approximate a given function with the interpolating polynomial. Note that the first problem
can be viewed as a particular case of the second.

Theorem 5.1 (Lagrange Interpolation Formula).

Let xg, x1, -+, ©p, € I = [a,b] be n+ 1 distinct nodes and let f(x) be a continuous real-valued function
defined on I. Then, there exists a unique polynomial p, of degree < n (called Lagrange Formula for
Interpolating Polynomial), given by

pu(@) =S flanl(@), (z)= [[ ——k=0,---,n (5.1)
k=0 1=

such that
pn(x) = f(z;), i=0,1,-- ,n. (5.2)

The function l(x) is called the Lagrange multiplier.
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Proof: Clearly p,, defined by (5.1) is a polynomial of degree < n that satisfies (5.2). All that remains
is to show the uniqueness of the polynomial. To this end, assume that there exists another interpolating
polynomial ¢(x) of degree < n that satisfies (5.2) and define

r(x) = pa(z) — q(2).

Since both p,, and ¢ are polynomials of degree less than or equal to n, so is their difference. However, we
must note that

r(xi) = pn(xi) — q(@;) = f(@;) — f(x;) =0

for each node point x;, ¢ = 0,1, --- ,n. Thus, we have a polynomial of degree less than or equal to n that
has n + 1 roots. The only such polynomial is the zero polynomial, ie., r(z) = 0 or p,(z) = ¢(z) and thus
pn(x) is unique. O

Example 5.2. Consider the case n = 1 in which case we have two distinct points x¢ and x7. Then

lo(l‘)—x_xl, llx_w—l'o
To — T1 T — o
and
pi(@) = f(zo)lo(x) + f(a1)l ()
r—x Tr—x
= J@o)———+ fla1) ——
xro — T1 Ty — To
_ flro)(w — 1) — fa1)(x — x0)
o — T1
x1) — f(x
= flag) + LI g (53)
1 — X9
This is the familiar case of linear interpolation. O
0.826

Example 5.3. To obtain an estimate of e using the function values

e%82 ~ 2.270500, €83 ~ 2.293319.

Denote x¢ = 0.82, f(x¢) = 2.270500, 1 = 0.83 and f(z1) = 2.293319, and apply the the formula (5.3) to

get
2.293319 — 2.270500

0.83 —0.82

p1(z) = 2.270500 + (z — 0.82) = 2.2819x + 0.399342.

In particular, taking x = 0.826, we get
p1(0.826) =~ 2.2841914.

The true value is
0826 ~ 22841638,

to eight significant digits.

Note that if we use quadratic interpolation with an additional node xo = 0.84 and f(x2) = 2.316367,

then the approximation value is
p2(0.826) &~ 2.2841639,

which is more accurate than the linear interpolation. O

Remark 5.4. The above example gives us a feeling that if we increase the degree of the interpolating
polynomial, the polynamial approximates the orginal function more accurately. But this is not in general
true as we will see in example 2.12. O

Remark 5.5. Although the Lagrange interpolation formula gives the existence and uniqueness of a poly-
nomial interpolation for a given function, the main disadvantage is that in calculating the polynomial
pi(x), no advantage can be taken of the fact that one already has py_1 (x) available. Thus, it is very expen-
sive to go for Lagrange interpolation when it is not known apriori the minimal degree of the polynomial
to get the best approximation to a given function. a
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5.2 Newton Interpolation and Divide Differences

In the previous section, we have seen that in the Lagrange formula of interpolating polynomial for a
function, if we decide to add a point to the set of nodes to increase the accuracy, we have to completely
recompute all of the [;(x) functions. In other words, we cannot express p,,+1 in terms of p,,, using Lagrange
formula. An alternate form of the polynomial, known as the Newton form, avoids this problem, and allows
us to easily write p,41 in terms of p,.

The idea behind the Newton formula of the interpolating polynomial is to write p,(x) in the form
(called Newton form)

pn(x) = Ag+ A1(z —20) + As(x —xz0)(x —21) + -+ An(x —20) -+ (T — Tp—1) (5.4)

where the coefficients A;, i = 0,1,--- ,n are to be obtained. From the interpolation condition that this
polynomial agrees with the function value at the node points, we get

Ao = pn(@0) = f(w0).

For x = x1, we have

A = Pn(71) — Ao _ f(x1) — f(xo)

= f[.%'o,wl].
1 — X9 Tr1 — X9

For x = x5, we have

_ palm) —pi(en) _ f)—pae)
A= (22 — o) (w2 —x1) (22 —mo)(22 —21) Flwo, w1, w2l.

In this way we can obtain all the coefficients.

The advantage in this form is that if p,, is already calculated, then p, 41 can be written as

Pry1(x) = pu(z) + Ap1(z — 20) - (2 — 7).

This also shows that the coefficient A, 11 in the Newton form (5.4) for the interpolating polynomial is
the leading coefficient, ie., the coefficient of "%, in the polynomial p, 1 of degree < n 4 1 which agree
with f(z) at o, ,Zpy1. We summarize this in the following theorem.

Theorem 5.6 (Newton Interpolation Formula).

Let p,, be the polynomial that interpolates a continuous function f(x) at (n+ 1) distinct nodes xz; € I,
fori=20,1,--- n. Then the polynomial p,+1 that interpolates [ at (n + 2) distinct nodes x; € I, for
1=0,1,--- ,n+1 is given by

Pnt+1(2) = pn(@) + flro, 1, @pga]wn (2) (5.5)
where
T — Pn{Tn
Flooar, - o] = L) ZPnlEnst) g ) (5.6)
Wn (Tn+1)
is called the (n + 1)th divided difference of f(x) at points xq, x1, + -+, Tpy1 with
wp(z) = H(z —T;). (5.7)

The formula (5.5) is called the Newton Formula for Interpolating Polynomial.

Proof. Since we know that the interpolation polynomial is unique, all we have to do is to show that p,, 1,
as given in (5.5), satisfies the interpolation conditions by assuming that p,, indeed satisfies this condition.

For 0 < k < n, we have w, (zr) = 0 and so we have

Prnt1(zk) = pol@r) + flro, z1, -+ s Tpsr]wn(zk) = po(zr) = f(2k).
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Hence, p,+1 interpolates all but the last point. To check for z, 1, we observe

Pr1(@nt1) = Pu(@nt1) + flzo, 21, Tnga]wn (@ns1)
= pn(anrl) + f(szrl) - pn(anrl)
= f(wn-i-l)-
Thus pp+1 interpolates f(z) at all the nodes. Moreover, it clearly is a polynomial of degree less than or
equal to n + 1, and so we are done. O

Example 5.7. As a continuation of example 2.2, let us try to contruct the linear interpolating polynomial
of a function f(x) in the Newton form. In this case, the interpolating polynomial is given by

p1(x) = po(x) + flzo, z1]wi(x) = flzo] + flzo, 21](z — o),

where
o) — f(x
flwo] = f(zo),  flwo,21] = f(o) = /@) (5.8)
To — T
are the zeroth and first order divided differences, respectively. O

Algorithm 5.8 (Construction of Divided Difference).
input: nx(i),y(i) (i=0,1,2, ... ,n)

a(0) = y(0)

for k=1 to n do
p=0
w=1

for j = 0 to k-1 do
p=p+a(j)xw
w=w x (x(k) - x(j))
end for
a(k) = (y(k) - p)/w
end for
output: a(k) (k=0,1,2, ... ,n)

An alternate way of deriving the divided difference coefficients is by means of a divided difference
table.

The divided difference table is constructed by obtaining higher order divided differences recursively
using lower order divided differences. The second order divided difference is given by (using (5.6)
and (5.8))

f(z2) —p1(z2)

f[:CO’xl, z2] (302 - 960)(362 — 1)

_ f(x2) _ p(zo) _ flzo, z1]wo (2)
(w2 —@o)(w2 —21) (w2 —wo)(w2 — 1) (22 — @o) (22 — 71)

B f(x2) B f(x0) ~ f@) = f(=@o)
(@2 —@o)(w2 —21) (w2 —wo)(w2 — 1) (21 — @o) (22 — 21)

_ f(z2) (o) _ f(z1)
(w2 —wo)(w2 —21) (21— @0)(@2 —20) (21— @0)(w2 — 1)

f(z2) f (o)

(2 —wo)(v2 —21) (71 — 20)(T2 — 0)

1 1
~f@) ((352 —x0) (w2 — 1) - (x1 —z0)(22 — xo))
flx2) — flx)  flz1) — f(20)

(z2 —wo)(w2 —21) (21 — 20) (22 — 20)

Therefore,
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Flwo,@r, ea] = L1T2L = flzo, 2] (5.9)

T2 — X0

Similarly, we can derive the third order divided difference

flzo, w1, 2, 73] = fler. 2y, 23] = flao. o1, 2] (5.10)
€r3 — Io

In general, the nth order divided difference formula, sometime called Newton divided difference
is defined as
f[xlazQa e 7$n] - f[x();zla e 7$n71]

Tn — T

(5.11)

f[:cO;zl;"' 7$n] =

A simple way to generate divided difference for Newton interpolation formula (5.5) may be through the
divided difference table shown in table 1.

Xq f[] :f() f[’] f[aa] f[”’] f[””]
) o]
f[$07$1]
T flz1] flxo, w1, 2]
fla, x2] flxo, w1, 2, 3]
T2 f[ﬂﬂz] f[$1,362,363] f[l’o, T1,T2, 303,364]
f[$2,363] f[$1,362,303,$4]
T3 flzs] flwa, w3, 24
f[$37$4]
4 flz4]

Table 1. Divided-Difference Table

Let the nodes xg, x1, -+, x, be equally spaces, that is, z; = x¢9 + th, « = 0,1,--- ,n. Define the
difference operator
Af(zi) = f(wi +h) = f(@:) =t fiy1 — fi (5.12)
Repeated application of the difference operators lead to the followoing higher order differences
A" f(xg) = A" i — A™THE (5.13)

The Newton divided difference can be written in the above notation as

flxy) = fzo) 1

flzo,21] = —n EAfO
flor,wo] = flwo,m1] — 54K — 3Af 1Y
e = == A
f[iCO,l'l,l'Q] T2 — X0 2h 2'h2 fO
By induction, we can show that
1
f[l'o,xh e ,zn] = o Anfo (514)

The Newton’s interpolation formula (5.5) for equally spaced nodes with step size h is thus given by

pn(e) = D (A4 fo) wi () (515)
k=0""

5.3 Error in Polynomial Interpolation

Let f(z) be defined on an interval I = [a, b]. How good a polynomial p, (x) of degree < n interpolates the
function f(x) at n + 1 nodes xq, 1, - -+, 2, in I?7 This question leads to the analysis of interpolation
error e, (z) of p,(z) given by

en(z) = f(2) — pulz). (5.16)

The following theorem provides a formula for the interpolation error.
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Theorem 5.9 (Polynomial Interpolation Error Formula).

Let f € C"*([a,b]) and let the distinct nodes xo, 21, -+, T, be in [a,b]. Then, for each T € I with T # x;
(t=0,1,---,n), there is a & € (a,b) such that

wy,(T)

en(®) = gy /) (5.17)
where wy, (x) s given in (5.7).

Proof. Let p,4+1(z) be the polynomial of degree < n + 1 which interpolates f(z) at n + 2 nodes
x0, 1, &y and T. Then pp41(Z) = f(Z). From (5.5), we have

pn+1(x) = pn(x) + f[SC(), 5y T, i']wn(x)
It follows that
Therefore, we have
en(‘i') = f['roa o axnai‘]wn(j)- (518)

Forany t € I, t # x; (i =0,1,---,n), define the function

G(x) - en(‘r) - wn(t en(t)'
Then, for i =0,1,--- ,n,
Gla;) = enla;) — IZ;(?)) en(t) =0

and
G(t) = en(t) —en(t) = 0.

Thus, G has n + 2 distinct zeros in I. Using the mean value theore, G’ has atleast n + 1 distinct zeros.
Inductively, GU)(x) has n +2 — j zeros in I, for j = 0,1,--- ,n + 1. Let £ be a zero of G"+1) (),

G (€)= o0.
Since eV (z) = F™ D (z) and w"™ (x) = (n + 1)1, we obtain

(n+1)!

G(n—i—l) _ (n+1) - (1),
(@) = £ 00) - )
Substituting x = £ and solving for e, (t),
wn(t) ()
n(t) = . .
ealt) = ol 10D g
Taking t = T, we get the desired result. ad
Definition 5.10 (Infinity Norm).
If f is continuous on a closed interval I = |a,b], then the infinity norm of f denoted as || f|lco.r is
defined as
1 £lloo,r = max]|f(z)]. (5.19)

Example 5.11. Let us find a bound for the error in linear interpolation given in example 2.5. The linear
interpolating polynomial for f(z) at ¢ and z; is given by

p1(x) = po(z) + flwo, z1]wi(x) = f(x0) + flz0, 21](T — 20),

where f[zg,21] is given by (5.8). Therefore, the error e (z) is given by (by (5.17))
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(x — x0)(x — 1)

2 'f”(g)a

e1(z) =
where ¢ depends on z. If @ € T = [z, x1], then § € (x9,x1). Therefore,

le1(z)] < |(z — 20) (2 — 21)| %

Note that the maximum value of |(x — xo)(z — x1)| for all x € [xg,x1] occurs at © = (zo + z1)/2 and
therefore, we have

32

(o a0)(z — m)] < TS

Using this inequality, we get the bound for error ey (z) as

1
ex(@)] < (o1 — ) 1N,
for all z € [zg, x1], which further implies
1
lexlloor < (a2 — o) M lowt

a

Quite often, the polynomial interpolation that we compute is based on the function data subjected
to rounding error. Let us denote the approximate value of f(zx) by f(xzx) for each node point xy,
k=0,1,---,n. Then the corresonding polynomial interpolation using Lagrange formula gives

n

Pu(@) = Flaw)lk(z)

k=0

and we want to estimate the total error, which is given by

f(@) = pn(x) = (f (@) = pu(@)) + (Pn(z) — Pn(2)), (5.20)
where the first term on the right hand side the error due to polynomial interpolation whose formula is
given by (5.17) and the second term is the error due to rounding.

We now turn our attention to analyze the error due to rounding. Let
f(.ka) - f('rk) = €k and ||€||00 = max{|ek|/kz = 07 15 e an}v

then we have

n

[P () = Bu(@)] = | D (f(a@x) = flan)li(@)

k=0
n
< Ylelloo Y _I1elloc
k=0

Although the error due to rounding looks bounded, the sum on the right hand side can grow quite large
as n increases, especially, when the nodes are equally spaced as we will study now.

Assume that the nodes are equidistant on the interval [a, b], with zp = a and z, = b, and xp41—x; = h
forall k=0,1,--- ,n — 1. We write

zx=a+kh, k=0,1,--- ,n, andz=a+nh,0<n<n.

Therefore,
nor—w on—i
l = = k=0, ---
k('r) . H TE — T . H ,L_kv ) ) 1
1=0,i#k 1=0,i#k

Hence, the Lagrange multipliers are not dependent on the choice of a, b or h. They depend entirely on n,
7 (which depends on z) and the distribution of the nodes. The figure 2.1 shows the function
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l(z) = Y lix(x)|
k=0

for various values of n and figure 2.2 shows the n in the z-axis and the function

M, :ZHlkHoo
k=0

in the y-axis. In fact, this behavior of the Legrange multiplier can also be analyzed theoretically, but this
is outside the scope of the present course.

n=5 n=10
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Fig. 5.3. Interpolation polynomial for f(z) = 1/(1 + 25z%) for n = 4, n = 6 and n = 8 respectively.

With this knowledge we now take the equation (5.20) which gives
1f = Plloe < If = Palloo + lIpn = Bllcon < I1f = Pnlloo + [l€lloo M. (5.21)

As it is clear from the figure 2.2 that M,, increases exponentially with respect to n, although we have a
very small value for the rounding error ||¢||, a large enough n can bring in a significantly large error in
the interpolated polynomial as illustrated in the example.

Example 5.12. Consider the function f(x) = 1/(1 + 2522). The polynomial interpolation with n = 4,
n = 6 and n = 8 are depicted in figure 2.3. O

The above example shows that the polynomial interpolation of higher degree suffers very badly due
to rounding error. However, this is not true for any function as the exponential function gets better
approximation as the degree of polynomial increases. A more deeper analysis is required to understand
the reason behind the behavior of rounding error in polynomial interpolation. But this is outside the
scope of this course and therefore is omitted.
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5.4 Piecewise Linear and Cubic Spline Interpolation

Quite often polynomial interpolation will be unsatisfactory as an approximation tool. This is true if we
insist on letting the order of the polynomial get larger and larger. However, if we keep the order of the
polynomial fixed, and use different polynomial over different intervals, with the length of the intervals
getting smaller and smaller, then interpolation can be very accurate and powerful approximation tool.

Let us start with linear interpolation over an interval I = [a, b] which leads to

f(b) = f(a) _x—b T —a
IO -1 ()= 220 pay 4 £

pi(z) = f(a) + fla,b](z — a) = f(a) + [ (0).

With the nodes xg = a, o = b and g < 1 < x2, we can obtain a quadratic interpolation polynomial
as discussed in the previous sections. Instead, we can interpolate the function f(x) as two piece of linear
polynomials, one in [zg, 21] and another one in |27, z2]. Such polynomials are defined as

xr — 2 T — X0 r — T2 xr — 2

f(xo) + f(x1), pra(x) = fz1) +

To — 1 xr1 — o €r1 — T2 T2 —T1

p1a(r) = f(x2)

and the interpolating polynomial is given by

_ I pa(x) ,z € [xo, 7]
Plw) = {pl,Q(I) , X € [x1, x2].

Note that P(x) is a continuous function in [a, b], which interpolates f(z) and is linear in [a, 1] and [z1, b].
Such a polynomial is called piecewise linear polynomial. Although piecewise linear interpolation is
continuous, it is not differentiable at the nodes and also, it makes a poor approximation to f(x). We wish
to find an interpolation function that is smooth and does a better approximation to f(x). This can be
achieved by spline interpolation.

Definition 5.13 (Spline Function).

A spline function of degree d with nodes x;, i = 0,1,--- ,n is a function s(x) with the properties

1. On each subinterval [x;—1,2;], it =1,2,--- ,n, s(x) is a polynomial of degree < d.
I1. The interpolation condition s(x;) = f(x;), i =0,1,--- ,n is satisfied.
II1. s(x) and its first (d — 1) derivatives are continous on [a,b].
We shall now study how we can obtain the interpolation of a function f(z) as spline functions instead of

polynomials. For the sake of simplicity, we restrict only to cubic splines. The construction of the spline
interpolation s(x) of a function f(x) is as follows:

Step 1: Let us denote by My, ---, M,,
M; =s"(x;), i=0,1,---,n
and first obtain s(x) in terms of M;’s which are unknowns.
Step 2: Since s(z) is cubic on each [z;_1, 2;], the function s”(x) is linear on the interval such that
s (wi—1) = M;—1, §"(x;) = M,.
Therefore, it is given by

i —x) M, —xi_1)M;
SI/(.I‘) = (:E ZC) Lt (l‘ :C 1) s Ti—1 S x S X, (522)
Lj — Ti—1

Integrating (5.22) two times with respect to x, we get

(xz- — $)3Mi_1 + ($ — .Ti_l)sMi

= K K
S(l') 6(1‘1 — 1'1',1) 6(1‘1 — 1'1',1) + e + >

where K7 and K5 are integrating constants to be determined by using the conditions s(z;—1) = f(2;-1)
and s(x;) = f(x;). We have
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Ky = f@i) = flwioa)  (Mi— Mi—a)(@i — i)

Ty — Tj—1 6
o, = Tif @) —wia f(zi)  (Mioazi — Mywioa) (@ — 2i-1)
2 Xr; —XTi—1 6

Substituting these values in the above equation, we get

(i —2)’Mia + (=i 1)’ M | (wi — ) f(@ia) + (@ —2i1) f (@)

s(@) = 6(z; — xi-1) N T — Ti—1
1
- 6(961 —xi—)[(xi — )My + (v —2i-1)Mi], i1 <z <3y (5.23)
Formula (5.23) applies to each of the intervals [z1, z32], - - -, [¥n—1, ). The formulas for adjacent intervals

[€;—1, ;] and [x;, 2,41] will agree at their common point & = z; because of the interpolating condition
s(x;) = f(x;). This implies that s(z) will be continuous over the entire interval [a, b]. Similarly, formula
(5.22) for s”(x) implies that it is continuous on [a, b].

Step 3: All that remains is to find the values of M; for all i = 0,1,--- ,n. This is obtained by ensuring
the continuoity of s'(x) over [a, b], ie., the formula for s'(x) on [z;_1, 2;] and [z;, x;41] are required to give
the same value at their common point 2 = z;, for ¢ = 1,2,--- ,n — 1. After simplification (?77), we get
the system of linear equations for i =1,2,---n —1

Tj — Ti—1 LTit1 — Xy

M, + Tt = Tic1 gy My = f@in) = fls)  flzi) = flwio) (5.24)

6 3 6 Tit1l — T T — Tiq
These n — 1 equations together with the assumption that
My =M, =0 (5.25)
leads to the values of My, My, ---, M, and hence to the interpolation function s(x).

A spline constructed above is called a natural spline.

Example 5.14. Calculate the natural cubic spline interpolating the data {(1,1), (2, 3), (3, 3), (4, 1)} The

»3
number of points is n = 4 and all 2; — a;_; = 1. The system (5.24) together with My = M5 = 0 becomes
2 1 1 1 2 1
—My+=-M3z==, =My +=-Mz=—
gt gMe =3, gt g = 0
which gives My = £, Mj = 0. Substituting these values into (5.23), we obtain
%zg’—i:ﬂ %z+% <2 <2
s(x) = 7$x3+%z2—§x+% ,2<x <3
-+ 1 3< <4

Remark 5.15. There is a relationship between the degree of spline approximation n (say) and the degree
of smoothness, N (say) expected. The degree of the polynomials is related to the number of unknown
coefficients ie., the degrees of freedom Dy (say), in the problem, whereas N is related to the number
of constraints D, (say). We expect that the degrees of freedom and the number of constraints have to
balance in order for the spline to be well-defined.

Let there be m subintervals, each being the domain of definition for a seperate polynomial of degree
n, we have a total of Dy = m(n+ 1) degrees of freedom. On the other hand, there are m + 1 interpolation
conditions (ie., s(x;) = f(z;), 4 =0,1,--- ,m) and m — 1 interior nodes where continuity of s(z) and its
N derivatives are expected to be continuous and thereby, there are N 4 1 continuity conditions imposed
on each of m — 1 interior point. Therefore, D, = m + 1+ (m — 1)(N + 1) constraints. If we consider the
difference Dy — D, we get

Dy—D.=mn+1)—m-1—-(m—-1)(N+1)=mn—m-mN+N=m(n—1—-N)+N.

We can make the first term vanish by setting n — 1 — NV = 0. This establishes a relationship between
the polynomial degree of the spline and smoothness degree. For example, if we consider the cubic spline,
we need to have N = 2. However, we will not have the number of constraints equal to the number of
degrees of freedom, since Dy — D. = N. Thus, we need to add N additional constraints, which in the
case of natural cubic spline we have My = M3 = 0. Partly for this reason, odd polynomial order splines
are prefered, because if n is odd, then N is even and the additional constraints can be imposed equally
at the two endpoints of the interval. O
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Exercise 5

I. Lagrange Interpolation

1.
2.

Obtain Lagrange interpolation formula for equally spaced nodes.

Using Lagrange interpolation formula, express the rational function f(x) = i 30’ +atl

1) (z—2)(z—3) 52

sum of partial fractions.

Construct the Lagrange interpolation polynomial for the function f(x) = sinma, choosing the
points zg = 0, 1 = 1/6, z3 = 1/2. Answer: 7/2x — 32°
Find a cubic polynomial using Lagrange’s formula for the data: [ 21 3|

POy & Lastang @] 3[]19]

Answer: p3(z) =23 — 3z + 1

Use Lagrange interpolation formula to find a quadratic polynomial ps(z) that interpolates the
function f(z) = e=® at myp = —1, #; = 0 and 5 = 1. Further, find the value of py(—0.9) with
rounding to six decimal places after decimal point and compare the value with the true value

f(—0.9) of same figure. Find the percentage error in this calculation.
Answer: py(r) = 1 — 0.63212122, Error ~ 9.69%

Given a table of values of the function f(x)

T 321.0] 322.8| 324.2| 325.0
f(x)]2.50651(2.50893|2.51081|2.51188
Compute the value f(323.5). Answer: 2.50987
Let p(z) be a polynomial of degree < n. For n + 1 distinct nodes x, k = 0,1,--- ,n, show that

we can write p(x) = Zp(zk)lk(x).
k=0

n

The functions l(x) = H
i=0,i#k

Xr — X

k=20, ,n are the weight polynomials of the corresponding
Tk — 4

nodes and are often called Lagrange multipliers. Prove that for any n > 1, Zlk(t) = 1.
k=0
[Hint: Use problem 7 with an appropriate polynomial p)
Let x € [a.b], k = 0,1,--- ,n be n 4+ 1 distinct nodes and let f(x) be a continuous function
on [a,b]. Show that for x # xy, k = 0,1,--- ,n, the Lagrange interpolating polynomial can be
represented in the form
- f(zr)
pn(z) = w(x —
(z) ( )Z(ac — zp)w (xg)

k=0

where w(x) = (x — x¢)(x — x1) - - - (x — ). Verify the interpolation condition.

II. Newton Interpolation and Divided Difference

10.

11.

For the function data given in the table below, fit a polynomial using Newton interpolation formula
and find the value of f(2.5).

x | -3[-1 o] 3] 5
F(2)]-30[-22]-12[330[3458

Answer: py(x) = bzt + 923 — 2722 — 212 — 12, py(2.5) = 102.6875.
Calculate the nth divided difference of f(x) =1/x Answer: (—1)"/(zox1 - xp)
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I11.

12.

13.

5 Interpolation by Polynomials

Let xg, x1, - -+, x, be n+ 1 distinct nodes in the closed interval [a,b] and let f(z) be n+ 1 times
continuously differentiable function on [a, b]. Then,

i. show that the divided differences are symmetric functions of their arguments, that is, for an

arbitrary permutation 7 of the indices 0,1,--- 4, we have f[zo, - ,x;] = flTr0, " , Tril-
ii. show that flzo, 21, - ,xi—1,2] = flxo, 21, - ,@i—1, 2]+ flro, 21, -, 24, x| (x — 2;), for each
t=1,---,n and for all z € [a, b].
d
iii. show d—f[xo, sz, 2] = flro, @1, T, 7]
T
Let f(x) be a real-valued function defined on I = [a,b] and k times differentiable in (a,b). If
xo, T1, -+, T are k + 1 distinct points in [a, b], then show that there exists £ € (a,b) such that
(k)
flwo, -+ 6] = fk_l(f)

Error in Interpolating Polynomials

14.

15.

16.

17.

18.

19.

Let xg, 1, -+ -, , be n+ 1 distinct nodes where instead of the function values f(z;), the corre-
sponding approximate values f (z;) rounded to 5 decimal digits after decimal point. If the Lagrange
interpolation polynomial obtained from the approximate values f(z;) is fn(z), then show that
the error at a fixed point Z satisfies the inequality

pa@) ()] < 5107 4@,
k=0

where p, (Z) is the Lagrange interpolated polynomial for exact values f(z;) (¢ =0,1,--- ,n).

Let p1(z) be the linear Newton interpolation polynomial for data (6000, 0.33333) and (6001,
—0.66667). If the calculation is performed with 5 decimal digit rounding, then show that the
process of evaluating pi(x) in the form py(z) = f(xo) + Afo(xr — z0) at 2 = 6000 and = = 6001
involves less error than evaluating the same linear polynomial in the form py (x) = Afoz+ (f(x0) —
Afoxo) =: mx 4 a at these points. Find the percentage error in each case.

Let xg, 21, -+ ,z, be distinct real numbers, and let f be a given real-valued function with n + 1

continuous derivatives on an interval I = [a,b]. Let t € I be such that t # z; for i = 0,--- ,n.
Then show that there exists an & € (a, b) such that

- (t—a0) - (t — )

en(t) = 1(0) = > _f(@n)lu(t) = ——r =

k=0

Feree),

t—x;
where [ (t) = H x_,kzzO,---,n.

Given the square of the integers NV and N + 1, what is the largest error that occurs if linear
interpolation is used to approximate f(x) = 22 for N <2 < N + 17 Answer: 0.25

The following table gives the data for f(z) = sinz /2%

z 0.1] 02] 03] 04] 05
f()]9.9833]4.9667]3.28362.4339]1.9177|

Calculate f(0.25) as accurately as the number of figures shown in the table

(a) by using the data in the table and using Newton’s interpolation formula

(b) by first tabulating « f () with rounding the same number of figures as in the table and then
using Newton’s interpolation formula.

(¢) Find the error in each case and explain the difference between the results in (a) and (b).
Answer: (a) 3.8647 (b) 3.9585 (c) 0.0469 for (a) and 0.000005625 for (b) (you may perform this

calculation with more accurace)

Determine the spacing h in a table of equally spaced values of the function f(x) = \/x between
1 and 2, so that interpolation with a second-degree polynomial in this table will yield a desired
accuracy.

IV. Cubic Spline Interpolation

20. Obtain the cubic spline approximation for the function given in the tabular form :c

33|244

—
E
—
DO
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Numerical Differentiation and Integration

There are two reasons for approximating derivatives and integrals of a function f(x). One is when the
function is very difficult to differentiate or integrate, or only the tabular values are available for the
function. Another reason is to obtain solution of a differential or integral equation. In this chapter we
introduce some basic methods to approximate derivative and integral of a function either explicitely or
by tabulated values.

In section 1, we obtain numerical methods to find derivatives of a function. Rest of the chapter
introduce various methods for numerical integration.

6.1 Numerical Differentiation

Numerical differentiation methods are obtained using one of the following three techniques:

I. Methods based on Finite Difference Operators
II. Methods based on Interpolation
ITI. Methods based on Undetermined Coefficients

We now discuss each of the methods in details.
1. Finite Difference
The most simple way to obtain a numerical method to approximate the derivative of f(z) is using the

definition of derivative given by
Fo) — i FE )~ @)

h—0 h ’
which justifies the usage of the approximation formula

flz+h) - f(z)

J@) ~ HE

=: Dy f(x) (6.1)

for a small value of h. D f(x) is called a forward difference formula for the derivative of f(z) with
step size h.

To find a formula for error, we use Taylor’s theorem
h2
fl@+h) = fz) +hf'(z) + 5 ()
for some ¢ between x and = + h. Substituting in the right side of (6.1), we obtain
1 / h’2 1 / h’ 1
Dpf(z) =5 ¢ [f@) +hf'(2) + o fe)| = fla) o = f(z) + 5f"()

Therefore, the required error is given by

(@)~ Duf(a) = 5 £(c). (62)
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If we consider the left hand side of (6.2) as a function of h, ie., if g(h) = f'(x) — Dpnf(x), then we
see that |g(h)/h| = —1|f”(c)|. If we assume f” to be bounded by a constant M > 0, then we see that
lg(h)/h| < M/2, This shows that when f € C?(I) for some closed and bounded interval I, then g = O(h),
which we say that the forward difference formula D} f(x) is of order 1 (order of accuracy).

The derivative of a function f can also be defined as

h—0 h ’

and

. flath) = flz—h)
") =1 .
f(w) = i, 2
The first definition gives the backward difference formula of order 1 as

fﬁgzﬂﬁl%ﬁlﬂzjgﬂ@. (6.3)

The error for this formula can be obtained similar to that of the forward difference formula. The second
definition gives the central difference formula

fla+h) = flxz—h)

- — D) (x) (6.4)

f'z) ~

To obtain the error for the central difference formula, we use the Taylor’s theorem to obtain

h? h3
fla+h) = fl@) +hf'(z) + 5 f7(@) + 57 7 (1)
where ¢ lies between x and x 4+ h, and

h3
= /" (e2),

Fle—h) = f(&) ~ hf'@) + o @) —

where ¢y lies between x — h and x. Therefore, we have

3

B ) + 17 (ea).

fx+h)— f(x—h)=2hf"(z)+ 3l

Since f"(x) is continuous, by 1.4 of tutorial 1, we see that
P (en) + (e2) = 207"(€)
where ¢ € (x — h,z + h). Therefore, we obtain the error formula as
(@) = Dp(f(2)) = ——f"(c) (6.5)

where c lies between © —h and z+ h. Clearly, the central difference formula is of second order. Geometrical
interpretation of the three primitive difference formulae is shown in figure 3.1.

x-h M x+h

Fig. 6.1. Geometrical interpretation of difference formulae.
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Example 6.1. To find the value of the derivative of the function given by f(x) = sinz at x = 1 with
h = 0.003906, we use the three primitive difference formulas. We have

F(x — h) = £(0.996094) = 0.839354,  f(z) = f(1) = 0.841471,  f(z + h) = £(1.003906) = 0.843575.

I. Backward difference: Dj f(z) = {&=E=1 — 541935
1. Central Difference: DY (f(x)) = L&H_I@=h) — (540303
11 Forward Difference: D f(x) = {&HI=I@) — 538670,

Note that the exact value is f/(1) = cos 1 = 0.540302.

2. Interpolation

An alternate way to obtain the same difference formulae as obtained above, we can also use the
polynomial interpolation introduced in chapter 2. Thus, to calculate f’(x) at some point & = t, we use
the formula

f'(t) = P (1),
where p, () denotes the interpolation polynomial of f(x) with degree < n. Many different formulas can
be obtained by varying n and by varying the placement of the nodes zg, - - - , z, relative to the point ¢ of

interest. For instance, if we take n = 1, the linear interpolation polynomial is given by
p1(@) = f(xo) + flzo, z1](x — o).
Hence, we may take
f'(@) = pr(x) = flwo, 1] (6.6)

In particular, if we take xg = x and x1 = = + h for a small value h, we obtain the forward difference
formula. If we take £ = x — h and x; = x for small value h, we obtain the backward difference formula.
Finally, if we take o = x — h and 1 = = + h, we get the central difference formula.

Theorem 6.2 (Error formula for derivative using polynomial interpolation).

Assume f(x) has n+ 2 continuous derivatives on an interval [a,b]. Let xo, 1, ,x, be n + 1 distinct
nodes in [a,b], and let t be an arbitrary given point in [a,b]. Then
AN (SY) AR (3))
") — pl (t) = wy(t) ——22 L (t)————t 6.7
70 = 0 = w0 ) w0 S 6.7
with

n

wy(t) = H(t —2;). (6.8)

=0

and &1 and & are points in between the mazimum and minimum of xg, x1 +++, T, and t.

Proof. By Newton Interpolation formula, we have

f(:C) = pn(z) + f[an e 7$n7x]wn(z)a

where p,,(z) is the polynomial of degree < n which interpolates f(x) at xq,- - ,x,. Taking derivative on
both sides, we get

d
f/(l') :p;z(z) +wn(z)£f[$0, e ,ZL'n,ZL'] +w;(z)f[z0, e ,ZL'n,SC]-
But we know that J
@f[zof o 7':67’17:6] = f['rOa' o ,ZL'n,SC,SC].

Therefore, we have
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f/(SC) :p'/n('r) +’wn($)f[$0, e 7':67’151'51'] +’U_);l($)f[$0, T 7':67’1;1']'

Further, we know

(n+1)
f[an"' ,.’L'n,ZE] = f(nfl()g!)a 6 € (aab)‘
Therefore, we get
/ / _ f(n+2) (51) ! f(n+1)(§2)
F(t) = pn(t) = wn(t)m + wn(t)m
which is what we wish to show. O

Higher order differentiation formulas and their error can be obtained similarly.

3. Method of Undetermined Coefficients

Another method to derive formulas for numerical differentiation is called the method of undetermined
coefficients. We will illustrate the method by deriving a formula for f”(x).

f"(x) = DY) f(x) == Af(z +h) + Bf (z) + Cf(x — h) (6.9)

with A, B and C unspecified. Replace f(x 4+ h) and f(x — h) by the Taylor expansions

h? h3 h*
@ h) = o) £hf (@) + 5 ["@) & = fDla) + 5 D (),
with © — h <& <a <& <z + h. Substitute into (6.9) and rearrange into a polynomial in powers of h:

Af(x+h)+Bf(z)+Cf(x —h) = (A+ B+ C)f(x) + h(A—C)f'(x) + %(A + O)f" ()
3 4
+ A0 @) + AT + of (e )

In order for this is to equal f”(z), we set

p
A+B+C=0, A-C=0, A+C=5.

The solution of this system is A = C' = 1/h? and B = —2/h?. This yields the formula

The error is given by
h2
J"(@) = D fla) = = [T (€ + FD ()
Using the problem I.4 of tutorial 1, we get
) - D (@) = -2 0 (6.11)

for some x —h <& <z + h.

Remark 6.3. The preceding formulas are useful when deriving methods for solving differential equations,
but they can lead to serious errors when applied to function values that are obtained empirically. To
illustrate a method for analyzing the effect of such errors, we consider the second derivative approximation
(6.10)
fx2) —2f(21) + f(20)

12

with @; = 2 + ¢h. Instead of using the exact values f(z;), we use the appoximate values f; with

f(@1) = DY f(x1) =
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f(SCZ) :fz+€“ Z:0,1,2
The actual numerical derivative computed is

_ f2—2f1+f0_

DY f(a) 3

The error committed is

f(w2) = 2f(w1) + f(20) | €2 —2€e1+¢o
B T
€3 — 261 4+ €0
h2

f'(z1) = D f(a1) = f"(z1) —
_ P
**Ef &)+

Assuming —F < ¢; < E, we have

4F

5 (6.12)

2
7"y = D )| < 7O (E)] +

The last bound would be attainable in many situations. As example of such errors would be rounding
errors, with £/ a bound on their magnitude.

The error bound in (6.12) will initially get smaller as h decreases, but for h sufficiently close to zero,
the error will begin to increase again. There is an optimal value of h to minimize the right side of (6.12).
O

Example 6.4. In finding f”(7/6) for the function f(z) = cosz, if we use the function values f; by
rounding f(x;) to six significant digits, then

|f (i) — fi] < 0.5 x 10°76F!

where s is the largest integer such that 10° < |f(z;)|. Although cosine function varies from 0 to 1, here we
assume (as we are interested in the function valued in a neighborhood of z = 7/6), |f(x;)| > 0.1. With
this assumption, we have s = —1 and hence we have

|f(z:) — fi] <0.5x107C,

We now use the formula D,(f) f(z) to approximate f”(x) as given in the above remark. Assume that other

than these rounding error, the formula D,(LQ) f(x) is calculated exactly. Then the total error bound given
by (6.12) takes the form

_ h? 4F
|F"(x/6) = DY (/6] < T3 17 V(O] + 57
where E = 0.5 x 1075 and ¢ ~ /6. Thus, we have
2 -6
_ ) h2 w4 o 2x10°0
| (x/6) = DI f(x/6)| < 75 cos (g) + 2505 % 107%) & 0.0722h% + =— =: B(h).
The bound E(h) indicates that there is a smallest value of h, call it h*, below which the error bound will
begin to increase. To find it, let E'(h) = 0, with its root being h*. This leads to h* ~ 0.0726. O

6.2 Numerical Integration

In this section we derive and analyze numerical methods for evaluating definite integrals. The problem is
to evaluate the number

I(f) = / F(@)dz. (6.13)

Most such integrals cannot be evaluated explicitly, and with many others, it is faster to integrate nu-
merically than explicitly. The approximation of I(f) is usually referred to as numerical integration or
quadrature.
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The idea behind numerical integration is to approximate the integrand f(z) to a much simpler function
that can be integrated easily. One obvious approximation is the interpolation by polynomials. Thus, we
approximate I(f) by I(pn), where p,(z) is the polynomial of degree < n which agrees with f(x) at the
distinct points xg, - - - , x,. The approximation is written as

I(pn) = Aof(x0) + Arf(21) + -+ + Anf(zn).

The weights could be calculated as A; = I(l;), with [;(z) the ith Lagrange multiplier.

Assume that the integrand f(z) is sufficiently smooth on some interval [c,d] containing a and b so
that we can write

f(:L') = pn(x) + f[ZL'(), T ,;L'n,l']d)n($),

where .
Pn(z) = 1_[(3j — ;)
§=0
Then the error is given by
b
E(f) = I(f) - I(pn) = / f[l‘o, Ty $]¢n(l‘)dl‘ (614)
In particular, if ¢, (z) is of one sign on (a,b), then, by the Mean-value theorem for integrals, we have
b b
/ f[an"' ,.Z'n,l'](bn(lﬂ)dlﬂ :f[:COa"' 7'1;7176]/ ¢n(‘r)d‘r7 for Someé- € (a)b)‘ (615)
If, in addition, f(x) is n + 1 times continuously differentiable on (¢, d), we get
E(f)= ;f("ﬂ)(n) /bqﬁ (x)dx, for some n € (¢, d) (6.16)
(n + 1)! " n b ) : M

We now consider the case when n = 0. Then

f(x) = f(zo) + flzo, z](x — x0).
Hence
I(po) = (b—a)f(xo).
If x¢o = a, then this approximation becomes

I(f) = Ir(f) == (b—a)f(a) (6.17)

and is called rectangle rule. Since ¢g(x) = x — a, this function is of one sign in (a,b) and therefore, the
error £ of the rectangle rule takes the form

b
Ex(f) = f'(n) / (z — a)dw = L DO =) (6.18)

y=f(x)
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Fig. 6.2. Rectangle Rule.
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We now consider the case when n = 1. Then
f(@) = f(xo) + flwo, v1)(x — x0) + flxo, x1, x]d1 (2).
To get ¢1(z) = (x — x0)(x — x1) of one sign on (a,b), we choose zg = a and x1 = b. Then we have
b 1 b
1) = [ 5@ + flae ~ @ds+ 37) [ (@ a)(o~ b)ds
or
1) ~ Ir(f) = 3 (b~ a){f(a) + ()} (6.19)

with the error

Er(f)= —W some 7 € (a,b). (6.20)
This rule is called the Trapezoidal Rule.

Example 6.5. Approximate the integral

I= / e
o 1+
The true value is I = log(2) ~ 0.693147. Using the trapezoidal rule (6.19), we get
1 1 3
Ir=-]1+=-]=-=0.75.
r=altt3l=3

Therefore, the error is I — It ~ —0.0569.
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Fig. 6.3. Trapezoidal Rule.

To improve on this approximation, when f(z) is not a nearly linear function on [a, b], break the interval
[a, b] into smaller subintervals and apply the Trepezoidal rule (6.19) on each subinterval. We will derive
a general formula for this. Let us subdivide the interval [a, b] into n equal subintervals of length
b—a
n

h =

with endpoints of the subintervals as
z; =a+jh, j=0,1,---,n.

Then break the integral into n subintegrals, we get
b
10) = [ fas
= f(z)dx

Tj+1

n—1
= f(z)dex.
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Approximate each subintegral by Trapezoidal rule (6.19), we get

f(xo);f(m)} +h[f($1);f($2)} +m+h{f($n—1)2+f($n)]_

1)~ 1) =1 |
The terms on the right can be combined to give the simpler formula

() = o) 4 Fo0) + flaa) + 4 flanor) + (o). (6:21)

This rule is called Composite Trapezoidal rule.

I= / e
As we have seen in example 3.3, the true value is I = log(2) ~ 0.693147. Now let us use this piecewise
Trapezoidal rule with n = 2. Then we have

1 1/2 1
[ [,
0 1+.I' 0 1+.I' 1/21+ZC

I2(f) ~ 0.70833.
Thus the error is -0.0152. O

Example 6.6. Approximate the integral

and therefore we have

We now calculate I(p2(z)) to obtain the formula for the case when n = 2. Let us choose zy = a,
x1 = (a+b)/2 and x5 = b. The quadratic interpolating polynomial can be written as

pa(z) = f(a) + fla,b](x —a) + f [a,bvaTM] (¢ —a) (z - b)
Then \ b 2 » 3
[ mtrie = 5@ - @)+ sla O < 1 | 52 B

Using the symmetry property of divided difference, we can write

e 52| = 1o 520

Therefore, we have

b
/ po(x)dx = f(a)(b—a)+ fla,b]

(b—2a)2 f{ava;rb,b} (b—a)

But we have f[a,b](b—a) = f(b) — f(a) and

rlati o] o-ar= (1[50 - 1o 2] ) 0-0 =2 (1027 (1) - s@)).

Using these expression, we get

[ et = - {r@ + O () -2r (“50) 4 5w}

=t (50 + s}

We thus arrive at the formula

1(f) ~ L(f) = /abm(x)dx Jboe {f(a) af <‘” b) " f(b)} (6.22)

which is the famous Simpson’s Rule.
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Fig. 6.4. Simpson Rule.

Example 6.7. Approximate the integral

= / e
o 1+
The true value is I = log(2) ~ 0.693147. Using the Simpson’s rule (6.22), we get

1. 8 1. 25
Io= (14 -+ =] = 22 ~0.694444.
sl T3+3 =3

Therefore, the error is I — I, &~ 0.001297. O
Let us now obtain the error formula for Simpson’s rule. Note that for any distinct nodes zg, x; and
x2 in (a,b), the function ¢o(x) = (z — xo)(x — x1)(z — x2) is not of one sign on (a,b). Therefore, the

idea followed in deriving error formula for Trapezoidal rule cannot be adopted here. Rather, if we choose
xo =a, 1 = (a+b)/2, zo = b, then one can show by direct integration or by symmetry arguments that

/abgbg(m)dz/ab(za) (33 “;b) ( — b)dz = 0.

In this special case, if we can choose x3 in such a way that ¢s(z) = (x — x3)d2(x) is of one sign on (a,b)
and f is four times continuously differentiable, then we have

@ _a)/21
psi = L0020 (6.25)

which follows from the following lemma.

Lemma 6.8. If ¢,, is not of one-sign but

/ab ¢n(x)dr = 0.

Further if can choose Tp41 in such a way that ¢pi1(x) = (x — Tpy1)dn () is of one-sign on (a,b) and if
f(x) is n+ 2 times continuously differentiable, then

b
E(f)= ﬁf("w)(n)/a Gni1(x)dz,  for some n € (c,d). (6.24)



88 6 Numerical Differentiation and Integration
Proof. Since

f['rOa"' ,ZL'n,SC] = f['rOv"' azn;zn+l] +f[1'07 7xn+1;1‘](1‘71'n+1)5

we have from (6.14)

b b
E(f) = / f[xO’ T ’xna$n+1]¢n($)d$ +/ f[xO’ T ,$n+1,$]($ - $n+1)¢n(l‘)d$

Further since f: ¢n(x)dz = 0, the first term vanishes and we are left with

b
B(D) = [ floo.+ s al(e = 0nir)ono)d
a
Thus, if we choose x,,41 in such a way that ¢p4+1(z) = (£ — Zp41)dn(x) is of one-sign on (a, b) and if f(x)
is n + 2 times continuously differentiable, then using Mean-value theorem for integration, we can arrive

at the formula (6.24). O

Let us now derive the composite Simpson rule. Taking a = z;_1, b = ;, 7,_1)2 = (¥; + 2;-1)/2
and x; — x;—1 = h in Simpson rule, we get

[ @ & (i) + 40 ag) + 1)}

Summing for i =1,--- | N, we get

b N BN
/ f(x)dx = Z/ f(z)dx ~ gz {f(mic) +4f(@iz1y0) + flza) } -

Therefore, the composite Simpson’s rule takes the form
h N—1 N
=5 [f(xo) + flan) +2) 0 F@) +4)_fwiy2) (6.25)
i=1 i=1

All the rules so far derived can be written in the form

b
1(f) = / F(a)dz ~ wof(z0) + wif(@1) + -+ wn fan). (6.26)

Here w; are called weights, which are non-negative constants. The nodes are picked in such a way that
the quadrature rule is exact for polynomials of degree < n. These methods are refered to Newton-Conte
formula of order n. But it is possible to make such a rule exact for polynomials of degree < 2n + 1 by
choosing the nodes appropriately. This is the basic idea of Gaussian rules.

Let us consider the special case

[1 f(z)dx ~ szf(xl) (6.27)

The weights w; and the nodes x; (i =0,---,n) are to be chosen in such a way that the error

B = [ fahdo =Y wif(a) (6.28)
-1 i=0

is zero when f(z) is a polynomial of degree < 2n + 1. To derive equations for the nodes and weights, we
first note that

En(ao + a1z + agx® + - + appz™) = aoEn(1) + a1 By (2) + - - - + an By (™).

Thus, E,(f) = 0 for every polynomial of degree < m if and only if E, (z°) =0 for i = 0,1,--- ,m.
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Case 1: n = 0. Since there are two parameters, namely, wy and xg, we consider the requiring Ey(1) =
Ey(x) = 0. This gives fil ldx — wg = 0, and fil xdxr — woxg = 0. These gives wyo = 2 and xy = 0. Thus,
we have the formula

/_1 f(z)dz ~ 2f(0), (6.29)

which is the required Gaussian quadrature for n = 0.
Case 2: n = 1. There are four parameters, wg, wy, xo and z; and thus we put four constraints on these
parameters:
1
By (x%) = / zldr — (worh +wizl) =0, i=0,1,2,3.
-1

This gives a system of nonlinear equations

2 2 3 3
wy +wy =2, wiry +wary =0, wiz] + wezr; = w2y + waxy =0

ga

The solutions are w; = wy = 1 and x1 = —1/\/§ and zo = 1/\/§ which lead to the unique formula

/11 f(z)dx ~ f <%) +f <\/L§) =:Ia1(f). (6.30)

Case 3: General. There are 2(n + 1) free parameters z; and w; for i = 0,1,---,n. The equations to be
solved are E,(z') =0, i=0,1,---,2n+1or

n

e -
Ew]jf
Jj=0

These are nonlinear equations and their solvability is not at all obvious. But most of the computer
softwares will have programs to produce these nodes and weights or to directly perform the numerical
integration. There is also another approach to the development of the numerical integration formula (6.26)
using the theory of orthogonal polynomials, which is outside the scope of this course.

2
- ,1=0,2,---,2n
i1+ 1

{0, i=1,3-,2n+1

The formulas constructed above are called the Gaussian numerical integration formula or Gaus-
sian quadrature. Note that this formula is limited to an integral over [—1,1]. But this limitation can
easily be removed by introducing the linear change of variable

_bt+a+tlb—a)

&€ 3
2

—1<t<1. (6.31)

Thus, an integral

b
uﬂz/f@m

I(f)ba/1 f(w)dt.

. 2

can be transferred to

The following theorem provides the error formula for the Gaussian quadrature.

I= / L de
o 1+
Note that the true value is I = log(2) & 0.693147. To use the Gaussian quadrature, we first need to make
the linear change of variable (6.31) with a = 0 and b = 1 and we get

Example 6.9. Approximate the integral

r=—-, —1<t<1.

Thus the required integration is
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I /1 dv /1 dt
o 14z ) 34+t
We need to take f(t) =1/(3 +1t) in the Gaussian quadrature formula (6.30) and we get
1 1
dx dt 1 1
= — = fl—— |+ f|—=)=0.692308 = I, .

/0 I+ /_13+t f< ﬁ) f<¢§) arlf)

Therefore, the error is I — I ~ 0.000839. O

Definition 6.10 (Degree of Precision).

The degree of precision of a quadrature formula is the positive integer n such that E(pg) = 0 for all
polynomials pi(x) of degree < m, but for which E(pn+1) # 0 for some polynomial pp41(x) of degree n+ 1.

Example 6.11. Let us determine the degree of precision of Simpson rule. It will suffice to apply the rule
over the interval [0, 2].

2 2 2 2 2 8 2
/dz:2:—(1+4+1), /zdz:Q:—(0+4+2),/ pidr = - =>(0+4+4)
0 6 0 6 0 3 6
2 2
2 32 2 20
/x3d$:4:—(0+4+8)/ glde == #-(0+4+16) = —.
0 6 0 576 3

Therefore, the degree of precision is 3. O
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Exercise 6

I. Numerical Differentiation

1.

10.

Find the value of the derivative of the function f(z) = sina at = 1 using the three primitive
difference formulae with (i) h = 0.015625 and (ii) A = 0.000015. Perform the calculation with 6
digit rounding at each process.

Obtain the central difference formula for f’(z) using quadratic polynomial approximation.

Use the forward, central and backward difference formulas to determine f'(z), f'(z1) and f'(z2)
respectively for the following tabulated values:

B 0.5] 06 0.7|(b)z 0.0 02 04]
f(2)]0.4794]0.56460.6442| * | f(2)[0.0]0.7414[1.3718]

The corresponding functions are (a) f(z) = sinz and (b) f(z) = e* — 22% + 3z + 1. Com-
pute the error bounds.

Given the values of the function f(z) =loga at zo = 2.0, z1 = 2.2 and x2 = 2.6, find the approx-
imate value of f(2.0) using the methods based on linear and quadratic interpolation. Obtain the
error bounds.

Estimate the rounding error behavior of the three primitive numerical differentiation formulae.

Find an approximation to the derivative of f(x) evaluated at x, x4+ h and x + 2h with truncation
error of O(h?).

Use the method of undetermined coefficients to find a formula for numerical differentiation of
1" (x) evaluated at points

(a) 4+ 2h, x + h and z, (b) . +3h, 2 +2h 2 + h and =

with truncation error as small as possible.

Show that the formula
f(@) —2f(x—h) + f(z —2h)
B2

gives approximate value for f”(x). Find the order of accuracy of this formula.

D@ () =

For the method

determine the optimal value of h for which the total error (which is the sum of the truncation
error and the rounding error) is minimum.

In computing f’(x) using central difference formula find the value of A which minimizes the bound
of the total error.
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II. Numerical Integration

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Apply Rectangle, Trapezoidal, Simpson and Gaussian methods to evaluate
/2
(a) I = / Lﬂdw (exact value = 0.623225)
o l+cos*zx

T d
(b) I :/ ﬁ (exact value &~ 1.047198)
0 X

1
(c) I :/ e~ dx (exact value ~ 0.746824),
0

(d) I = / sin®z cos?  dx (exact value ~ 0.114286)
0
(e) I = [ (1+ e "sin(4x))dz. (exact value ~ 1.308250)

Write down the errors in the approximation of

1 1
/ 2*dx and / 22dx
0 0

by the Trapezoidal rule and Simpson’s rule. Hence find the value of the constant C' for which the
Trapezoidal rule gives the exact result for the calculation of fol (25 — Ca*)dz.

Estimate the effect of data inaccuracy on results computed by Trapezoidal and Simpson’s rule.

Under what condition does the composite Trapezoidal and composite Simpson rules be conver-
gent? Give reason.

Use composite Simpson and composite Trapezoidal rules to obtain an approximate value for the

improper integral
< 1
1 22 +9

Obtain error formula for the composite trapezoidal and composite Simpson rules.

Find the number of subintervals and the step size h so that the error for the composite trapezoidal
rule is less than 5 x 1079 for approximating the integral f; dx/z.

Determine the coefficients in the quadrature formula
2h
/ 272 f(w)da = (20)"/(wo f(0) + wr f (k) + wa f(2h)).
0

Use the two-poind Gaussian quadrature rule to approximate

/1 dx
1 x+2

and compare the result with the trapezoidal and Simpson rules.

Assume that xx = o + kh are equally spaced nodes. The quadrature formula
s 3h
Fladde = = (f (o) + 3 (@) + 3/ (w2) + f(3))
o

is called the Simpson’s % rule. Determine the degree of precision of Simpson’s % rule.
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Numerical Ordinary Differential Equations

We consider a first order system of ordinary differential equations of the form

Y~ fow), (1)

where y = (y1,¥y2, + ,yn) € R™ is an unknown variable, x € R is an independent variable and the
function f:R™ x R — R™ is given. The objective is to find the solution y(z) in some bounded interval I
for x variable subject to an initial condition

y($0) =Yy, To € 1. (72)

In section 1, we review the exact solvability of (7.1)-(7.2) when n = 1. A basic method called the Euler
method for this initial value problem with n = 1 is introduced in section 2 and showed to be of order
1. Taylor approximation upto higher order can be used to increase the order of accuracy. Doing this will
lead to a family of methods, depending on the order of the Taylor approximation being used. This family
of methods is called Taylor method, which is discussed in section 3. Taylor method is conceptually easy
to work with, but involves higher order derivatives of the unknown function, which is hard to compute
and implement as computer program. An alternate solution for this is the famous Runge-Kutta methods.
These methods avoid higher-order derivatives of the unknown function y and at the same time, achieves
higher order of accuracy. Runge-Kutta method of order 2 is derived in full detail in section 4 and just
presented the formula for the same method of order 4. Section 5 is devoted to Predictor-Corrector method.
The methods discussed so far are in the case when n = 1. In the final section, we have introduced some
methods to compute numerical solution for (7.1)-(7.2) with n > 1.

7.1 Review on Theory

In this section, we review the cases when the initial value problem (7.1)-(7.2) can be solved exactly
without going to a numerical method. Although most of the results stated here holds for any positive
integer n, We stick to the case when n = 1 just for the sake of simplicity.

We consider the initial value problem

y'(z) = f(z,9),y(x0) = yo. (7.3)

where z € R is an independent variable, y € R is the unknown variable and f(z,y) is a given real-valued
function. We always assume that the domain D of f to be a closed rectangle

Rz{(x,y)/|ac—x0| Shza |y—yo| Shy} (74)

It is simple to see that when f is continuous on D, then the solution of (7.3) can be written as

y(r) = yo + /I f(s,y)ds. (7.5)
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If f is a function of x only, then the integration on the right hand side of (7.10) can be carried explicitely
to get the solution y of (7.3) exactly. But if f depends on y also, then (7.10) is an integral equation which
is not less easier than (7.3). However, if we can put the equation in (7.3) in the form

d

—o¢(x,y) =0,

9@ y)

for some C! function ¢, then a direct integration can give an implicit solution for the problem (7.3). This
equation is called the exact form of the equation in (7.3). Even if the given equation cannot be put in
exact form, we can choose an integrating factor with which the equation can be made exact. But in many
cases, it is difficult to obtain an integrating factor as illustrated in the following example.

Example 7.1. The equation
dy

2 2
-7 —
dx +y
is clearly not linear, homogeneous, seperable or exact. It can also be recalled that any of the standard
ways of finding integrating factor will not work for this equation. O

One alternate way to solve this equation is to approximate the solution using some numerical method.
Before doing so, it is important to ensure that the given initial value problem has a unique solution in the
domain D. The following theorem can be used as a tool to check the existence and uniqueness of solution
of a given initial value problem.

Theorem 7.2 (Existence and Uniqueness Theorem).
Hypothesis. Consider the initial value problem (7.3) where

1. The function f is continuous with respect to both x and y in the domain D of the (xz,y)-plane, and

II. the partial derivative Of /Oy is also a continuous function of x and y in D.

Conclusion There exists a unique solution y = y(x) of the initial value problem (7.3) defined on some
interval |z — xo| < h, where h is sufficiently small.

It is easy to check that the equation in example 4.1 with an initial condition y(z¢) = yo has a unique
solution.

Remark 7.3. The following are some of the important points about the theorem 6.2:

I. The theorem ensures the existence of an unique solution of the initial value problem (7.3) based on
certain conditions on the function f(z,y). However, the theorem does not give an explicit expression
for the solution.

II. The existence and uniqueness is ensured only in a small neighborhood of z = x(, where the initial
condition is prescribed. Thus, the theorem is only a local existence theorem.

III. The theorem does not give any information about those equations for which the function f(z,y)
violates the hypothesis. That is, the theorem does not say that the solution fails to exist if any of
the conditions stated in the hypothesis is not satisfied by f(x,y). In fact, this cannot be ensured as
is clear from the following example. O

Example 7.4. Consider the following initial value problem:

dy _y
— =—, y(0)=2.

P y(0)

Clearly, the function f(z,y) := y/+/2 is not continuous at 2 = 0, but still the equation possesses the
particular solution y(z) = 2exp(2y/z). Thus the above theorem gives only a sufficient condition for
existence and uniqueness of solution for a given initial value problem of the form (7.3). O
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7.2 Discretization

The aim of this chapter is to device numerical methods to obtain an approximate solution of the initial
value problem (7.3) at only a discrete set of point. That is, if we are interested in obtaining solution for
(7.3) in an interval [a, b], then we first discretize the interval as

a:z0<z1<~~~<xN:b, (76)

where each point x;, ¢ = 0,1,--- ;N is called a node. Unless otherwise stated, we always assume that
the nodes are equally spaced. That is,

$j:1'0+jh,, ]:0,1,]\7 (77)
for a sufficiently small positive real number h. We use the notation for the approximate solution as

7.3 Euler’s Method

Method 7.5. :

Recall the derivative approximation

Y (@) = 3yl + )~ y(z).

Applying this approximation in the initial value problem (7.3) at z = x;, we get

(y(zjr1) — y(x5)) = f(x),y(x))).

S

The Euler’s method is defined as

Yi+1 =y +hf(zs,y;), j=0,1,--- (7.9)

For the initial guess, use yo = y(zo). O

Geometrical Interpretation 7.6. :

Some geometric insight into Euler’s method is given in the following figure.

%

$y_{n+1}=y_n+h(f(x_ny(x_n)$

$y(x {n+1})$

I Py
r

x$
$x_n$ $x_{n+1}$

Fig. 7.1. An illustration of Euler’s method derivation

The tangent line to the graph of z = y(x) at « = x, has slope f(z,,y,). The Euler’s method
approximates the value of y(z,+1) at by the corresponding value of this tangent line at the point x = x,,41.
O
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Example 7.7. For the differential equation y/(z) = (cosy(z))?, the Euler’s method takes the form

Yj+1 = y; + h(cosy;)>.
This equation can be used to obtain approximate solution of the given equation with initial condition
y(0) = 0. O
Example 7.8. Consider the initial-value problem

y' =y, y(0)=1
The Euler method (7.15) for this equation takes the form

Yi+1 =y; +hy; = (14 h)y;.
Note that the exact solution for the given initial value problem is y(z) = e*.

On applying Euler method with A = 0.01 and retaining six decimal places after decimal point, we get

y(0.01) ~ y; =1+ 0.01 = 1.01

y(0.02) ~ yo = 1.01 4+ 0.01(1.01) = 1.0201

y(0.03) ~ y3 = 1.0201 + 0.01(1.0201) = 1.030301

y(0.04) ~ y, = 1.030301 + 0.01(1.030301) = 1.040606
Since the exact solution of this equation is y = e”, the correct value at = 0.04 is 1.0408. It is clear that
to obtain more accuracy with Euler’s method, we must take a considerably smaller value for h.

If we take h = 0.005, we obtain the values

4(0.005) ~ y; = 1.0050
4(0.010) ~ y = 1.0100
(0.015) ~ y3 = 1.0151
4(0.020) ~ y4 = 1.0202
4(0.025) ~ ys = 1.0253
4(0.030) ~ ys = 1.0304
4(0.035) ~ y7 = 1.0356
4(0.040) ~ ys = 1.0408

These results are correct to four decimal places after the decimal point. The numerical results along with
the error is presented in the following table for h = 0.01 and h = 0.005.

h | = | yn(z) |Exact Solution| Error |Relative Error
0.01|0.00/1.000000{  1.000000  |0.000000{ 0.000000
0.01/0.01|1.010000|  1.010050 |0.000050| 0.000050
0.01|0.02/1.020100{  1.020201  |0.000101| 0.000099
0.01]0.03|1.030301| 1.030455 |0.000154| 0.000149
0.01]0.04|1.040604| 1.040811 ]0.000207| 0.000199
0.01]0.05|1.051010| 1.051271 |0.000261| 0.000248

h | « | yn(z) |Exact Solution| Error |Relative Error
0.005/0.00{1.000000f  1.000000  {0.000000|{ 0.000000
0.005/0.00{1.005000|  1.005013 |0.000013| 0.000012
0.005/0.01{1.010025|  1.010050 {0.000025| 0.000025
0.005/0.01|1.015075|  1.015113  |0.000038| 0.000037
0.005/0.02{1.020151|  1.020201  |0.000051| 0.000050
0.005]0.02|1.025251|  1.025315 |0.000064| 0.000062
0.005/0.03]1.030378|  1.030455 |0.000077| 0.000075
0.005]0.03]1.035529|  1.035620  |0.000090| 0.000087
0.005/0.04|1.040707|  1.040811 |0.000104| 0.000100
0.005]0.04|1.045910|  1.046028 |0.000117| 0.000112
0.005]0.05|1.051140  1.051271  |0.000131| 0.000125
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From the above numerical experiments, we could see that to obtain more accuracy with
Euler’s method, we must take a considerably smaller value for h. O

Algorithm 7.9. :

Input Variables: xzg, h, zn, Yo

Output : 1y

Tr = Xo

while z < zn

do
print z, Yo
y1 = Yo + h x f(x,y0) (replace the function f by the given right hand side of the equation)
Yo =1
r=x+h

end while O

Using Taylor’s theorem, write
h2
/ 11
y(xj1) = ylog) + hy'(25) + 54"(§)
for some z; < & < z;41. Using the fact that y(z) satisfies the differential equation, this becomes
h2
y(@je1) = ylag) + hf(ag y(a;) + 5"(&).
Thus, the truncation error in Euler’s method is
h2
11
Ty =2y, (7.10)
Let us now analyze the error in Euler’s method.
2

y(@j+1) =y = y(@5) —y; + h(f(z5,y(z;)) — f(25,95)) + %y”(ﬁj).

Thus the error in y,41 consists of two parts, namely, (1) the truncation error %zy' (&) at xj41th step and
2) the propagated error y(x;) —y; + h(f(x;,y(x;)) — f(z;,y;)). This propagated error can be simplified
J j J J 7> Yi
by applying the mean value theorem to f(z,z) considering it as a functin of z:

Pl yteg)) — Sl ~ LBy )

Using this, we get the error

2

] e+ %y”(gj). (7.11)

of (zj,y;)

1= |1+h
A [+ 0z

We now assume that over the interval of interest,

' Of (@, y(x;))

L i Y,
D <1, )l <.

where L and Y are fixed positive constants. On taking absolute values in (7.11), we obtain
h? h?
|€j+1| < |€j| +hL|€j|+?Y: (1+hL)|€]|+7Y (712)

This estimate can further be used to give a general error estimate for Euler’s method for the intial value
problem. We skip the detail derivation of this estimate and summarize the result in the following theorem.
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Theorem 7.10. Let y,, be the approximate solution of (4.10) generated by Euler’s method (4.8). If the
exact solution y(x) of (4.10) has a continuous second derivative on the interval [xo,x,], and if on this
interval the inequalities

‘W(%y(%‘))

0z

are satisfied for fized positive constants L and Y, the error E; = y(x,) —y; of Euler’s method at a point
x; = xg + nh is bounded as follows:

‘<L W' (@) <Y,

hY —x Tp—T
lej] < 5 (e 7m0E = 1) + elen =m0y — fiyo)| (7.13)

Example 7.11. Consider the initial value problem ¢y’ =y, y(0) = 1 from z = 0 to z = 1. Let us now
find the upper bound for the discretization error of Euler’s method in solving this problem.

Here f(z,y) =y, 0f /0y = 1. Hence we can take L = 1.

Since y = e”, y’ = e® and |y”(x)| < e for 0 < 2 < 1. Therefore, we take Y = e.

To find a bound for the error at any o = 0 < z; < 1, we have x; — x9 = x;. Therefore, from (7.13),
we have

he , ,
el < 55— 1)

Here, we assume that there is no approximation in the initial condition and therefore the second term in
(7.13) is zero. In particular, if z; = 1, then the corresponding error is |e(1)| < 2.4h.

To see how realistic this bound is, we shall obtain the exact solution of Euler’s method for this problem.
Thus,
Yi+1 =y; + hf(zj05) = 1+ h)y;.

The solution of this difference equation satisfing y(0) =1 is
yj = (L+h).

Now, if h = 0.1, n = 10, we have y; = (1.1)'%. Therefore, the Euler’s method gives y(1) & yio = 2.5937.
But the exact value is y(1) = e = 2.71828. The error is 0.12466, whereas the bound obtained from (7.13)
was 0.24. ad

Remark 7.12. The error bound (7.13) is valid for a large family of the initial value problem. But, it
usually produces a very poor estimate due to the presence of the exponential terms. For instance, in the
above example, if we take x,, to be very large, then the corresponding bound will also be very large. O

The above error analysis assumes that the numbers used are of infinite precision and no floating point
approximation is assumed. When we include the floating point approximation that y, = ¥, + €,, then
the bound for total error is given in the following theorem. The proof of this theorem is omitted for this
course.

Theorem 7.13. Let y,, be the approximate solution of (4.10) generated by Euler’s method (4.8) and let
Un 1S the floating point approximation to vy, in the sense that

Yn = Yn T €n-
If the exact solution y(x) of (4.10) has a continuous second derivative on the interval [xg,x,], and if on
this interval the inequalities
Of (x5, y(x;))
0z

are satisfied for fizved positive constants L and Y, the total error E; = y(xy,) — g of Euler’s method at a
point x; = xg + nh is bounded as follows:

’<L (@) <Y,

1 /hY
|@éz(3%%)@%”m—0+é”%”ML (7.14)

where € := max{¢; /i =0,1,--- ,n}.
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7.4 Runge-Kutta Method

Although Euler’s method is easy to implement, this method is not so efficient in the sense that to get
a better approximation, one need a very small step size. One way to get a better accuracy is to include
the higher order terms in the Taylor expansion in the formula. But the higher order terms involve higher
derivatives of y. The Runge-Kutta methods attempt to obtain greater accuracy and at the same
time avoid the need for higher derivatives, by evaluating the function f(z,y) at selected points on each
subintervals.

We will start with Runge-Kutta method of order 2. Consider the formula of the form
Yj+1 = y;j + aky + bk (7.15)
where
ki =hf(z;,y;), ko= hf(z;+ah,y; + Bki). (7.16)

Here a, b, o and 8 are constants to be determined so that (7.15) agrees with the Taylor algorithm of a
possible higher order.

On expanding y(z;4+1) in a Taylor series through terms of order h%, we obtain

h? h?
5y ) + ) £

y(zj1) = y(x;) + hy'(z5) + 5 6

But we have
y = flz,y)

y”:f/:fmJnyy/:fmJnyf
y/// = f” :fmm+fmyf+fyzf+fyyf2+fyfz+fy2f:fmz+2fwyf+fyyf2+fyfm+f5f

Using these, we get

2 3
y(-Tj-',-l) = y(wj) + hf(wj’yj) + %(fz + ffy)] + %(fzz + fozy + fzfyy + facfy + fny)] + O(h4)- (*)

Here the subscript j indicates that the quantities are evaluated at (x;, y;).

On the other hand, using Taylor’s expansion for functions of two variables, we find that

ko a?h? 8212

% f(‘r] + ahayj + Bkl) = f(xjayj) + ahfz + ﬁklfy + szz + ahﬁklfmy + Tfyy + O(hg)a

where all derivatives are evaluated in (z;,y;).

If we now substitute this expression for ks into (7.15) and note that k1 = hf(x;,y;), we find upon
rearrangement in powers of h that

62

2
Yj+1 = Yj + (a + b)hf + th(afm + ﬁffy) + th (%fmm + aﬁffzy + 7f2fyy) + O(h4)

On comparing this with (*), we get
a+b=1, ba=0b8=1/2.
There are many solution for this system, the simplest being
a=b=1/2, a=p=1.

Algorithm 7.14 (Runge-Kutta Method of Order 2).

For the equation
y' = f(z,y), y(xo) = vo,
generate approximations y; to y(x¢ + jh), for h fixed and j = 0,1, -- using the recursion formula

1 .
Yj+1 = Yj + 5([€1 + kg) with kl = hf(l'j,yj), kQ = hf(SCj + h,yj + kl) (717)
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The local discretization error of (7.17) is of order h® whereas the Euler’s method is of order h?. We can
therefore expect to be able to use a larger step size with (7.17). The price we pay for this is that we must
evaluate the function f(x,y) twice for each step.

Example 7.15. Consider the initial-value problem

y =y, y(0)=1

Using Runge-Kutta method, we obtain

X Yy k/’l I{?2|
0.000000{1.000000]0.010000]0.010100
0.010000{1.010050(0.010000{0.010100
0.020000{1.020201{0.010100{0.010202
0.030000{1.030454|0.010202|0.010304
0.040000{1.040810{0.010305|0.010408

Recall the exact solution if y(z) = e” and y(0.04) = 1.0408. O

Formulas for the Runge-Kutta type of any order can be derived by the method used above. However, the
derivations become exceedingly complicated. The most popular and most commonly used formula of this
type is the Runge-Kutta method of order 4 as given in the following algorithm.

Algorithm 7.16 (Runge-Kutta Method of Order 4).

For the equation
y' = f(z,y), ylzo) = o,
generate approximations y; to y(xg + jh), for h fixed and j = 0,1, -- using the recursion formula

1
Yj+1 = Y; + E(kl + 2ky + 2k3 + ky) (7.18)
where
kl = h’f(:rjay])v

ho ok
kgzhf(:cj—f——,yj—i——l),

2 2
h ko
kghf<1'j+§,yj+?),
ka = hf(x; + h,y; + ks) (7.19)

The local discretization error for 4th order Runge-Kutta Method is O(h®).

7.5 An Implicit Methods

Using the integral form of the initial value problem (7.10) in the interval [2,, zp4+1], we get

Tn+1

Y(@ni1) = y(@n) + / f(s,y)ds.

Tn

Using the trapezoidal rule for the integration, we get

/In+1 f(s,y)ds ~ g(f(zm Y(zn)) + f(@ns1,y(Tn41)))-

n

Using this formula for the integral on the right hand side, we obtain the implicit method called trape-
zoidal method for obtaining the approximate solution of the initial value problem as

h
Ynt+1 = Yn + §(f($nayn) + f(-rn-l-layn-i-l))' (720)

The Euler and Runge-Kutta methods are explicit methods as they use the value of the solution y at the
known node points where as the trapezoidal rule is called the implicit method as it uses the value of the
function y at the point where the solution is supposed to be computed.
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Example 7.17. To obtain the appoximate solution for the initial value problem ¢y’ = zy, y(0) = 1 using
the trapezoidal rule with h = 0.2. We have yg = 1 and

h
Y1 =yo + 5(960310 +21y1) = 14+ 0.1(0+ 0.2y1),

which gives (1 — 0.02)y; = 1, and this implies y; =~ 1.0204. Similarly,

h
y2 = Y1+ 5 (2191 + 2y2) = 1.0204 4 0.1(0.2 x 1.0204 + 0.4y2),

and 1.0408
A~ yy = ————— ~ 1.0842.
y(0.4) = y2 1= 0.04) 08

Example 7.18. To obtain the appoximate solution for the initial value problem ¢y’ = e™¥, y(0) =1
using the trapezoidal rule with h = 0.2. We have,

h
yr=yo+ (e FeT) =14 01(e ! +e),
which gives the nonlinear equation

g(y1) =y1 —0.1e ™ — (1 +0.1e7) =0,

and the solution of this equation is the approximate value of the solution of the given initial value problem.
O

7.6 Multistep Methods: Predictor and Corrector

Unlike the single step methods, multi-step methods use more than one previous steps to calculate the
next value of y. A general form of the multi-step method is

Ynt+m + Gm—1Yntm—1+ -+ +00Yn =
h(bmf(xn—i-ma yn-i-’m) + bm—lf(xn-i-m—la yn-l-m—l) + -+ bOf(:Ena yn)§721)

where aj, (j=0,1,---,m—1) and b; (i =0,1,---,m) are constants to be determined.

Example 7.19. m =1, ag = —1, by = 1 and b; = 0 gives Euler method.
Similarly, m =1, ag = —1, by = 1/2 and by = 1/2 gives the trapezoidal method. O

When b,,, = 0, the method is called the explicit method and when b,, # 0, the method is called the
implicit method. The explicit methods are generally called as the Adams-Bashforth methods and
the implicit methods are called the Adams-Moulton methods.

In the previous section, we have seen that the implicit methods lead to solving a nonlinear equation
to get an approximate value for the solution of the initial value problem. In practice, implicit multi-step
methods are more used to improve approximations obtained by explicit methods. The procedure is to
first obtain an approximation ¥y, 4., for the solution at x, 4., using an explicit method which is called
the predictor step and then this value is used further in the implicit method iteratively to improve
the approximation, which is called the corrector step. The resulting method is called the predictor-
corrector method

Let us begin to explain a single step predictor-corrector method. For the predictor step, we use the
Euler method

97(10421 = yn + hf(xna yn)7

which gives the value of y,+1 that apprximate the solution y(x,41) of the given initial value problem.

We consider this value as the first term in the sequence {yr(ﬁzl}, k=0,1,--- and generate the rest of the
terms of the sequence using the implicit trapezoidal rule as
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k+1 h k
y’f}-‘,—l ) =Yn + 5 (f(xnayn) + f($n+1ay,(1.31)) ’ k= Oa 1) e
We now show that the sequence generated by the single step predictor-corrector method converges to

Yn+1 Obtained by the trapezoidal method (7.20). The absolute error is given by

k h k
[Y(Zrng1) — y§1+-‘r11)| = 5 ‘f(szrla Ynt1) — f($n+17yr(w21)

_h ‘3f($n+1,yn+1)

~ [
2 ay n—+

Thus, when

a n y JIN
‘ J(Tnt1, Yns1) <1,

dy

this sequence converges.

For multi-step predictor-corrector method, we need to find the coeflicients b,, on the right hand side
of (7.21). For this, we integrate the equation ¢y’ = f(x,y) over the interval [z, x,+1] where 11 = x,+h
to get

Y(@ny1) — fzn) = /In+l f(x,y(z))dz.

n

The idea of a general mutistep method is to replace f(z,y(x)) by an interpolation polynomial p(x) and
then integrate. This gives approximations y,+1 of y(x,+1) and y, of y(xy,),

Tn+1
Yn+1 = YUn Jr/ p(z)dz.
Tn

Different choices of p(z) will produce different methods.

Let us now proceed to derive the three-step predictor-corrector method. Let pa(z) denote the quadratic
polynomial that interpolates f(x,y(z)) = g(x) at z,, -1 and x,,—2. Then use

Tn+41 Tn+1
/ g(x)dz ~ / po(x)da.

n n

The final expression together with truncation error is

/m”“ g(x)da = %[239(%) — 16g(2n—1) + 5g(zn_2)] + gh“g"’(ﬁn)a

n

where 2,2 < &, < &p4+1. For the predictor step (Adams-Bashforth method), we use

h
Yn+1 = Yn + E[QBfn —16fpn—1+ 5fn72]7 n > 2,

where f,, = f(@n, yn). The corrector step (Adams-Moulton method) is obtained by replacing the function
f(z,y(x)) = g(x) by the quadratic interpolation ps(z) at xy41, ¥, and z,_1. The resulting method is

h
Yn+1 = Yn + E[5fn+1 + 8fn - fnfl]; n 2 17

where f,, = f(zn, yn)-
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Exercise 7

1. Explicit Methods
1. Consider the initial value problem y(z) = f(x,y), y(zo) = yo, with

Of(z.y) _ 0

oy
for all zg < z < x,, and y. Show that there exist a h > 0 such that
len| < nYh? + |egl,
where e, = y(z,,) — yn with y, obtained using Euler method and Y = %Zorgnjgznw”(xﬂ.

2. The solution of
y'(z) = My(z) + cosx — Asinz, y(0)=0

103

is y(z) = sinz. Find the approximate value of y(3) using Euler method with h = 0.5 and A = —20.
Obtain the error bound using the formula in problem 1 and compare it with the actual error.

Give reason for why the actual error exceeds the error bound in this case.

3. Write the Euler method for finding the approximate value of y(z,,) for some z, < 0, where y

satisfies the initial value problem y(z) = f(z,y), v(0) = yo.

4. Consider the initial value problem y' = xy, y(0) = 1. Estimate the error at 2 = 1 when Euler
method is used with infinite precision, to find the approximate solution to this problem with step

size h = 0.01.

5. Find the upper bound for the propagated error in Euler method (with infinite precision) with
h = 0.1 for solving the initial value problem 3" =y, y(0) = 1, in the interval (i) [0,1] and (ii)

[0,5].

6. Write down the Euler method for the solution of the initial value problem 3’ =y, y(0) =1 on
some interval [0, 1] with step size h = 1/n. Denoting by y,(x) the resulting approximation to
y(x), x € [0, 1], show using limiting argument (without using the error bound) that v, (1) — y(1)

as n — o0.

7. Consider the initial value problem ¢y’ = —2y, 0 <z <1, y(0) = 1;

i. Find an upper bound on the error in Euler method at = 1 in terms of the step size h.

ii. Solve the difference equation which results from Euler’s method.

iii. Compare the bound obtained from (i) with the actual error as obtained from (ii) at z = 1 for

h=0.1 and h = 0.01.

iv. How small a step size h would have to be taken to produce six significant digits of accuracy

at x = 1, using Euler’s method?

8. In each of the following initial value problems, use Euler method, Runge-Kutta method of order

2 and 4 to find the solution at the specified point with specified step size h:

iy =x+vy; y(0)=1 Find y(0.2) (For Euler method take h = 0.1 and for other methods,

take h = 0.2) Exact Solution: y(z) = —1 — x + 2¢”.

ii. ¥ =2cosz—y, y(0) = 1. Find y(0.6) (For Euler method take h = 0.1 and for other methods,

take h = 0.2) Exact Solution: y(z) = sinx + cos .

9. Use Euler, Range-Kutta of order 2 and 4 methods to solve the IVP ¢ = 0.5(x —y) for all 2 € [0, 3]
with initial condition y(0) = 1. Compare the solutions for h = 1,0.5,0.25,0.125 along with the

exact solution y(z) = 3e=*/% + x — 2.

10. Show that the Euler and Runge-Kutta methods fails to determine an approximation to the non-
trivial solution of the initial-value problem y’ = y®, a < 1, y(0) = 0, although the exact (non-

trivial) solution exists.
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II. Multi-Step Methods

11.

12.

13.

14.

15.

The single-step predictor-corrector method reads

h
yfj’}l =Yn + hf(zn,yn), y,(ﬁrll) = Yp + 5 (f(xmyn) + f(zn+1,%(ﬁ£1)) , k=0,1,---

Find the values of h for which corrector sequence converges when used for the initial value problem
y'=-y, y(0)=1

For equally spaced nodes {xzq, z1, - ,Zn, -+ ,zn }, derive Simpson’s implicit method for the initial
value problem ¢’ = f(x,y), y(zo) = yo by applying Simpson’s rule to the integral

)~ y(ens) = [ " f e y(a))da

Tn—1

for n > 1.

Consider the formula
Tr41
Yk+1 = Yk +/ pi(z)dz,

Tk
with linear polynomial p;(x) interpolating f(z,y(x)) =: g(x) at nodes {xy, xx41}, for solving the
initial value problem y' = f(x,y), y(zo) = yo. Choose an appropriate approximation to g(zn+1)
that leads to the Runge-Kutta method of order 2.
Find the Adams-Bashforth method with linear interpolation at nodes {x,_1,2,} and also find
the truncation error.
Derive the two-step predictor corrector method for solving the initial value problem 3y =
f(x,y), y(xo) = yo. Show that the truncation error is of O(h?).
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Mathematical Preliminaries

I. Continuity of a Function

1.

10.

Explain why each of the following functions is continuous or discontinuous.
(a) The temperature at a specific location as a function of time.
(b) The temperature at a specific time as a function of the distance from a fixed point.
Study the continuity of f in each of the following cases:
2 . . . . .
¢ ifr <1 —z ifx<1 0 if x is rational
(2) f(z){\/f ifx>1" (b) f(x){ z ifx>1" (c) f(z){l if x is irrational ’

Let f:[0,00) = R be given by
1, ifx =0,

f(x) =< 1/q, if x = p/qwherep,q € N and p, ¢ have no common factor,
0, if x is irrational.

Show that f is discontinuous at each rational in [0, 00) and it is continuous at each irrational in
[0,00). [Note: This function is known as Thomae’s function.]

Let P and @ be polynomials. Find
lim Plx) and lim@

if the degree of P is (a) less than the degree of ) and (b) greater than the degree of Q.

Let f be defined on an interval (a,b) and suppose that f is continuous at some ¢ € (a,b) and
f(c) # 0. Then, show that there exist a 6 > 0 such that f has the same sign as f(c) in the interval
(c—0d,c+9).

Show that the equation
sinz +22 =1

has at least one solution in the interval [0, 1].
Show that f(x) = (z — a)?*(z — b)? + x takes on the value (a + b)/2 for some z € (a,b).

Let f(x) be continuous on [a,b], let xy1, --+, x, be points in [a,b], and let g1, ---, g, be real
numbers all of same sign. Then show that

Zf(aci)gi = f(E)Zgi, for some ¢ € [a, b].

i=1 i=1

Show that the equation f(z) = x, where

f(z) = sin <m2+ 1) . ze[-1,1]

has at least one solution in [—1,1].

Let I = [0,1] be the closed unit interval. Suppose f is a continuous function from I onto I. Prove
that f(z) = « for at least one = € I. [Note: A solution of this equation is called the fixed point
of the function f]

II. Differentiation of a Function

11.

Let ¢ € (a,b) and f : (a,b) — R is differentiable at c. If ¢ is a local extremum (maximum or
minimum) of f, then show that f/(c) = 0.
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IV.

12. Let f(z) = 1 — 2?/3. Show that f(1) = f(—1) = 0, but that f’(z) is never zero in the interval
[—1,1]. Explain how this is possible, in view of Rolle’s theorem.

13. Show that the function f(x) = cosz for all z € R is continuous by choosing an appropriate 6 > 0
for a given € > 0 as in the definition 1.1.

14. Suppose f is differentiable in an open interval (a,b). Prove that following statements
(a) If f’(x) > 0 for all x € (a,b), then f is non-decreasing.
(b) If f'(x) =0 for all = € (a,b), then f is constant.
(¢) If f'(x) <0 for all = € (a,b), then f is non-increasing.

15. For f(z) = 22, find the point ¢ specified by the mean-value theorem for derivatives. Verify that
this point lies in the interval (a,b).

16. Cauchy’s Mean-Value Theorem: If f(z) and g(z) are continuous on [a,b] and differentiable
on (a,b), then show that there exists a point ¢ € (a,b) such that

Integration of a Function

17. In the mean-value theorem for integrals, let f(x) = e*, g(x) = x, [a,b] = [0, 1]. Find the point £
specified by the theorem and verify that this point lies in the interval (0, 1).

18. Assuming g € C[0,1] (means g : [0,1] — R is a continuous function), show that

1
/ 22(1 — )% g(x)dx = ;—Og(f), for some ¢ € [0, 1].
0

19. Is the following statement true? Justify.
The integral f;: (sint)/tdt = 0 because, by theorem 1.9, for some ¢ € (27, 47) we have

4T : 4m
t 1 2m) — 4
/ sint ,, _ _/ sintdt — cos(2m) — cos(4) _0
2

t c Jor c

us
20. If n is a positive integer, show that

/\/(77,-'1-1)71' (71)71
vnm ¢

where /nm < ¢ < \/(n+ 1)7.
Taylor’s Formula

21. Show that the remainder R,,4+1(z) in the Taylor’s expansion of a n+ 1 continuously differentiable
function f can be written as

(SC _ c)nJrl

CER AR

Ry (z) =

where € € (¢, ).
22. Find the Taylor’s expansion for f(z) = v/x + 1 upto n = 2 (ie. the Taylor’s polynomial of order
2) with remainder R3(z) about ¢ = 0.

23. Use Taylor’s formula about ¢ = 0 to evaluate approximately the value of the function f(z) = e”
at « = 0.5 using three terms (ie., n = 2) in the formula. Find the value of the remainder R3(0.5).
Add these two values and compare with the exact value.

24. Prove the theorem 1.12

25. Obtain the Taylor’s expansion of e ¥ about (a,b) = (0,0). Find the expression for Ry(x,%) and
determine its maximum value in the region D := {0 <z <7/2, 0<y <7/2}.
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I. Floating-Point Representation

1.

Write the storage scheme for the IEEE double precision floating-point representation of a real
number with the precision of 53 binary digits. Find the overflow limit (in binary numbers) in this
case.

. In a binary representation, if 2 bytes (ie., 2 x 8 = 16 bits) are used to represent a floating-point

number with 8 bits used for the exponent. Then, as of IEEE 754 storage format, find the largest
binary number that can be represented.

II. Errors

3.

10.

The machine epsilon (also called unit round) of a computer is the smallest positive floating-
point number & such that fi(l + &) > 1. Thus, for any floating-point number 6 < §, we have
flll+96) =1, and 1+ 6 and 1 are identical within the computer’s arithmetic.

For rounded arithmetic on a binary machine, show that § = 27" is the machine epsilon, where n
is the number of digits in the mantissa.

If fi(z) is the machine approximated number of a real number = and € is the corresponding relative
error, then show that fl(z) = (1 — €)x.

Let x, y and z are the given machine approximated numbers. Show that the relative error in
computing z(y + z) is €1 + €2 — €1€2, where €1 = E,.(l(y + 2)) and e2 = E, (fl(zfl(y + 2))).

If the relative error of fl(x) is €, then show that
1
le| < B~ (for chopped fl(z)), || < 56_"“ (for rounded fl(z)),

where (3 is the radix and n is the number of digits in the machine approximated number.

n

1
Consider evaluating the integral I,, = / dx for n = 0,1,---,20. This can be carried out
0

T+

in two iterative process, namely, (i) I,, = = — 5I,,_1, Iy = In(6/5) (called forward iteration) and

~n
(ii) I,—1 = % — %In, Iyg = 7.997522840 x 1073 (called backward iteration). Compute I,, for
n =0,1,2,---,20 using both iterative and show that backward iteration gives correct results,
whereas forward iteration tends to increase error and gives entirely wrong results. Give reason for

why this happens.

Find the truncation error around z = 0 for the following functions

(a) f(z) =sinz, (b) f(x) = cosz.

Let z4 = 3.14 and y4 = 2.651 be correctly rounded from x7p and yr, to the number of decimal
digits shown. Find the smallest interval that contains

(i) @r, (ii) yr, (iii) 20 +yr, (iv) 20 —yr, (v) 27 X yr and (vi) 27 /yr.

A missile leaves the ground with an initial velocity v forming an angle ¢ with the vertical. The

maximum desired altitude is R where R is the radius of the earth. The laws of mechanics can
be used to deduce the relation between the maximum altitude o and the initial angle ¢, which is

given by
2
. « vl
=(1 1-—
sing = ( +0¢)\/ 1+a(|v|) ,

where v, = the escape velocity of the missile. It is desired to fire the missile with an angle ¢ and
|ve|/|v| = 2 so that the maximum altitude reached by the missile is 0.25R (ie., a = 0.25). If the
maximum altitude reached is within an accuracy of +£2%, then determine the range of values of
¢. [Hint: Treat sin ¢ as a function of o and use mean-value theorem)]




III. Loss of Significant Digits and Propagation of Error

Iv.

11. For the following numbers x and their corresponding approximations x4, find the number of
significant digits in x4 with respect to z. (a) x = 451.01, x4 = 451.023,

(b) & = —0.04518, 24 = —0.045113, (c) & = 23.4604, x4 = 23.4213.
1_

12. Show that the function f(z) = $ leads to unstable computation when z ~ 0. Rewrite
this function to avoid loss-of-significance when 2 & 0. Further check the stablity of f(z) in the
equivalent definition of this function in avoiding loss-of-significance error.

13. Let x4 and y4, the approximation to = and y, respectively, be such that the relative errors E,.(x)
and E,(y) are very much smaller than 1. Then show that (i) F,(xy) ~ E.(x) + E,(y) and (ii)
E.(z/y) =~ E.(x) — E.(y). (This shows that relative errors propagate slowly with multiplication
and division).

14. The ideal gas law is given by PV = nRT, where R is a gas constant given (in MKS system) by
R = 8.3143 + ¢, with |¢| < 0.12 x 1072, By taking P =V = n = 1, find a bound for the relative
error in computing the temperature 7.

15. Find the condition number for the following functions (a) f(z) = 2?2, (b) f(z) = 7%, (c) f(z) = b*.

16. Given a value of z4 = 2.5 with an error of 0.01. Estimate the resulting error in the function
f(x) =23

17. Compute and interpret (find whether the funtions are well or ill-conditioned) the condition number
for (i) f(z) =tanz, atx=2Z+0.1(%). (i) f(z) =tanz, atz =2 +40.01(%).

18. Let f(z) = (x—1)(x—2)--- (x—8). Estimate f(1+10~?) using mean-value theorem with z7 =1
and £4 =14+ 10~

Miscellaneous

19. Big-oh: If f(h) and g(h) are two functions of h, then we say that

F(B) = Og(h)), ash—0
if there is some constant C' such that
h
20 o
g(h)
for all h sufficiently small, or equivalently, if we can bound
[f(R)] < Clg(h)]

for all h sufficiently small. Intuitively, this means that f(h) decays to zero at least as fast as the

function g(h).

Little-oh: We say that

() = of i
=o(g(h)), ash—0 if D — 0, ash—0.
g

Note that this definition is stronger than the ”big-oh” statement and means that f(h) decays to

zero faster than g(h).

(a) If f(h) = o(g(h)), then show that f(h) = O(g(h)).

(b) Give an example to show that the converse is not true.

(c) What is meant by f(h) = o(1) and f(h) = O(1)?

(d) Give an example of f(h) and g(h) such that f(h) is much bigger than g(h), but still

f(h) =0(g(h)) as h — 0.

20. Assume that f(h) = p(h) + O(h™) and g(h) = q(h) + O(h™), for some positive integers n and m.

Find the order of approximation of their sum, ie., find the largest integer r such that

f(h) +g(h) = p(h) + q(h) + O(h").
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I. Direct Methods

1.

Given the linear system 2z; — 6axs = 3, 3ax; — x93 = %

(a) Find value(s) of « for which the system has no solution. (b) Find value(s) of « for which the
system has infinitely many solutions. (¢) Assuming a unique solution exists for a given «, find the
solution.

Use Gaussian elimination method (both with and without pivoting) to find the solution of the
following systems:

(1) 61‘1 + 2$2 + 2$3 = 72, 2$1 + 06667%2 + 033331‘3 = 1, xr1 + 2$2 — X3 = 0

Answer: x1 = 2.599928, zo = -3.799904, z3 = -4.999880, Number of Pivoting = 1.

(ii) 0.729x1 + 0.81x9 + 0.923 = 0.6867, x1 + 2 + 23 = 0.8338, 1.331x; + 1.21a0 + 1.123 =1
Answer: x; = 0.224545, x5 = 0.281364, z3 = 0.327891, Number of Pivoting = 2.

(111) T — T2 +31‘3 == 2, 3$1 - 31‘2 +£L‘3 == 71, xr1 + T = 3.

Answer: x; = 1.187500, z2 = 1.812500, x3 = 0.875000, Number of Pivoting = 2.

Solve the system 0.004x, +z2 =1, 21 + 22 = 2 (i) exactly, (ii) by Gaussian elimination using a
two digit rounding calculator, and (iii) interchanging the equations and then solving by Gaussian
elimination using a two digit rounding calculator.

Solve the following system by Gaussian elimination, first without row interchanges and then with
row interchanges, using four-digit rounding arithmetic:

x + 592y = 437, 592x 4 4308y = 2251.

Solve the system 0.5x1 — xo = —9.5, 1.02z7 — 2x5 = —18.8 using Gaussian elimination method.
Solve the same system with a;; modified slightly to 0.52 (instead of 0.5). In both the cases, use
rounding upto 5 digits after decimal point. Obtain the residual error in each case.

For an e with absolute value very much smaller than 1, solve the linear system
21+ a2 +x3 =06, 3x1+ (34 €)xa +4ws =20, 221 + 22 + 325 = 13

using Gaussian elimination method both with and without partial pivoting. Obtain the residual
error in each case on a computer for which the € is an unit round.

In the n x n system of linear equations
a11z1+"'+a1nzn:b1; Ty an1z1+"'+annxn:bn

let a;; = 0 whenever i —j > 2. Write out the general form of this system. Use Gaussian elimination
to solve it, taking advantage of the elements that are known to be zero. Do an operations count
in this case.

Obtain the LU factorization of the matrix

4 1 1
1 4 -2
3 2 —4

Use this factorization to solve the system with b = (4,4,6)7.

1 2
Show that the following matrix cannot be written in the LU factorization form: | 4 8 —1
3



II.

10.

Show that the matrix

W = N
N~ N

1
1
1

is invertible but has no LU factorization. Do a suitable interchange of rows and/or columns to
get an invertible matrix, which has LU factorization.

Errors and Matrix Norm

11.

12.

13.

14.

15.

16.
17.

18.

19.

20.

Use the Gaussian elimination method with rounding upto 5 digits after decimal point to solve the
system 0.52z; — x9 = —9.5, 1.02z; — 229 = —18.8. Use residual corrector algorithm to improve
the solution till the error vector becomes zero.

Solve the system x; + 1.001ze = 2.001, 21 + 22 = 2 (i) Compute the residual » = Ay — b for
y = (2,0)T. (ii) Compute the relative error of y with respect to the exact solution x of the above
system (use Euclidean norm in R? defined by ||z|| = /27 + 23).

For any n x n matrices A and B, and & € R", show that
i, Azl < [|A] 2]
ii. |AB] < | All|B]
where the matrix norm is the induced norm obtained from the corresponding vector norm.

Solve the system

5:61 + 7:62 = bl
Tr1 + 1029 = by
using Gaussian elimination method to obtain the solution @; when by = (by,b2) = (0.7,1). Also

solve the above system with by = (b1,b2) = (0.69,1.01) using the same method to obtain the
solution xs. Show that

1 — 2|2 _1y b —ball2
——— < Al2[[A o=
212 b7 |2

where A is the 2 x 2 coefficient matrix of the above system and the norm in the above inequality
is the Eucledian norm for vector and the corresponding induced norm for the matrix.

Show by an example that || - |[as defined by ||A||xm = 1£%§n|aij|7 does not define an induced
matrix norm.

Show that k(A) > 1 for any n x n non-singular matrix A.

For any two n X n non-singular matrices A and B, show that x(AB) < k(A)k(B).

0.1av 0.1
1.0 2.5
Use the maximum row norm.

Let A(a) = } . Determine « such that the condition number of A(«) is minimized.

Estimate the effect of a disturbance on the right hand side vector b by adding (€1, €2)” to b, where
le1], |e2| < 107*, when the system of equations is given by x1 + 222 = 5, 21 — 22 = 0 (use
maximum norm for vectors and maximum row norm for matrices).
Find a function C'(e) > 0 such that C(e) < k(A) using the maximum row norm, when

1 -1 1
A=|-1 € €

1 € €
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I. Tteration Method

1.

Find the n x n matrix B and the n-dimensional vector ¢ such that the Gauss-Seidal method can
be written in the form
2 D) = Ba® 1 ¢, k=12,

3 )

Show that the Gauss-Seidal method converges if the coefficient matrix is diagonally dominant.

Study the convergence of the Jacobi and the Gauss-Seidel method for the following systems by
starting with x¢ = (0,0,0)” and performing three iterations:

(i)5l‘1 4+ 229 + 23 = 0.12, 1.7521 + Tx2 4+ 0.523 = 0.1, x1 + 0.225 + 4.523 = 0.5.

(11)561 —2.1‘2+2.Z‘3 = 1, — X1+ 2 — X3 = 1, —2.1‘1 —2$2+ZE3 =1.

(111)%1 + 2o + 101‘3 = 71, 2$1 + 3$2 + 5$3 == 76, 31‘1 + 21‘2 - 31‘3 =4.

Check the convergence by obtaining the maximum norm of the residual vector.

Use Jacobi method to perform 3 iterations with z(?) = (0,0,0) to get ) 22 and @ for the
system

—x1 +bxy — 223 =3, x1+x9 —4ax3=-9, 41 — 29+ 223 =28

Compute the maximum norm of the residual error r1, ro and 73 in ), (® and 2, respectively,
obtained above. (Observe that the maximum norm of the residual errors increase. Infact, the
Jacobi iterative sequence diverges in this case). Interchange the rows suitably in the above system
so that the Jacobi iterative sequence converges. Justify your answer without calculating the Jacobi
iterations.

Study the convergence of the Jacobi and the Gauss-Seidel method for the following system by
starting with zo = (0,0,0)” and performing 20 iterations (using computer):

T+ 05:62 + 051‘3 = 1, 05%1 + 1:62 + 05:63 = 8, 05:61 + 05:62 + x3 = 1.

Check the convergence by obtaining the maximum norm of the residual vector.

For an iterative method &(*) = Bx(*~1) 4 ¢ with an appropriate choice of g, show that the error

e®) has the estimate

1B+
le®]| < lell-
1-|B|

Use this estimate to find the number of iterations needed to compute the solution of the system

10z1 — 29 + 223 — 324 =0, x1 + 1022 — 23 + 224 = 5,
2x9 4+ 3x2 4+ 2023 — x4 = —10, 321 + 229 + 23 + 2024 = 15

using Jacobi method with absolute error within 10~* and 2(*) = ¢ (use maximum norm for vectors
and maximum row norm for matrices). Hint: In class, we have proved ||e®) || < || B||*||e®|. But

[e©] = |l& — 2@ < ||z® — 2O + || B||lx — (?|. In this inequality, solve for ||z — z(?)|| and
BlIF
substitute on the RHS of the first inequality to get ||e®)| < 1|7|HB”|QE(1) — 29||. Finally, take

(9 = ¢ to get the desired result.
Let @ be the solution of the system Ax = b. Show that the following statements are equivalent:
i. the iterative method
e* ) = Be® L e k=12,
is convergent (ie., for any 2 we have z*) — x as k — oo.
ii. the spectral radius r,(B) < 1.

iii. there exists a induced matrix norm || - || such that || B]| < 1.



Hint: Show that (i)=(ii)=(iii)=(i). To prove (i)=(ii), first show that B*y — 0 as k — oo,
for an arbitrary vector y. Then replace this arbitrary vector by an eigen vector of B. In proving
(ii)=-(iii), use the following result (which you don’t need to prove): Let A be a given n X n matriz
and let € > 0. Then there exists an induced matriz norm || - || such that ||A]| < r,(A) + €.

II. Eigenvalue Problem

8.

10.

11.

12.

Let A be an non-singular n x n matrix with the condition that the eigenvalues \; of A satisfy
A1l > o] = |As] = - = A

and has n linearly independent eigenvectors, v;, i = 1,--- ,n. Let the vector (®) € R” is such
that

x© = chvj, c1 # 0.
=1
Then find a constant C' > 0 such that

k

?

A2
AL — <C|=
-l < 0

where py is as defined in the power method and £k =1,2,--- .

The matrix
0.7825 0.8154 —0.1897
A= |-0.3676 2.2462 —0.0573
—0.1838 0.1231 1.9714

has eigenvalues A\; = 2, A = 2 and A3 = 1. Does the power method converge for the above matrix?
Justify your answer. Perform 5 iterations starting from the initial guess (®) = (1,3, 6) to verify
your answer.

The matrix

A:

wW NN
o = O
= o O

has eigenvalues \;y = 2, A = 1 and A3 = 1 and the corresponding eigen vectors may be taken as
v1 = (1,2,3)T, vy = (0,1,2)T and v3 = (0,2,1)T. Perform 3 iterations to find the eigenvalue and
the corresponding eigen vector to which the power method converge when we start the iteration
with the initial guess (®) = (0,0.5,0.75)7. Without performing the iteration, find the eigenvalue
and the corresponding eigen vector to which the power method converge when we start the
iteration with the initial guess (®) = (0.001,0.5,0.75)7. Justify your answer.
The matrix
5.4 0 0
A= |-113.0233 —0.5388 —0.6461
—46.0567 —6.4358 —0.9612

has eigenvalues Ay = 5.4, A = 1.3 and A\3 = —2.8 with corresponding eigen vectors vy =
0.2,-4.1,2.7)7T, vy = (0,1.3,-3.7)T and vz = (0,2.6,9.1)T. To which eigenvalue and the
corresponding eigen vector does the power method converge if we start with the initial guess
() = (0,1,1)? Justify your answer.

Use Gerschgorin’s theorem to the following matrix and determine the intervals in which the
eigenvalues lie.
0.5 0 0.2
A= 0 3.15 -1
0.57 0 —7.43

Can power method be used for this matrix? Justify your answer. Use Power method to compute
the eigenvalue which is largest in the absolute value and the corresponding eigenvector each of
the above matrix.
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A lab assignment based on this program may be given at the end of this semester.

1. Write a computer program (in any programming language that you know) to compute an eigen-
value and the corresponding eigen vector of a given n x n matrix A.

Use your program for the following matrices. In each case plot a graph with x axis as the number
of iterations and y axis as the eigenvalue obtained in that iteration.

1.2357
0.5029
0.78

i. A=

—0.5714
—0.0557

—1.56

0.0024

0.88

—0.0638 | , 2 = (1,1, )7,

Perform 110 iteration.(Eigen values are 0.1, 0.95, 1.01 and the corresponding eigenvectors
may be taken as (1,2,3)7, (2,1,0)T and (5,2,6)7.)

[0.5029 0.0051 —0.0130
ii. A={0.8663 2.0160 —3.8984 |,z =(1,1,1)T.
0.5775 1.0107 — 2.0989

Perform 50 iteration.(Eigen values are -0.58, 0.5, 0.5 and the corresponding eigenvectors may
be taken as (1,0.2,0.3)T, (0.1,0.2,0.1)T and (0.001,0.3,0.2)T.)

[ —0.5088
—2.0425
—1.3588

iii. A=

—0.0025
0.3050
0.5375

0.0038]
0.4125
—0.2263

2 = (1,1,1)T.

Perform 70 iteration.(Eigen values are -0.5, -0.51, 0.58 and the corresponding eigenvectors
may be taken as (1,1,3)7, (1,2,1)T and (0,3,2)7.)

[—0.5080
—1.8358
—1.2212

iv. A=

—0.0040
0.0986
0.4004

0.0060 |
0.6186

—0.0896 |

20 =(1,1,1)7T.

Perform as many iterations as you wish.(Eigen values are -0.5, -0.51, 0.511 and the corre-
sponding eigenvectors may be taken as (1,1,2)7, (1,2,1)7 and (0,3,2)7.)
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Nonlinear Equations

I. Fixed-Point Iteration Method

1.

For each of the following equations, find the correct iteration function that converges to the desired
solution:

(a) v —tanz =0, (b) e™® — cosx = 0.

Study geometrically how the iterations behave with different iteration functions.

. Show that g(z) = 7 + 1sin(2/2) has a unique fixed point on [0, 27]. Use fixed-point iteration

method with ¢ as the iteration function and zyg = 0 to find an approximate solution for the
equaton %sin(w/Q) —x + 7 = 0. Stop the iteration when the residual error is less than 1074,

If o and B be the roots of x? + ax + b = 0. If the iterations

ar, +b b
and x4 = —
Tn Tn +a

Tn4+1 = —

converges, then show that they converge to o and 3, respectively, if |a| > |3].

Let {x,} C [a,b] be a sequence generated by a fixed point iteration method with continuous
iteration function g(x). If this sequence converges to z*, then show that

|Tpt1 — 2] < A |Tpny1 — T,
1—A

where \ := m[axb]|g'(ac)|. (This enables us to use |z,4+1 — 2| to decide when to stop iterating.)
xre|a,

Give reason for why the sequence z,+1 = 1 — 0.922, with initial guess 2o = 0, does not converge

to any solution of the quadratic equation 0.922 + x — 1 = 0? [Hint: Observe what happens after

25 iterations]

Let 2* be the smallest positive root of the equation 2022 — 2022 — 252 + 4 = 0. If the fixed-point
iteration method is used in solving this equation with the iteration function g(z) = 2® —2?— £ + %
for all z € [0,1] and 29 = 0, then find the number of iterations n required in such a way that
|z* — 2, < 1073,

II. Bisection Method

7.

Find the number of iterations to be performed in the bisection method to obtain a root of the
equation

20° =52t +2=0
in the interval [0, 1] with absolute error ¢ < 1073, Find the approximation solution.

Find the approximate solution of the equation zsinx —1 = 0 (sine is calculated in radians) in the
interval [0, 2] using Bisection method. Obtain the number of iterations to be performed to obtain
a solution whose absolute error is less than 1073,

Find the root of the equation 10” + z — 4 = 0 correct to four significant digits by the bisection
method.

ITII. Secant and Newton-Raphson Method

10.

Let z* be the point of intersection of the circle
(z+1)*+(y—2)° =16

and the positive z-axis. Choose a value ¢ with 0.5 < ¢ < 3, such that the iterative sequence
generated by the secant method (with circle function values taken in the fourth quadrant) fails
to converge to z* when started with the initial guess xop = 0.5 and z; = £. Explain geometrically
why secant method failed to converge with your choice of the initial guess (zq, 21).



11.

12.

13.

14.

15.

16.

17.

18.

Given the following equations:

(a) 2 —2—-10=0, (b)z—e*=0.

Determine the initial approximations for finding the smallest positive root. Use these to find the
roots upto a desired accuracy with secant and Newton-Raphson methods.

Find the iterative method based on Newton-Raphson method for finding v/N and N'/3, where
N is a positive real number. Apply the methods to N = 18 to obtain the results correct to two
significan digits.

Find the iterative method based on the Newton-Raphson method for approximating the root of
the equation sinz = 0 in the interval (—m/2,7/2).

Let o € (—7m/2,7/2) and « # 0 be such that if the above iterative process is started with the ini-
tial guess xg = «, then the iteration becomes a cycle in the sense that x,, 12 = x,, forn =0,1,---.
Find a non-linear equation g(z) = 0 whose solution is a.

Starting with the initial guess x¢ = «, write the first five iterations using Newton-Raphson method
for the equation sinz = 0.

Starting with the initial guess xg = 1, perform five iterations using Newton-Raphson method for
the equation g(z) = 0 to find an approximate value of «.

Let {x,}22, be the iterative sequence generated by the Newton-Raphson method in finding the
root of the equation e~ = z, where a in the range 0 < a < 1. If ¥ denoted the exact root of
this equation and xy > 0, then show that

1
|z* — zpga| < 5(90* — )2

Consider the equation xsinz — 1 = 0. Choose an initial guess x¢p > 1 such that the Newton-
Raphson method converges to the solution z* of this equation such that —10 < z* < —9. Compute
four iterations and give an approximate value of this z*. For the same equation, choose another
initial guess xp > 1 such that the Newton-Raphson method converges to the smallest positive root
of this equation. Compute four iterations and give an approximate value of this smallest positive
root.

Give an initial guess xg for which the Newton-Raphson method fails to obtain the real root for

the equation %x3 — 22 + 2+ 1 = 0. Give reason for why it failed.

Can Newton-Raphson method be used to solve f(z) = 0 if
(i) f(x) = 2% — 14z + 507

(i) f(x) = /57

(i) f(z) = (x — 3)1/? with 2o = 47

Give reasons.

Consider the distribution function for the random variable X given by
Fl)=1—¢ @02, 0<z<l.

Use Newton-Raphson method to find a value of 0 < z < 1 such that P(X > x) = siny, where
y = 2%. Here P denotes the probability. (Note: A distribution function F of a random variable X
is defined for any real number x as F(x) = P(X < x). Therefore, the required value of x is pre-
cisely a solution of the nonlinear equation obtained using the fact that P(X > z) = 1-P(X < z).)

IV. System of Nonlinear Equations

19.

20.

Using Newton’s method to obtain a root for the following nonlinear systems:
(i) 23 + 22 — 221 — 229+ 1=0, 21 + 29 — 22175 = 0.
(ii) 422 + 23 —4 =0, 21 + a9 —sin(z; — 22) = 0.

Use Newton’s method to find the minimum value of the function f(x) = 2] + z122 + (1 + 22)2.
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I. Lagrange Interpolation

1.
2.

Obtain Lagrange interpolation formula for equally spaced nodes.

Using Lagrange interpolation formula, express the rational function f(x) = i 30’ totl as a

z—1)(x—2)(z—3)
sum of partial fractions.

Construct the Lagrange interpolation polynomial for the function f(x) = sinma, choosing the
points xg = 0, 1 = 1/6, x3 = 1/2. Answer: 7/2x — 32?2
Find a cubic polynomial using Lagrange’s formula for the data: [ 21 3|

POy & Lastang @] 3[]19]

Answer: p3(z) = 2% — 3z + 1

Use Lagrange interpolation formula to find a quadratic polynomial ps(z) that interpolates the
function f(z) = e™® at xgp = —1, #; = 0 and 5 = 1. Further, find the value of py(—0.9) with
rounding to six decimal places after decimal point and compare the value with the true value
f(—0.9) of same figure. Find the percentage error in this calculation.

Answer: py(r) = 1 — 0.63212122, Error ~ 9.69%

Given a table of values of the function f(x)

T 321.0] 322.8| 324.2| 325.0
f(x)]2.50651(2.50893|2.51081|2.51188
Compute the value f(323.5). Answer: 2.50987
Let p(z) be a polynomial of degree < n. For n + 1 distinct nodes x, k = 0,1,--- ,n, show that

we can write p(x) = Zp(zk)lk(x)
k=0

n

The functions l(x) = H
i=0,i£k

xr — Ty

,k=20,---,n are the weight polynomials of the corresponding
T — T4

nodes and are often called Lagrange multipliers. Prove that for any n > 1, Zlk(t) = 1.
k=0

[Hint: Use problem 7 with an appropriate polynomial p)

Let x € [a.b], k = 0,1,--- ,n be n 4+ 1 distinct nodes and let f(x) be a continuous function

on [a,b]. Show that for x # xy, k = 0,1,--- ,n, the Lagrange interpolating polynomial can be

represented in the form

- f (@)

pn(z) = w(z —_

(@) = i)y =L T

k=0

where w(x) = (x — xo)(x — x1) - - - (x — ). Verify the interpolation condition.

II. Newton Interpolation and Divided Difference

10.

11.

For the function data given in the table below, fit a polynomial using Newton interpolation formula
and find the value of f(2.5).

x | -3[-1 o] 3] 5
F(2)]-30[-22]-12[330[3458

Answer: py(x) = bzt + 923 — 2722 — 212 — 12, py(2.5) = 102.6875.
Calculate the nth divided difference of f(x) =1/x Answer: (—1)"/(zoxy1 - xp)




I11.

12.

13.

Let xg, x1, -+, o, be n+ 1 distinct nodes in the closed interval [a,b] and let f(z) be n+ 1 times
continuously differentiable function on [a, b]. Then,

i. show that the divided differences are symmetric functions of their arguments, that is, for an

arbitrary permutation 7 of the indices 0,1, - ,4, we have f[zo, -, 2] = f[Tr0, " , Tril-
ii. show that flzo, 21, - ,xi—1,2] = flxo, 21, - ,@i—1, 2]+ flro, 21, -, 24, x| (x — 2;), for each
t=1,---,n and for all z € [a, b].
d
iii. show d—f[xo, sz, 2] = flro, @1, T, 7]
T
Let f(x) be a real-valued function defined on I = [a,b] and k times differentiable in (a,b). If
xo, T1, -+, T are k + 1 distinct points in [a, b], then show that there exists £ € (a,b) such that
(k)
flwo, -+ 6] = fk_l(f)

Error in Interpolating Polynomials

14.

15.

16.

17.

18.

19.

Let xg, 1, -+ -, , be n+ 1 distinct nodes where instead of the function values f(z;), the corre-
sponding approximate values f (z;) rounded to 5 decimal digits after decimal point. If the Lagrange
interpolation polynomial obtained from the approximate values f(z;) is fn(z), then show that
the error at a fixed point Z satisfies the inequality

pa@) ()] < 5107 4@,
k=0

where p, (Z) is the Lagrange interpolated polynomial for exact values f(z;) (¢ =0,1,--- ,n).

Let p1(z) be the linear Newton interpolation polynomial for data (6000, 0.33333) and (6001,
—0.66667). If the calculation is performed with 5 decimal digit rounding, then show that the
process of evaluating pi(x) in the form py(z) = f(xo) + Afo(xr — z0) at 2 = 6000 and = = 6001
involves less error than evaluating the same linear polynomial in the form py (x) = Afoz+ (f(x0) —
Afoxo) =: mx 4 a at these points. Find the percentage error in each case.

Let xg, 21, -+ ,z, be distinct real numbers, and let f be a given real-valued function with n + 1
continuous derivatives on an interval I = [a,b]. Let t € I be such that t # z; for i = 0,--- ,n.
Then show that there exists an & € (a, b) such that

(t—a0) - (t — )

en(t) = 1(0) = > _f(an)lu(t) = =y "0,
k=0 ’
where [ (t) = ﬁ b= @i k=0, ,n.
. LTk — T4

Given the square of the integers NV and N + 1, what is the largest error that occurs if linear
interpolation is used to approximate f(x) = 22 for N <2 < N + 17 Answer: 0.25

The following table gives the data for f(z) = sinz /2%

z 0.1] 02] 03] 04] 05
f()]9.9833]4.9667]3.28362.4339]1.9177|

Calculate f(0.25) as accurately as the number of figures shown in the table

(a) by using the data in the table and using Newton’s interpolation formula

(b) by first tabulating « f () with rounding the same number of figures as in the table and then
using Newton’s interpolation formula.

(¢) Find the error in each case and explain the difference between the results in (a) and (b).
Answer: (a) 3.8647 (b) 3.9585 (c) 0.0469 for (a) and 0.000005625 for (b) (you may perform this

calculation with more accurace)

Determine the spacing h in a table of equally spaced values of the function f(x) = \/x between
1 and 2, so that interpolation with a second-degree polynomial in this table will yield a desired
accuracy.

IV. Cubic Spline Interpolation

20. Obtain the cubic spline approximation for the function given in the tabular form :c

33|244

—
E
—
DO
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Numerical Differentiation and Integration

I. Numerical Differentiation

1.

10.

Find the value of the derivative of the function f(z) = sinz at @ = 1 using the three primitive
difference formulae with (i) A = 0.015625 and (ii) A = 0.000015. Perform the calculation with 6
digit rounding at each process.

Obtain the central difference formula for f’(z) using quadratic polynomial approximation.

Use the forward, central and backward difference formulas to determine f'(zo), f'(z1) and f'(z2)
respectively for the following tabulated values:

() |2 0.5] 06 0.7|(b)$ 0.0 02] 04]
f()]0.4794]0.5646]0.6442] * | f(2)]0.0]0.7414[1.3718|

The corresponding functions are (a) f(z) = sinz and (b) f(z) = e® — 22? + 3z + 1. Com-
pute the error bounds.

Given the values of the function f(z) =loga at zo = 2.0, z1 = 2.2 and x2 = 2.6, find the approx-
imate value of f/(2.0) using the methods based on linear and quadratic interpolation. Obtain the
error bounds.

Estimate the rounding error behavior of the three primitive numerical differentiation formulae.

Find an approximation to the derivative of f(x) evaluated at x, x4+ h and x + 2h with truncation
error of O(h?).

Use the method of undetermined coefficients to find a formula for numerical differentiation of
f"(x) evaluated at points

(a) 4+ 2h, x + h and z, (b)  + 3h, v+ 2h v + h and z

with truncation error as small as possible.

Show that the formula
f(@) —2f(x—h) + f(z —2h)
h2

gives approximate value for f”(z). Find the order of accuracy of this formula.

D® () =

For the method

_ _ 2
oy = HEER A =) 1 ey

determine the optimal value of h for which the total error (which is the sum of the truncation
error and the rounding error) is minimum.

In computing f’(z) using central difference formula find the value of A which minimizes the bound
of the total error.



II. Numerical Integration

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Apply Rectangle, Trapezoidal, Simpson and Gaussian methods to evaluate
/2
(a) I = / Lﬂdw (exact value = 0.623225)
o l+cos*zx

T d
(b) I :/ ﬁ (exact value &~ 1.047198)
0 X

1
(c) I :/ e~ dx (exact value ~ 0.746824),
0

(d) I = / sin®z cos?  dx (exact value ~ 0.114286)
0
(e) I = [ (1+ e "sin(4x))dz. (exact value ~ 1.308250)

Write down the errors in the approximation of

1 1
/ 2*dx and / 22dx
0 0

by the Trapezoidal rule and Simpson’s rule. Hence find the value of the constant C' for which the
Trapezoidal rule gives the exact result for the calculation of fol (25 — Ca*)dz.

Estimate the effect of data inaccuracy on results computed by Trapezoidal and Simpson’s rule.

Under what condition does the composite Trapezoidal and composite Simpson rules be conver-
gent? Give reason.

Use composite Simpson and composite Trapezoidal rules to obtain an approximate value for the

improper integral
< 1
1 22 +9

Obtain error formula for the composite trapezoidal and composite Simpson rules.

Find the number of subintervals and the step size h so that the error for the composite trapezoidal
rule is less than 5 x 1079 for approximating the integral f; dx/z.

Determine the coefficients in the quadrature formula
2h
/ 272 f(w)da = (20)"/(wo f(0) + wr f (k) + wa f(2h)).
0

Use the two-poind Gaussian quadrature rule to approximate

/1 dx
1 x+2

and compare the result with the trapezoidal and Simpson rules.

Assume that xx = o + kh are equally spaced nodes. The quadrature formula
s 3h
Fladde = = (f (o) + 3 (@) + 3/ (w2) + f(3))
o

is called the Simpson’s % rule. Determine the degree of precision of Simpson’s % rule.
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10.

Numerical Ordinary Differential Equations

. Consider the initial value problem y(z) = f(x,y), y(xo) = yo, with

of(a,y) _ 0

oy
for all x9 < z < x,, and y. Show that there exist a h > 0 such that

len| < nYh? + leol,

1 "
7, max [y ().

where e,, = y(z,,) — yn with y,, obtained using Euler method and Y =

. The solution of

y'(z) = My(z) + cosx — Asinz, y(0) =0
is y(z) = sinz. Find the approximate value of y(3) using Euler method with h = 0.5 and A = —20.

Obtain the error bound using the formula in problem 1 and compare it with the actual error. Give
reason for why the actual error exceeds the error bound in this case.

Write the Euler method for finding the approximate value of y(x,,) for some x,, < 0, where y satisfies
the initial value problem y(z) = f(z,y), y(0) = yo.
Consider the initial value problem y' = a2y, y(0) = 1. Estimate the error at 2 = 1 when Euler method
is used with infinite precision, to find the approximate solution to this problem with step size h = 0.01.
Find the upper bound for the propagated error in Euler method (with infinite precision) with h = 0.1
for solving the initial value problem 3’ =y, y(0) =1, in the interval (i) [0,1] and (ii) [0,5].
Write down the Euler method for the solution of the initial value problem ¢y’ =y, %(0) =1 on some
interval [0, 1] with step size h = 1/n. Denoting by y,, (2) the resulting approximation to y(x), z € [0, 1],
show using limiting argument (without using the error bound) that y, (1) — y(1) as n — cc.
Consider the initial value problem vy’ = —2y, 0 <z <1, y(0) = 1;

i. Find an upper bound on the error in Euler method at z = 1 in terms of the step size h.

ii. Solve the difference equation which results from Euler’s method.

ili. Compare the bound obtained from (i) with the actual error as obtained from (ii) at « = 1 for
h =0.1 and h = 0.01.

iv. How small a step size h would have to be taken to produce six significant digits of accuracy at
x = 1, using Euler’s method?

In each of the following initial value problems, use Euler method, Runge-Kutta method of order 2
and 4 to find the solution at the specified point with specified step size h:

iy =x+y; y(0)=1.Find y(0.2) (For Euler method take h = 0.1 and for other methods, take
h = 0.2) Exact Solution: y(z) = =1 — « + 2e”.

ii. y = 2cosz —y, y(0) = 1. Find y(0.6) (For Euler method take h = 0.1 and for other methods,
take h = 0.2) Exact Solution: y(z) = sinx 4 cos .

Use Euler, Range-Kutta of order 2 and 4 methods to solve the IVP ¢’ = 0.5(x — y) for all = € [0, 3]
with initial condition y(0) = 1. Compare the solutions for h = 1,0.5,0.25,0.125 along with the exact
solution y(z) = 3e=*/2 4 2 — 2.

Show that the Euler and Runge-Kutta methods fails to determine an approximation to the non-
trivial solution of the initial-value problem ¢y’ = y*, a < 1, y(0) = 0, although the exact (non-trivial)
solution exists.
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Max. Marks: 10 ° Time: 5:00 to 6:00 PM ° Date: 31/08/2010

Instructions:

1.

Write your Name and Roll Number clearly on your answer book as well as every supplement you may
use.

Number the pages of your answer book and make a question-page index on the front page.

3. The answer to each question should start on a new page. If the answer for a question is split into two

parts and written in two different places, the first part alone will be corrected.

Students are not allowed to have mobile phones with them during exam hours.

5. Only scientific calculators are allowed. Any kind of programming device is not allowed.

6. Formulas used in the solution need not be proved but needs to be stated clearly. Partial marks

may be awarded for the statement.

The question paper contains 5 questions each carries 2 marks. Answer all the questions.

. Is the process of computing the function f(z) =

2
. Show that the matrix |1
3

. Let f be a continuous function on the closed interval [0, 1]. Show that there exists a

¢ €10, 1] such that
£(0.5) = 2f(£) = f(0.9).

Instead of using the true values xr = 0.71456371 and yr = 0.71456238 in calculating
2 = xp — yr(= 0.133 x 1079), if we use the approximate values z4 = 0.71456414
and y4 = 0.71456103, and calculate z4 = x4 — ya(= 0.311 x 107°), then find the loss
of significant digits in the process of calculating z4 when compared to the significant
digits in x 4.

stable or unstable as z — 07

Justify your answer.

cannot be made LU factorization as per Doolittle’s

DN — DO
— =

method. Do a suitable row interchange to the given matrix in such a way that the
resulting new matrix has LU factorization as per the same method.

. Let the system Ax; = by has a unique solution x; where

1 2
A:{g J, b, = (1,0.5)7,

for a given 0 < € < 12. Let x5 be the unique solution to the perturbed system Axy = by
with by = (1.005,0.51)7. Find a value of € such that the relative error

|21 — x>0

<107,
|21

where || - || denotes the maximum norm.
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Mid-Semester Examination (Autumn 2010 - 2011)
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Max. Marks: 30 ° Time: 9:30 to 11:30 PM ° Date: 13/09/2010
Instructions:
1. Write your Name and Roll Number clearly on your answer book as well as every supplement you may

use.

2. Number the pages of your answer book and make a question-page index on the front page.

The answer to each question should start on a new page. If the answer for a question is split into two

parts and written in two different places, the first part alone will be corrected.

Students are not allowed to have mobile phones with them during exam hours.

5. Only scientific calculators are allowed. Any kind of programming device is not allowed.

Formulas used in the solution need not be proved but needs to be stated clearly. Partial marks

may be awarded for the statement.

The question paper contains 5 questions each carries 6 marks. Answer all the questions.

()
(i

(i)

(i)

State Gerschgorin’s theorem.

Use Gerschgorin’s theorem to the following matrix and determine the intervals in
which the eigenvalues lie.

0.5 0 0.2
A= 0 3.15 -1
0.57 0 —7.43

Can power method be used for the matrix A? Justify your answer.

Use Power method to compute approximately, the eigenvalue which is largest in
the absolute value and the corresponding eigenvector of the matrix A. Start with
the vector (© = (1,1,1)” and perform two iterations and obtain the approximate
value of the eigen value and the corresponding eigenvector.

Let * be the exact solution of the 2 x 2 system Ax = b for a given b and a given
non-singular matrix A. If £, = (0.72,—0.02)7 be an approximation to x* when
|6 < 0.5 and ||A||cc < 6, then find the value of K > 0 such that ||7|, < K,
where 7 is the corresponding residual vector. (Hint: Use the triangular inequality
that can be stated as: when p and q are any two vectors of same dimension, then
for any given vector norm || - ||, we have ||[p — q|| < ||p| + ||q]|-)

In the above problem 2(i), if

05 —14
A:[m 3.6]

and the residual error satisfies ||7||o > 0.2 for &4 as in the problem 2(i), then find
the value of L > 0 such that ||e||o, > L, where e = &* — x4 is the error vector.

In the above two subsections 2(i) and 2(ii), find the value of U such that ||e||.. < U,
where e = x* — @4 is the error vector.



3. (i)
(i)

(i)

4. (i)
(ii)

5. (1)
(ii)

(iii)

Define Gauss-Seidal method for solving the linear system Ax = b, where A is a
3 X 3 matrix.

For the matrix
3 -1 1
A= |2 6 3
1 3 7

and the vector b = (1, 1, 1)T perform 3 Gauss-Seidal iterations with z® = (0,0, 0)T.

Let « be the exact solution of the system Ax = b where A is the matrix as given in
3(ii) and b is any given vector. Let **1 be the approximate solution of the same
system obtained at the (k + 1)-th iteration using the Gauss-Seidal method for any
initial guess 2®. Find the value of the constant 7 > 0 such that

(k+1) H

le® oo < nlle® ],

where e*t1) = £ — 2*+1 is the error vector.

For the matrix A as given in 3(ii), does the iterative sequence generated by the
Gauss-Seidal method converge to the solution of the system Ax = b for any given
vector b and any initial guess 2(®? Justify your answer.

For the matrix A as given in 3(ii), any given vector b and any initial guess x(?),
which of the two iterative methods, Gauss-Seidal and Jacobi, converge faster than

the other? Justify your answer.

Define the number of significant digits in a real number x4 when compared to
another real number zp.

The numbers py = 0.5462 and g4 = 0.5460 are obtained from p and ¢ by rounding
to 4 digits respectively. If the number z4 = p4 — g4 has only one significant digit
with respect to z = p—q when ¢ = 0.54604 and p—p4 < 0, then find the value of p.

State the Taylor’s formula with the remainder in the integral form.

Show that the remainder R, ;(z) in the Taylor’s expansion of a n+ 1 continuously
differentiable function f can be written as

_ @@=
Rn—f—l(x) (n+1)! f (5)7

where ¢ lies between x and c.

Use Taylor’s formula to find a cubic polynomial that is approximately equal to the
function f(z) = sinz in a small neighborhood of # = 0. Find the truncation error
in this approximation.
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Max. Marks: 10 o Time: 6:30 to 7:30 PM o Date: 30/10/2010

Instructions:

1. Write your Name and Roll Number clearly on your answer book as well as every
supplement you may use.

2. Number the pages of your answer book and make a question-page index on the front
page.

3. The answer to each question should start on a new page. If the answer for a question
is split into two parts and written in two different places, the first part alone will be
corrected.

4. Students are not allowed to have mobile phones with them during exam hours.

5. Only scientific calculators are allowed. Any kind of programming device is not allowed.

6. Formulas used in the solution need not be proved but needs to be stated clearly.

Partial marks may be awarded for the statement.

7. The question paper contains 5 questions each carries 2 marks.
Answer all the questions.

1. Which of the following two iterative functions give a fixed-point iteration method that
converges to an isolated root of the equation # — /a3 — 1 = 0 in the interval (1, 2):
() g1(2) = v = 1,

(ii) g2() = (2* + 1)"/°.

Justify your answer.

(Hint: ¢/ (z) = 0 has unique solution x = 1.58 in the interval (1,2) and ¢4 (x) = 0 has
unique solution = ~ 1.73 in the interval (1,2).)

2. Find the iterative method based on Newton-Raphson method for finding the value of
2% for any given real number a. Apply the method to a = 1.5 and perform one iteration
with zg = 2.

3. Find the iterative method based on the Newton’s method to find the point & = (1, x2)
at which a local maximum or a local minimum of the function

f(x) = 22 + zysin(x;) + €™
is obtained.

4. For the given real numbers zy, 21 and x5, define the divided difference f|xg, 21, x5] of
a real valued function f(x). Find the value of f[1,0.5,1] when f(z) = sin(x).

5. Obtain the linear interpolating polynomial p;(z) for all x € [0, 1] of the function

f(z) = sin(z) with nodes zo = 0 and z; = 1. Find the constant K > 0 such that the
infinite norm of the error e; in this interpolation satisfies ||e;||oo,j0,1) < K.



